PISCO

PNEUMATIC

PRODUCT CATALOG

2D /3D

Download

N\







| CONTENT

"""" PIVIOO
SOLENOIDVALVE f PIVSS 4.
| """" PTVIB 8 .
"""" POOA o 1L
"""" PCQ T
"""" L
"""" PCFB . 36
"""" PCMB 39
"""" PO A5
"""" PCGS/PCGB 50
ARGTHIDER oA 60
"""" PSS e B3
"""" . -
"""" POKC o 84
"""" PCRQ o 88
"""" PCD M4
"""" S |
vawve | PR 105
"""" PAFO2 e 106
"""" PAFIOT o7
"""" PARIZ e 108
"""" PARAY. 109
"""" PAFRBO2 0
"""" PAFRIDN e AT
AIR TREATMENTUNIT B PACT302112 .......
PACT401 e 113
"""" PACPIO2 i 1T
"""" PACPA: 5
"""" PAROO 116
"""" PARZOD e 118

........ T 1%



PTV-100 Series

SOLENOID VALVE

Caution

e Don't continuously energize for over 2 hours.
e The total energizing time of a day is not allowed to exceed the
total non-energizing time even if it is intermittent energizing.

Order example of valve

PTV

BODY
WIDTH

MODEL

’_T

4: 4 way
(5 port)

— 100M — 4E2C — AC110—LJ1 —LP

Blank: Body ported type
M: Manifold type

E1: Single Solenoid
E2: Double Solenoid

Order example of manifold

PTV —100M —5B3 —-LP—-G

e

MANIFOLD

NUMBER

MODEL [Bjank: Body

ported type &

5 port

1~22

Specification
| |
Bore No. M5
Port size M5x0.8
No. of port 5
No. of position 2 3
Medium Air
Operating perssure range 0.2~0.7 MPa
Operating perssure (LP) 0.0~0.7 MPa
Pilot pressure range (LP) 0.25~0.7 MPa
Proof pressure 1 MPa
Effective B0dy ported 4.5 mm?
orifice  Manifold 4.5 mm’ 45/5/4.5mm’
Reponse time 15 ms
Ambient temperature +5~+50°C
Max. operating frequency 5Hz
Voltage AC110V, 220V (50/60)Hz, DC24/12/6V
Power consumption AC=1.6/2.5VA, DC6=1.2W, DC12/24=0.55W
Available voltage range +10%
Insulation class B class
Weight 30g 44 g 599
—I_ _|_ -
| |
VOLTAGE ELECTRIC CONNECTION WIRE _
AC220V(50/60)Hz [ Ly: Plug on side | LR: Plug on side LENGTH LP:External pilot (*3)
AC11g\(/:(252\//60)HZ *1) Blank: 500mm (Only for manifold type)
DC12V 1: 1000mm
DC6V 2: 2000mm
3: 3000mm

C: Closed center

P: Pressure center
R: Exhaust center

(Only for 4E2 type)

SR: Plug on Top

D T *
g

LP: External pilot (*3)
(Only for manifold type)

Order example of wire

* Use the same wire with PVDY.

PVDY — 100 — WA2J2

=Rh

MODEL

VOLTAGE

—I_’_TT

M: Manifold type | 5M

5 port

1~20
1~16 (LP)

A2: AC220V/(50/60)Hz
A1: AC110V(50/60)Hz
D: DC24V/12V/6V

*1. Plug with flying leads JPC type.
*2. Plug with flying leads RMH type.

*3. LP type valve needs to match LP type manifold.

*Starting from 11 stations, manifolds are made to order.

PORT THREAD
Blank: Rc thread
G: G thread

NPT: NPT thread

WIRE WIRE

J: JPC type LENGTH
Blank: 500mm
1: 1000mm
2:2000mm

R: RMH type 3: 3000mm

PISCO



PTV-100 Dimensions

SOLENOID VALVE

PTV-100-4E1

11.6

PTV-100-4E2

B A
2 4

26

11.6

26

PISCO

315 315
R2PR1 R2PR1
31
9.8 21.4 5-M5x0.8 ‘ 214 5-M5x0.8
of v 4 NN =l of o o of 5 PN o T = -0.[ °
®] ’\J‘ A \P’ I N~y & | © f—tj\ V@ |\$’ Ny«
15 " \2-22 thru & 11 \2-@2 thru
70 (71.4) 99 (101.8)
. _
3 il ﬁl /ﬂI
4 © | ©
] S % &
i ( u| Q EG_ (n u|
16 9 \2-M3x0.5x5 depth 9 2-M3x0.5%5 depth
N
N YN A F T AL D o & A
= Ut 1Y T Y Ut
1 | 95|95 95 | 95
PTV-100-4E2C.PR
Flow features
PTV-100-4E2C PTV-100-4E2P PTV-100-4E2R
B A B A B A PTV-100-4E1/4E2
2 4 2 4 24 0.8
AL M AN M Mo £ o7 |
. Primary pressure—]
315 315 315 i 0.6 _—
R2PR1 R2PR1 R2PR1 2 —— 0.7 MPa
@ 0.5 — = U.b\
31 £ 04 AN \
‘ 214 5-M5%0.8 2 03 T~~~ 04 \ )
5 £ 02 02>
§E= £ < o 4y \Ny 8 0.1 \01\
N ~J il a 0
1 \ 2-22 thru 50 100 150 200 250 300 350 400
Flow rate N ¢/min
@ /EL
I'l— ™
T ©
\ Q
IS EG_ [m u|
< — {T} g}\ —
‘ 9 2-M3x0.5%5 depth
9.5 95
o 1
o W) NN NG Va Xz
= SR P 4 U
59 (60.4) \
108.5 (111.3) (): Dimension for LJ plug type.




PTV-100 Mmanifold

SOLENOID VALVE

PTV-100-5B*

5 port (for body ported type)

108.5 (111.3)
75 (76.4) |
PTV-100-4E1 |
0 Y { &P 2
o SNl o ST
< -
F df oSS HE | o -
PTV-100-4E2 oSN —HE
PTV-100-4E2C.PR %{EAg . %EB P
(o2}
16 \4-04.5thru
49

PTV-100M-5M*

5 port (for manifold type)

PT

V-100M-4E1

2x3-Rc1/8

PTV-100M-4E2

i) 4-04.5 thru 158
RN ﬂ
s [Falae LN e
T e 5 T € 2 @ N\
o & ‘ i © 8 & ©
3 B B (D «B\ by Ty @
= [ #* o ﬁ @ B
SERE <
T ﬁL \ 2x3-Rc1/8
6 G
18.5 12.5!
4 P 4
L
S
A s
< &
N~
2xN-Rc1/8

( ): Dimension for LJ plug type.

No. of stations P L
1 20 38
2 30.5 48.5
3 41 59
4 51.5 69.5
5 62 80
6 72.5 90.5
7 83 101
8 93.5 111.5
9 104 122
10 114.5 132.5

P: (No.of stations-1)x10.5+20
L: (No.of stations-1)x10.5+38

External pilot

28

N
mU’!

2-M5x0.8

(External pilot port)

xé\
N
%

N
e}
«

16

16

19.4 (147

0D &

/
|/

2x3-Rc1/8
2-M5x0.8
(Pilot EXH. port)

No. of(’?‘l)ations P L
1 27 35
2 39.5 47.5
3 52 60
4 64.5 72.5
5 77 85
6 89.5 97.5
7 102 110
8 114.5 122.5
9 127 135
10 139.5 147.5

P: (No.of stations-1)x12.5+27
L: (No.of stations-1)x12.5+35

PISCO



PTV-156 Series

SOLENOID VALVE

Order example of valve

PTV

MODEL

BODY
WIDTH

’_T

4: 4 way
(5 port)

Specification
_4E2. |

Bore No. 6A
Port size 1/8
No. of port 5
No. of position 2 | 3 4
Medium Air
Operating perssure range [ 0.15~0.7 MPa | 0.2~0.7 MPa
Operating pressue (LP) 0~0.7 MPa -
Pilot pressure range (LP) 0.2~0.7 MPa | 0.25~0.7 MPa =
Proof pressure 1 MPa
Effective B0dy ported 11 mm? 95/14.6/9.5mm*| 11 mm®
orificé  Manifold 10 mm? 75/13/8mm’ | 10 mm’
Reponse time 19 ms 20 ms 25 ms
Ambient temperature +5~+50°C
Max. operating frequency 5Hz

Voltage

AC110V, 220V (50/60)Hz, DC24/12/6V

Power consumption

AC=1.6/2.5VA, DC6=1.2W, DC12/24=0.55W

E1: Single Solenoid
E2: Double Solenoid

Blank: Body ported type
C4: Body ported with tube fitting (dia. @4mm)
C6: Body ported with tube fitting (dia. @6mm)
C8: Body ported with tube fitting (dia. 28mm)

M: Manifold type

Order example of manifold

PTV —156M —5B3 —LP—-G

v

N.C.)
4: 2x 3/2 way (N.O./N.O.)
5:2x 3/2 way (N.C./N.O.)

(Only for 4E2 type)

T I ][

MANIFOLD NUMBER Blank: Standard
MODEL [ Biank: Body LP: External pilot (-3) ~ MODEL
5B |5port | 1~32 .
(o o (Only for manifold type)
M: Manifold type [ 5M | 5 port 1~1;110LP) |
PORT THREAD
*1. Plug with flying leads JPC type. g'?gkghseca?fead

*2. Plug with flying leads RMH type.
*3. LP type valve needs to match LP type manifold.

NPT: NPT thread

*Starting from 11 stations, manifolds are made to order.

PISCO

Order example of wire

PVDY — 100 — WA2)J2

Available voltage range +10%
Insulation class B class
Weight 63g | 829 | 1029 | 829
VOLTAGE ELECTRIC CONNECTION
A222°V(50;60)HZ LJ: Plug on side LR: Plug on side WIRE PORT THREAD
A 113\(/:(252)\/60)Hz 1 LENGTH Blank: Rc thread
DC12v Blank: 500mm | G: G thread
DC6V 1: 1000mm NPT: NPT thread
2: 2000mm (Only for body
C: Closed center 3: 3000mm ported type)
P: Pressure center
R: Exhaust center SR: Plug on Top (*2)
3:2x 3/2way (N.C./

Blank: Standard

LP: External pilot (*3)
(Only for manifold type
4E1, 4E2, 4E2 C.P.R)

* Use the same wire with PTV.

VOLTAGE

A2: AC220V(50/60)Hz
A1: AC110V(50/60)Hz
D: DC24V/12V/eV

—I_’_TT

WIRE

WIRE
J: JPC type LENGTH
Blank: 500mm
1: 1000mm
2: 2000mm
R: RMH type 3: 3000mm
4



PTV-156 Dimensions

SOLENOID VALVE

B A
24

PTV-156-4E1

L=

PTV-156-4E23.4.5

31
R2 POR1 PTV-156-4E2 PTV-156-4E23
B A
25.5 14.5 5-Rc1/8 2 4 2B 4A
: M IIT o | AN LI AN
h o7 X of © 315 3R2 1P 5R1
S2a an\ %\ e £l s R2 PR1
u @\ PTV-1 562-;1-E24 A PTV-1562-EI;1E25 A
14.8 36 | \2-23.1 thru :
1
NI LN RN LAY
3R2 1P 5R1 3R2 1P 5R1
7 L r ‘ 55.5 (56.5) 145 5Rcl/8
< —
+ o @ L ] :
| R ® o] 2 190 A el o
- Z e 7 Frey @
ol ° 9 D = T Ual &
! 44.8 (45.8) 36 _‘\ 2-93.1 thru
26 13.5 2-M3x0.5%5 depth 125.6 (127.6)
136 136 ©
I 5 - 1 [T !
AN b—=—m |, KNG
OO ; :
° N
32.8
2-M3x0.5%5 depth
56 (57) 135
PTV-156-4E2C.PR | 136 136 o
PTV-156-4E2C PTV-156-4E2P PTV-156-4E2R — " 5
B A B A B A © o va ﬁ‘@o L= = ©
4 2 4 2 4 U-U-H—m O_@'M \J \\J ~
AT T oML | csmn
315 315 315
R2PR1 R2PR1 R2PR1 Flow features
64.4 (65.4) 145  SRelf8 PTV-156-4E1/4E2
f < 08 1 I I I
J N © Primary pressure
¥ o Il |
TET T 2] TP 2 b T es =7 1 lo7wrn
< | & AN 4 = =< © 0.6 = P~
{2 15 05 T~ 0.6 N
o U.
53.7 (54.7) | 36 2-3.1 thru g o4 \\\05\\ \\
a Y- I ~N N \
i 203 \\\0‘4 \\
[t J = 3 N
— o (117]
@ j T © 2 o1 \01\
= ) . N
1) . 5N (]
. 1 AR —T o 0 90 180 270 360 450 540 630 720 810
Flow rate N¢min

64.9 (65.9) 13.5 2-M3x0.5x5 depth PTV-156M-4E1/4E2
‘ 89.5 s 08 Pr‘imal"y prlesstljre
13.6_ 13.6 0.7 1
‘ B e = T |07MPa
o 0.
Mo A Yar Vs GHlL v =N 2 e —Jos K]
e I I 54 \% AN = 9 RGN
71.7 (72.7) 5 0. ~To4 \\ T
| ™.
134.6 (136.6) 03 ~o3 N
] N
S 0.2 —.0. N
o 01\
(' ): Dimension for LJ plug type. 0

80 160 240 320 400 480 560 640 720
Flow rate Né#min

PISCO



PTV-156 Dimensions

SOLENOID VALVE

PTV-156C*-4E1

315
R2PR1
‘ 25 ‘ 15.5 ‘
ey 2 of olg
TR N T
14.8 36 2-93.1 thru
95.6 (96.6)
L =5 f
ﬁﬁ% —
ol ®
N
0] ® 2 D e
26 13.5 2-M3x0.5%5 depth
13.6 13.6‘ ©
(@Y Ve Gl v~ =N
T ACAY RS
32.8 ’\m

PTV-156C*-4E2C.PR

PTV-156-4E2C

PTV-156-4E2P

PTV-156-4E2R

PTV156C*-4E23.4.5

PTV-156-4E2

B A
2 4

)

315

R2P
PTV-1 562-4E24

A

R1

=Sl el

PTV-156-4E23

2B 4A
3R2 1P 5R1
PTV-156-4E25
2B 4A

Al Ly

315 315 315
R2 P R1 R2PR1 R2PR1
63.9 (64.9) 155
T B {2 @fm\\@ S Te efe
= R A\ /FNEL-A T R
53.7 (54.7) 36 2-03.1 thry
. — ﬁﬁ s
_ =
2 j At
° . | DR
—|] AR —J] o
64.9 (65.9) 13.5 2-M3x0.55 depth
‘ 89.5
136_, 136 ©
| o2, g
Iy A Va s -
A I SZA DA, O+
71.7 (72.7) | 3-Re1/8

|
134.6 (136.6)

(): Dimension for LJ plug type.

PISCO

3R2 1P 3R2 1P 5R1
55 (56) 155
oi | 7 g (AN LA o ofo
o B T OHOE2 Fie
44.8 (45.8) 36 _\\ 2-63.1 thru
125.6 (127.6)
— ¢ [ ]
s |
- j 71,
> ) ; N
= \I @\ = ©
56 (57) 135 2-M3x0.5x5 depth
6, 136 ©
LHY R Oﬁv AR ~ -
! 62.8 (63.8) \ 3-Re1/8
Cod
Tubeofiging M
C4 (24) | (13.8)
C6 (26) | (14.7)
C8 (8) | (19.3)




PTV-156 Manifold

SOLENOID VALVE

PTV-156-5B*

5 port (for body ported type)

134.6 (136.6)

125.6 (127.6)

95.6 (96.6)

32.8 (33.8)

&

10

PTV-156-4E1
B @ [
PTV-156-4E23.4.5 w ! T
Y /A
PTV-156-4E2C.P.R N | (;{*M'
Sy o
PTV-156-5P — L& @l | MFE:
Blocking plate \{@,7{ 7,g+ i}
No. of stations P L u_i} 2 ® Nt
1 24 44 \ 2
2 40 60 20 2x2-p4 5 thru
3 56 76 46.6
4 72 92
5 88 108 [? 1 f
6 104 124
7 120 140 @ | A ﬁj °
8 136 156 = = 2
9 152 172 ‘f\ (} @y ol
10 168 | 188 NS 2o
L~ -~
P: (No.of stations-1)x16+24 21 | 21 2x3-Re1/4
L: (No.of stations-1)x16+44 60
PTV-156M-5M PTV-156M-4E1 o
5 port (for manifold type) PTV-156M-4E23.4.5 External pilot
PTV-156M-4E2C.P.R |
PTV-156-5P Blocking plate po =t B
2%2-04.5 th Z [ I 2Mmsx08
-24.5 thru ® I 2x3-Rc1/4 E = Pilot EXH. port
[32) o
% $ & | P I
Y | & E Sla ] {0 EV A\
o | & o5e = [® .
‘ | | Sl © ©
o & i ] %28 @ @ <
© & | % als S
. @ ® @ | B T3 @ S x L)
Y ‘ || - S| 0
No. of(;t)ations P L % EEIH 17.6 o 4.5 2-M5x0.8
[] E_xtemal
1 32 42 ‘ ?’EH pilot port
2 495 | 595 iy H T&
3 67 77 21 | 175
4 845 | 945 5| P 5
5 102 | 112 L _ _
6 P ey Symbol ( LP : External pilot)
7 137 147 4E1 4E2
8 154.5 164.5 ﬁ S’ ? g
9 172 | 182 o ﬂg ﬁzm
189.5 | 199.5 R IFM el EFM |
9
P: (No.of stations-1)x17.5+32 N 8 LoooRIPR2 A Do RiPR2
L: (No.of stations-1)x17.5+42 ol N 4E2C 4E2P 4E2R
85| | 2xN-Re1/4 A B AB AB
19 175 42 42 42
Y- IR T SN - S S S O
(): Dimension for LJ plug type. RIPR2 RiPR2 R1PR2




PTV-188 Series

SOLENOID VALVE

Specification
_ 42
Bore No. 8A
Port size 1/4
No. of port 5
No. of position 2 | 3
Medium Air
Operating perssure range 0.15~0.7 MPa | 0.2~0.7 MPa
Proof pressure 1 MPa
Effective BodY ported 15 mm? 16.3/27/12.4 mm?
orifice  Manifold 13 mm? 13.5/18.4/11 mm’
Reponse time 23 ms 50 ms
Ambient temperature +5~+50°C
Max. operating frequency 5 Hz
Voltage AC110V, 220V (50/60)Hz, DC24/12/6V
Caution Power consumption AC=1.6/2.5VA, DC6=1.2W, DC12/24=0.55W
o Don't continuously energize for over 2 hours. Available voltage range +10%
e The total energizing time of a day is not allowed to exceed the . B class
total non-energizing time even if it is intermittent energizing.
Weight 7749 102g 106 g

Order example of valve

PTV —188M —4E2C—-AC110—-LU1 -G
T T O] ul JLT

VOLTAGE ELECTRIC CONNECTION

BODY 4: 4 wa
MODEL WIDTH (5 port) AC220V(50/60)Hz  [Ly: Plug on side | LR: Plug on side PORT THREAD
AC110V(50/60)Hz *1) .
DC24V Blank: Rc thread
DC12v G: G thread
| | | DC6V NPT: NPT thread
(Only for body
Blank: Body ported type  E1: Single Solenoid C: Closed center WIRE  ported type)
M: Manifold type E2: Double Solenoid P: Pressure center " LENGTH
R: Exhaust center SR: Plug on Top (*2) Blank: 500mm
Only for 4E2 type 1:1000mm
(Only ye) 2: 2000mm
3: 3000mm
*1. Plug with flying leads JPC type.
*2. Plug with flying leads RMH type.
Order example of manifold Order example of wire - Use the same wire with PVDY.
MANIFOLD NUMBER PORT THREAD u WIRE WIRE
MODEL ['jank: Body 58 |5port| 1-27 | Blank: Rethread WEBES VEEIAG J: JPC type LENGTH
sy
NPT: NPT thread : z 1: 1000mm
M: Manifold type | 5M | 5port |  1~18 rea D: DC24V/12V/6V 2: 2000mm
; 3: 3000mm
* Starting from 11 stations, manifolds are made to order. R: RMH type

PISCO 8




PTV-188 Dimension

SOLENOID VALVE

B A B A
2 4 24
PTV-188-4E1 1o PTV-188-4E2 1w
REPRI RIPR1
16.5_ 42 3-Rc1/4 42 3-Rc1/4
5 :
© Ji f} I?)\) ot © Ql s ﬂ?,%n Mfﬁ N o
G = EG R iR RN e E
28 19 ‘ 2-g4.1 thru 19 M
™ IFH B [52] ﬁif
275 20 ‘ 2-M4x0.7x9 depth 58(59.4) |._20 ‘ 2-M4x0.7x9 depth
19.5 ‘ 18 ‘ 18 2-Rc1/8 ‘ 18 ‘ 18 2-Rc1/8
tE LA M o IV Wa . 4| o
1B oM e OO oW
« Lo B & [
83 91
105.5(106.9) 136(138.8)

PTV-188-4E2C.PR

PTV-188-4E2C

PTV-188-4E2P

PTV-188-4E2R

Flow features

PTV-188-4E1/4E2

( ): Dimension for LJ plug type.

B A B A B A . 0.8 ‘
24 24 4 % 0.7 =] Primary pressure—
AL NN AL —~
[0] 06 T
315 315 315 5 T \\0.7 Pa
R2 PRI R2PR1 R2PR1 % 05 ~
o \\ NJ.()
s 04 \0 5 \ \
335 42 245 _ > 03 ~~.J0.a \"
‘# | 3 o3z \ |
A TaD S = g8 02 [T Y
Jm:%E%l == S S/ARN ! 91 © § o1 |—o I
: ~ Ug | %y
3-Rc1/4 ‘ 19 w 200 400 600 800 1000 1200 1400
=e Flow rate Né#min
[se]
T 1
‘ ] PTV-188M-4E1/4E2
e}
0 =
R; d . s o 0.8 ‘
= o 07 Primary pressure—|
[0) .
67(68.4) L 20 | \ 2-M4x0.7x9 depth 5 s ~  NO07|mPa
2 0.
2Rc1/8 36 © 4 ~Jos\08
> N 0.4
[ \Y e s 03
— n /M . @ 2 o2 03\
L | 2 g U -
o & I NG
100 @
145(147.8) 200 400 600 800 1000 1200 1400

Flow rate N¢min

PISCO



PTV-188 Manifold

SOLENOID VALVE

PTV-188-5B*

105.5 (106.9)

5 port (for body ported type)
375
|
2 A} A} e No. of stations P L
N I’f@f\“ 2 1 27 47
o . W %y 2 6 | 66
PTV-188-4E1 ﬁm—LéZ ﬁ@@ o ZT?W—% ol 3 65 | 85
. H@r_ 4 84 104
PTv-188-4E2 Jj}? ﬁ%@ A A 5 103 | 123
PTV-188-4E2C.PR * || % 6 22 | 122
% s 7 141 161
21 2x2-94.5 thru 8 160 180
145 (147.8) 9 179 199
10 198 218
~ P: (No.of stations-1)x19+27
. ﬁffﬁ; _l% ?WhL L: (No.of stations-1)x19+47
Il| :
Y
Tt nalfin g — @
1O o
@:r-'\\&J o gl
LA,A‘ 2x3-Rc1/4
60
PTV-188M-5M*
5 port (for manifold type) %
! @ %ﬁ
(32
\ o m_ﬂ 2x3-Rc1/4
PeTeTe]  F e
2x2-94.5 thru é ElE) @E “87 [ (jr
\.k' &
. o | = Jan
N IERE S R
2D B B (¢ IO
T e B
S R g
< e @ H o 19.1
& e ﬂ
<
7o) 7
20.8 19 ! b | No. of stations P L
6 P 6 (
w i 1 30 42
2 49 61
3 68 80
4 87 99
5 106 18
- 6 125 137
e 7 144 156
] - 8 163 175
o ¥ 9 182 194
/| }D &
B B
\LJ €}€ 3 10 201 213
7 2xN-RuA/4 P: (No.of stations-1)x19+30
24 19 L: (No.of stations-1)x19+42

( ): Dimension for LJ plug type.

PISCO 10



PCQA Series

STANDARD CYLINDER

Features
m Non lubrication
Special housing and bushing enables self lubrication of piston rod.
m High quality long service life
Hard anodised aluminium cylinder tubes offer a high resistance to
corrosion and low internal friction.

m Non standard type
Custom cylinders are available as are non standard strokes, rod
extensions and special rod threads.

m Cylinder mountings
Available with comprehensive internationally recognised range of
fixed and flexible mountings.

Specification
Tube I.D. (mm) 40,50,63| 80,100 125 150 200
Table for standard stroke , ,
Medium Air
Tube I.D. Stroke (mm) Max. stroke (mm) Operating perssure range 0.05~1 MPa
240 1800 Proof pressure 1.5 MPa
250,63 50,75,100,125,150, 2000 Ambient temperature -5~+60°C (No freezing)
280,100 188:520000‘250:300: 2500 Available speed range 50~500 mm/sec
2125,150 ’ 2000 Sensor switch RCA
200 1500 Sensor switch holder | Hv2 | Hv4 | PM14 | PM16 | HAS

* Intermediate stroke are available, please contact us.

Order example
PCQA —11—40—100M—T -0
T O T T

1: Single rod .
MODEL 2. Double rod TUBE I.LD. STROKE M: Magnet PORT THREAD

Blank: Rc thread

STYLE G: G thread
TYPE NPT: NPT thread

Cod Symbol D ipti
ode ymboo escription T: With magnet, TA/TB is assembled

11 @E:' Double acting / Male thread * Tube, piston rod and tie rpd are
extended, and an extra piston is

21 'I%:' Double rod / Male thread added.
Double rod / Adjustable male thread
2|7 g%: Please mark "adjustable stroke" at order list

*Order example for special specification, please contact us.

11 PISCO



PCQA Order example of accessories

STANDARD CYLINDER

B Accessories & Connector

Accessories /A 125~3200: Factory assembled and shipped (self-assembled is not recommended)

Code LB CA CB FA FB FAC FBC
(Purchase 2 pcs)
Mounting
Tube 1.D. _D:[Ej o e = Il ke 1= U:[[F@: ID:DW
240 LB-Q1-40 CA-Q1-40 CB-Q1-40 FA-Q1-40 FAC-Q1-40
250 LB-Q1-50 CA-Q1-50 CB-Q1-50 FA-Q1-50 FAC-Q1-50
263 LB-Q1-63 CA-Q1-63 CB-Q1-63 FA-Q1-63 FAC-Q1-63
280 LB-Q1-80 CA-Q1-80 CB-Q1-80 - FAC-Q1-80
2100 LB-Q1-100 CA-Q1-100 CB-Q1-100 — FAC-Q1-100
2125 LB-Q1-125 CA-Q1-125 CB-Q1-125 - FAC-Q1-125
2150 LB-Q1-150 CA-Q1-150 CB-Q1-150 - FAC-Q1-150
2200 LB-Q1-200 CA-Q1-200 CB-Q1-200 - FAC-Q1-200
Accessories A\ Factory assembled and shipped (self-assembled is not recommended) Connector Rod nut
SDS
Code TA TB TC Mid section support Y | NUT
(Stroke over 1000mm)
Mounting
240 TC-Q1-40 SDS-Q1-40 Y-Q1-40 1-Q1-40 NUT-M14x1.5x8Hx22B
250 TC-Q1-50 SDS-Q1-50
263 TC-Q1-63 SDS-Q1-63 Y-Q1-50 1-Q1-50 NUT-M18x1.5x11Hx26B
280 TC-Q1-80 SDS-Q1-80 Y-Q1-80 1-Q1-80 NUT-M22x1.5x13Hx32B
2100 TC-Q1-100 SDS-Q1-100 Y-Q1-100 1-Q1-100 | NUT-M26x1.5x14Hx35B
2125 TC-Q1-125 SDS-Q1-125 Y-Q1-125 1-Q1-125
NUT-M30x1.5x15Hx41B
2150 TC-Q1-150 SDS-Q1-150 | Y-Q1-150 | 1-Q1-150 xToxIEnX
2200 TC-Q1-200 SDS-Q1-200 Y-Q1-200 1-Q1-200 NUT-M45x1.5x27Hx70B
H Pin
Applicable Y&I connector CA&CB accessories M Order example of self-assembled
Code PIN-Y-P PIN-CB-P The tube I.D. 63 of LB accessories, Y connector and pin.
(with split pin) (with split pin) No. Order number Qty
Fig * To order accessories/
T L LB-Q1-63 2 connectors/ pin separately,
— Y-Q1-63 1 please place orders separately
240 PIN-Q1-40-1-P 3 PIN-Q1-50-1-P 1 according to the order codes
250 PIN-Q1-50-1-P PIN-Q1-50-1-P in the above table.
263 PIN-Q1-63-1-P
280 PIN-Q1-80-2-P PIN-Q1-80-1-P
00 CTERTETER: T e B Order example of factory assembled
2125 PIN-Q1-125-2-P PIN-Q1-125-1-P A\ Cylinders and accessories are distinguished by the symbol " +".
2150 PIN-Q1-125-1-P PIN-Q1-150-1-P PCQA — Standard model no. + TA
2200 PIN-Q1-200-1-P PIN-Q1-200-1-P

PISCO

CYLINDER

ACCESSORIES

12



PCQA Component part & Repair kits 340~2200

13

STANDARD CYLINDER

B Order example of component parts

CP— PCQA —2—-40M—[]

——

Blank: Single rod
MODEL 2: Double rod

TTT

40, 50, 63,
80, 100, 125
150, 200

TUBE I.D. M: Magnet

| L

PORT THREAD

Blank: Rc thread

G: G thread

NPT: NPT thread

B Order example of repair kits

PS— PCQA —2 — 40 — XBé

— 7 T T

MODEL Blank: Single rod TUBE I.D.

2: Double

rod
40, 50, 63,
80, 100, 125
150, 200

B Cylinder & accessories weight

Blank: NBR

XB6: Heat resistant material

Cylinder weight Unit: kg

Model Basic weight Basic weight (magnet) Stroke 25 mm

PCQA-11 PCQA-11 PCQA-11

Tube

1.D.

240 0.76 0.772 0.09

250 1.07 1.087 0.12

263 1.46 1.480 0.13

280 2.71 2.737 0.22

2100 3.97 4.005 0.28

2125 6.99 7.033 0.46

2150 10.33 10.410 0.55

2200 19.00 19.144 0.65
Accessories weight Unit: kg

Pin

Model FAC/FBC | TA/TB/ITC SDS

ode LB CA CB FA/FB Y | CA/CB| o Rod nut
Tube e A A oo S [ 72\

el L ¢ §ol = | =
240 0.213 0.297 0.295 0.162 0.482 0.420 0.262 0.200 0.158 |0.025|0.043| 0.020
250 0.237 0.411 0.407 0.184 0.584 0.455 0.305 0.285 0.222 |0.043(0.043| 0.030
263 0.446 0.630 0.650 0.346 1.012 0.815 0.572 0.285 0.222 |0.097(0.043| 0.030
280 0.951 1.192 1.178 - 1.922 1.600 1.112 0.518 0.485 |0.183|0.134| 0.050
2100 1.212 1.820 1.822 — 2.490 2.380 1.787 0.746 0.670 |0.308|0.183| 0.060
2125 1.321 3.412 4.059 - 4.224 3.940 3.312 1.680 1.070 |[0.372|0.211 0.082
2150 2.638 5.623 5.939 - 6.437 5.300 4.392 1.630 1.730 |[0.571|0.372| 0.082
2200 5.083 11.456 11.863 - 13.447 14.720 10.866 3.340 3.010 |0.988(0.988| 0.501

PISCO



PCQA Accessories

STANDARD CYLINDER

PISCO

No. Accessories Material No. Accessories Material
1 | Mounting accessories LB Carbon steel 10 | Floating joint PFC Carbon steel
2 | Mounting accessories CA+PIN Castiron/* 11 | Female rod ends PHS Carbon steel
3 | Mounting accessories CB+PIN Castiron/* 12 | Fitting PC (PISCO) -
4 | Mounting accessories FA/FB Carbon steel 13 | Speed controller JSC (PISCO) =
5 | Mounting accessories FAC/FBC Carbon steel 14 | Solenoid valve link seats VR/VH | Aluminum alloy
6 | Mounting accessories TA/TB/TC Cast iron 15 | Solenoid valve PVSC-260/300 =
7 | Mounting accessories SDS Cast iron 16 | Sensor switch RCA+HV* -
8 | Accessories Y+PIN Castiron/* 17 | Protective bellows kit NBR
9 | Accessories I+PIN Carbon steel * PIN material is carbon steel.

14



PCQA Dimensions 40~100

STANDARD CYLINDER

Z+Stroke

ZB+Stroke

B+Stroke

O

B2

Q| T
SIS
ZN+2xStroke
A ZM+2xStroke A
AL C+Stroke ) B+Stroke _ C AL
-
T
(M) (M)
-, -,
E T _ E
ZQ+2xStroke+adjust stroke
AA+adjust stroke ZP+2xStroke A
AB+Stroke ‘ B+Stroke ‘ C AL
iAR R
‘rﬂ )
[
Z|- _ _ .
S -
AE E
AS B2
Tiidf& A (AA|AB|AC|AD AE AF |AL |AR|AS|( B |B1|B2(B3| C | DD E G |H | J| K| L |NB
40 30 |21 |18 | 12 7 [M12x1.25| 30 | 27 7119 (84|14 | 22 7121 |Rc1/4|M14x15| 16 |32 | 11| 3 | 26 |13 8
50 35|23 |18 (15 | 10 [M16x1.5 | 40 | 32 8 (24|90 |17 | 26 8 [ 23 [Rc3/8|M18x1.5| 20 | 40 | 11 | 3 | 28 |14 0
63 35123 |18 | 15| 10 [M16x1.5 | 40 | 32 812498 |17 | 26 8 | 23 [Rc3/8|M18x1.5| 20 | 40 | 11| 3 | 30 |15 0
80 40 [ 33 |24 |20 | 14 |M22x1.5 | 50 | 37 | 13| 32 (116 22 | 32 [ 11 | 31 [Rc1/2|M22x15 | 25 | 45 [ 15 | 4 | 34 (17 0
100 40 [ 33 | 24 | 20 | 14 |M22x15 | 50 | 37 | 13| 32 (126 27 | 36 | 13 | 32 |Rc1/2|M26x1.5| 30 | 52 [ 15| 5 | 37 (18.5| O
ke | O | R S |UC|UD|X | Z |[ZB|ZM|ZN|ZP|ZQ
40 |405(| 8 [M8x1.25 | 4 |12 | 58|138|105|126|186|123|174
50 |48 11 | M8x125 | 4 | 12 | 66(151 (113 (136 (206 131|189
63 |59 11 |M8x1.25 | 4 | 12 | 80(159|121 (144|214 139 (197
80 (74 13 [M12x1.75| 4 | 15 | 100|191 147|178 (258 | 171|244
100 |90 14 [M12x1.75| 4 | 15 | 118|203 | 158|190 | 270 | 182|255

15

PISCO




PCQA Dimensions 3125~3200

STANDARD CYLINDER

Z+Stroke
J ZB+Stroke A
B+Stroke C AL
ox K K I
0o KA KA
V. Ll JL V. B3
LA = |
E ——— | R B2 ‘
z 11® ia% Il T o
s =] i @ HE
+ — p—r
1 A\
E
- B1
2-DD 2x4-S
TuiZTD'AALBB1BZB3CDD E G|(H|I [J|K|KA|L|O|R S Uulv|X|z|zB
125 |45 | 42 (136 30 | 41 | 9.5| 47 |Rc1/2| M30x1.5| 35 | 58 | 32 | 10 |32 | 20 |17 |117| 15 [ M14x1.5| 11 | 20 | 150|238 (183
150 | 50 | 47 [153| 36 | 41 |10 47 |Rc1/2| M30x1.5| 40 | 60 | 32 8 |40.5( 25 |24.5|134| 15 | M16x1.5| 12 | 26 [ 175|258 [ 200
200 | 63 | 60 |154| 46 | 70 |20 67 |Rc3/4| M45x1.5| 50 | 74 | 35 8 |42 | 25 |24 |182| 27 | M20x1.5| 12 | 18 (226|292 (221
ZN+2xStroke
m A ZM+2xStroke A
AL C+Stroke B+Stroke C AL
| |
jl« *Hk |
@ &)
E
Code
Tweip\ A [AL| B C E | V |ZM | ZN
125 | 45| 42 |136| 47 | M30x1.5 | 32 [ 20 | 230|320
150 50 | 47 | 153 | 47 | M30%1.5 | 32 | 26 | 247|347
200 63 | 60 | 154 | 67 | M45x1.5 | 35 | 18 | 288|414
ZQ+2xStroke+adjust stroke
AA+adjust stroke ZP+2xStroke A
AB+Stroke B+Stroke C AL
| |
*#* *ﬁkV
T
" (&)
| T —— ok
E AC+adjust stroke E
—coke | A|AA|AB|AC|AD|AF|AL|B|C| E I | V|zm|zN|zP|zQ
125 | 45|38 | 47 | 30 | 18 | 60 | 42 |136| 47 | M30x1.5| 32 | 20 | 230|320 230|313
150 50| 38|47 [ 30 | 18 | 60 | 47 |153 | 47 | M30x1.5 | 32 | 26 | 247 [ 347 | 247|335
200 63|38 |50 (30|18 |70 | 60 |154| 67 | M45x1.5 | 35 | 18 (288|414 271|372

16




PCJ(Q) Series

COMPACT CYLINDER

Features

e All products use counterbore and thread installation design without
any fixed frame to meet the space saving requirements.

e Anodised aluminum tubes provie better corrosion and abrasion
resistance.

e The assembly grooves are designed around the body to make the
sensor easier to install and fix.

e Compact assembly groove design make the sensors enable to flush
mount and can save space.

e Sensors can be mounted on any one of three faces for 12 and 16
bore and on four faces for 20~100 bore.

Specification
Acting type Double acting / Single acting Double
Single acting — Table for standard stroke e 2 o r2] 16]20]25 |32 |40 0] &3 |80 100
Port size M5x0.8 Rc1/8 | Rc1/4 | Rc3/8
Tube I.D. Standard stroke (mm) Medium Air
212,16,20,25,32,40 510 Operaliig  Double acting| 0.07~1 0.05~1
250 5,10,15,20 p:r:!s]seu(r'\tzpa) Singleacting [ 0.2~1 | 0.15~1 0.1~1 -
Double acting — Table for standard stroke Proof pressure 1.5 MPa
Tube |.D. Standard stroke Long stroke (mm) Ambient temperature -5°C~+60°C (No freezing)
912,16 | 5,10,15,20,25,30 | 35,40,45,50,75,100 Available speed range 50~500 mm/sec
220 5.10,15,20,25,30, | 75.100,125,150,175,200 Sensor RCERCE1|® | @ | @ @& |6 00 0 0 0
025 35,40,45,50 75,100,125,150,175,200,250,300 | | " RDEP |@|@ |- | @ | — e e @ |0 @
032~80 g%:,%,ié%gbz,?é?j?bo 125,150,175,200,250,300
Tube I.D. Standard stroke (mm)
2100 5,10,15,20,25,30,35,40,45,50,75,100

* Please contact us if the stroke is out of specification.

Order exam ple *Order example for special specification, please contact us.
PCIQ —12—-—20—25M—F—-G
| —~ | | T

LQ PORT THREAD
1: Single rod
MODEL 2: Double rod TUBE LD. STROKE Blank: M5x0.8

(for 212~225)
Blank: Rc thread

G: G thread
M: Magnet NPT: NPT thread
(for 32~2100)
STYLE TYPE
Code Symbol Description Code Symbol Description Code Description

11 m%— Double acting / Male thread 201 —ﬁal Double rod / Male thread Blank | Standard
F Rear flange &—
12 l:‘[%‘“ Double acting / Female thread 2|2 —%‘ Double rod / Female thread E}}

Piston rod For adding LB accessories
Single acting / Single acting / L* or single rod cylinder with
13 ME: Normally extended male thread 2|3 :%: Double rod / Male thread igtzﬁed o FAC accessories
Single acting / Single acting / (for standard | For double rod cvlind
114 @EE Normally extended female thread 2|4 -:%E: Double rod / Female thread LA stroke) wiotL : :C 2(:263?;:?6:6

Single acting / Double rod / Adjustable male thread
115 @@: Normally returned male thread 2|7 E%EE Please mark "adjustable stroke" at order list | * L type not applicable to PCJQ-27/28 adjustable

i 5 P troke type, if required, please contact us.
Single acting / Double rod / Adjustable female thread s
1]6 H@E Normally returned female thread 2|8 E%E:ﬂ Please mark "adjustable stroke" at order list

17 PISCO




PCJ(Q Order example of accessories

COMPACT CYLINDER

B Accessories
Accessories Rod nut
Code LB cB FAC* FBC RF NUT
(Purchase 2 pcs)

Mounting

= =} = e =
212 LB-J1-12 CB-J1-12 FAC-J1-12 RF-J1-12 NUT-M5x0.8x4Hx8B
216 LB-J1-16 CB-J1-16 FAC-J1-16 RF-J1-16 NUT-M6x1.0x5Hx10B
220 LB-J1-20 CB-J1-20 FAC-J1-20 RF-J1-20 NUT-M8x1.25x5Hx13B
225 LB-J1-25 CB-J1-25 FAC-J1-25 RF-J1-25 NUT-M10x1.25x6Hx17B
232 LB-J1-32 CB-J1-32 FAC-J1-32 RF-J1-32
240 LB-J1-40 CB-J1-40 FAC-J1-40 RF-J1-40 NUT-M14x1.5x8Hx22B
250 LB-J1-50 CB-J1-50 FAC-J1-50 RF-J1-50
263 LB-J1-63 CB-J1-63 FAC-J1-63 RF-J1-63 NUT-M18x1.5x11Hx26B
280 LB-J1-80 CB-J1-80 FAC-J1-80 RF-J1-80 NUT-M22x1.5x13Hx32B
2100 LB-J1-100 CB-J1-100 FAC-J1-100 RF-J1-100 NUT-M26x1.5x14Hx358

* ISENREICE (Y L B and FAC cannot be assembled with the standard cylinder.
If the accessories are required, the piston rod needs to be extended by 10 mm.

* LB and FAC can be assembled with the standard cylinder.
See previous page for stroke range.

H Pin M Flat washer kits M Order example of self-assembled
Applicable  CB accessories The tube 1.D. 240 of LB accessories with stroke 25mm.
Sl PIN-CB-P Fre Wws No. Order number Qty
(With snap ring) 1 LB-J1-40 2
Fig Fig 2 | PCJQ-12-40-25-L 1
Tube I.D. = Tube I.D.
* To order accessories/cylinder, please place orders separately
212 PIN-J1-12-1-P 212 WS-PCJQ-12 according to the order codes in the above table.
216 PIN-J1-16-1-P 216 WS-PCJQ-16 Please refer to the previous page for the cylinder ordering method.
220 PIN-J1-20-1-P 220 WS-PCJQ-20
225 PIN-J1-25-1-P 225 WS-PCJQ-25
232 232 WS-PCJQ-32
040 | TIN-1-321P 240 | WS-PCJQ-40
250 250 WS-PCJQ-50
PIN-J1-50-1-P
263 J1-50 263 WS-PCJQ-63
280 PIN-J1-80-1-P 280 WS-PCJQ-80
2100 PIN-J1-100-1-P 2100 WS-PCJQ-100

PISCO

18




PCJ(Q Accessories

COMPACT CYLINDER

No. Accessories Material No. Accessories Material
1 | Mounting accessories LB Carbon steel Female rod ends PHS Carbon steel
2 | Mounting accessories FAC/FBC | Carbon steel Fitting PC (PISCO) -
3 | Mounting accessories CB+PIN Castiron/* Speed controller JSC (PISCO) -
4 | Mounting accessories RF Aluminum 10 | Sensor switch RCE/RCE1 -
5 | Floating joint PFC Carbon steel 11 | Sensor switch RDEP -
6 | Floating joint PFCS Carbon steel

* Material of PIN and 12, 16 CB accessories are carbon steel.

19

PISCO



PCJQ Dimensions-Double acting 12~232

COMPACT CYLINDER

2x4-Counterbore

220, 225

H depth C

Stroke 5~100

Stroke over 100

2x4-OA depth RA B_‘ 2p 4 F
I ] T 5 ] T
i S 2 E =
z
N| — o
N5e) BB———13 E———
— ]
! 1 1 1 1
L 1 | | [
o z B+Stroke 2x4-OA depth RA
Flat washer 4 pcs A+Stroke
(Extra purchase)
H depth C
232 £ Stroke 5~100 Stroke over 100
2x4-OA thread RA
2-p
2x4-Counterbore —L‘ <9>‘ *’L«
@OBRE dp i > =T T T T
7:7\ - :: B i I H i I H IF
© s 5
T < e R
) siw|l 3 [a] =z 2
\\,f N 3 ﬁ ﬂ
S i — e ° |
~—F—1 N
OnN—HC = = =
Z3 5
R
K ” Flatwasher4 pos | L B+Stroke L 2x4-OA depth RA
M (Extra purchase) A+Stroke
E
212~25 @32 for stroke 5~100 @32 for stroke over 100
Male thread
—h—— —4——i
H1 e H1 el Hi L1*'? 27| x
o |mm— AN (g - --—H— 12 | 9 [M5%x0.8 [14(24) 24 |105
@ 16 |10 | M6x1.0 15.5 (25.5) |125.5 (12
i ey "‘)N—l_— 20 |12 |M8x1.25 [18.5(28.5) [28.5 |14
L = o1 ct 25 [15 [ M10x1.25[22.5 (32.5) [32.5 [17.5
X X X 32 |20.5|M14x1.5 |28.5(38.5) |38.5 |23.5
H1(L2) L1 L2 *1. L1: Standard stroke, L2: Long stroke
*2. () Dimensions for piston rod extended "L" type.
812~25
. Standard stroke Long stroke
Stroke | Without magnet [ Magnet 2 Stroke C|D|/E| H [I|[K[M|N|[OA |OB| P |Q|RA|RB|(Z1|Z2(Z3
Tube F L* A [B(F| L
1D. (range| A B A| B range
12 |5~30( 20.5 | 17 |25.5|22 |5 |3.5(13.5)|31~100(45.5(32|7.5|13.5| 6| 6]25|M3x0.5|32| 5|15.5|3.5(M4x0.7| 6.5 | M5x0.8 [7.5| 7| 4 |4.2(6.3]|0.5
16 |5~30( 20.5 | 17 [25.5|22 |5 |3.5(13.5)|31~100(45.5(32|7.5|13.5| 8| 8(29|M4x0.7|38| 6|20 |3.5(M4x0.7|6.5 | M5x0.8 [7.5| 7| 4 |4.2(6.3]|0.5
20 |5~50| 24 19.5 (34 |29.5(5.5|4.5 (14.5)|51~200(55.5|41|9 |14.5| 7|10|36|M5%x0.8|47| 8(25.5|5.5|M6x1.0{9 | M5x0.8 (9 (10| 7 [6.2(8.8|1
25 |5~50| 27.5 | 22.5 |37.5|32.5|5.5(5 (15) 51~300(59 |44|11 |15 ([12]|12|40|M6x1.0|52|10(28 |5.5(M6x1.0{9 | M5x0.8 (11 (10| 7 (6.2(8.8(1
232
G Standard stroke Long stroke
Wihout magnet | Magnet P [CID|E| H 1|J|JJ|K|M|N| OA |OB(RA|RB|Z1(Z2|Z3
Tube Stroke g g F L2 | Q Stroke AlBlF|L|a
1D. | ege |A|B|A|B range
5~50 |30 |23 40|33 |7.5*"| 7 (17) [10.5*"| 101 #1
32 62.545.5(12.5{17 {12.5 13({16|45|M8x1.25|60 |4.5|49.5{ 14|34 |55|M6x1.0|{ 9 [ 10| 7 [6.2|8.8] 1
51~100| 40 | 33 | 40 [ 33 (7.5 | 7 (17) |10.5 | ~300 Re1/8
*1. Without magnet with stroke=5mm, P=M5x0.8, Q=11.5, F=5.5 *2. () Dimensions for piston rod extended "L" type.
PISCO 20




PCJ(Q Dimensions-Double acting 240~2100

COMPACT CYLINDER

| 12 RGN Stroke 5~100 Stroke over 100
2x4-Counterbore H depth C
20BxRB dp
T 2x4-0OA depth RA Q 2-P F
1 i
= 7 T [ [
il s s el s il s 'I:}:I'
2
T 1 e
- [}
=lw3 |~ % % 6 J—'\—
N 1] 3 3 I
1 e
& I = —+ =
K M ” 73 2x4-OA depth RA
M Flat washer 4 pcs L B+Stroke 5
E (Extra purchase) A+Stroke L
240 240~2100 240~280
Male thread
(Stroke 5~100) (Stroke over 100)
Code *1,2 %1
T\ C1]  H1 L1 L2*'| X
=t H1 H1 40 [20.5|M14x1.5 |28.5 (38.5)|38.5 |23.5
9 L B \ () 1H= " 50 |26 [M18x1.5|33.5(43.5)|43.5 |28.5
S @3 <l [ \ 63 |26 |M18x1.5 |33.5 (43.5)[43.5 |28.5
1 %:F]y_u_ 80 [32.5[M22x1.5 |43.5 (53.5)|53.5 |35.5
1 o1 g o1 100 [32.5[M26x1.5 |43.5(53.5)| — [35.5
X _— X _ *1. L1: Standard stroke, L2: Long stroke
L1 L2 *2. () Dimensions for piston rod extended "L" type.
o Standard stroke Long stroke
Stroke |Without magnet| Magnet 4 Stroke
el ange [A B | A[B| " |b Q| nge |A|B|F|LIQ
5~50 | 36.5|29.5 7
40 465|395 |8 1 125~300 [72 |55 |14 |17|14
51~100 | 46.5| 39.5 (17)
5~50 |38.5|30.5 | s ,
50 48.5|40.5 | 10.5* 10.5*'| 125~300 | 73.5 | 55.5 |14 |18 |14
51~100 | 48.5 | 40.5 (18)
5~50 |44 |36 8
63 54 |46 |10.5 15 125~300 (75 |57 [16.5|18|16.5
51~100 | 54 |46 (18)
5~50 |53.5|43.5 10
80 63.5(53.5|12.5 16 125~300 (86 |66 [19 |20]19
51~100 | 63.5 | 53.5 (20)
5~50 65 |53 12
100 75 |63 |13 23 -
51~100 |75 |63 (22)
e lc|D|E]| G H I {J|J|K|M|N| OA |OB| P |RA(RB| T |2z1|22|2z3
40 | 13| 16 | 52|28%00s | M8x1.25| 70(5 | 57 |14 |40 |55|M6x1.0 |9 [Rc1/8 |10 |7 |14 | 62| 88| 1
50 | 15 [ 20 | 64|35 %54 |M10x1.5( 867 71 | 17 | 50 [ 6.6 [M8x1.25 [11 |Rc1/4*'| 14| 8 | 19 | 8.2(10.8| 1
63 | 15 | 20 | 7735546 | M10x1.5 [ 103 |7 84 |17 |60|9 [M10x1.5 [14 |Rc1/4**| 18 [10.5| 19 |10.2]13.8| 1
80 | 21|25 98|43 |M16%2.0(132(6 |104 |22 | 77 |11 |M12x1.75|17.5| Rc3/8 ** | 22 [13.5| 26 |12.2|17.3| 2
100 |27 [30 [117| — |M20x2.5(156|6.5 |123.5| 27 | 94 |11 |[M12x1.75[17.5| Rc3/8 ** | 22 [13.5]| 26 |12.2[17.3| 2

*1. Without magnet with stroke=5mm, P=Rc1/8, Q=12, F=8
*2. Without magnet with stroke=5mm, P=Rc1/8

*3. Without magnet with stroke=5mm, P=Rc1/4

*4. () Dimensions for piston rod extended "L" type.

21

PISCO



PCJ(QQ Dimensions-Normally extented @12~g50

COMPACT CYLINDER

212 216

2x4-Counterbore

220, 825

H depth C

@OBxRB dp 2x4-OA depth RA *’g‘ffp
I | T
& 1=
£
9] z
<+
| ) s e s
3 u L | - |
NN L+Stroke|  Be+Stroke
Z3 A+2xStroke
Flat washer 4 pcs
(Extra purchase)
@32 240 250
H depth C
2x4-Counterbore T 2x4-OA depth RA Q p
=1l T T
i el ol
=}
= £
> S| w3 al R o
\ - o~ . S
\ A 3
N~—" T
—— N} . 7 —
Ur SN L L —1]
K ‘M Z3
M Flat washer 4 pcs | _L+Stroke B+Stroke
E (Extra purchase) A+2xStroke
e m Male thread
H1 B Cod
,ode *
Tue 10\ C1 H1 L1 X
il - lq- 12 9 [M5x0.8 14 (24) 10.5
| - f 16 [10 |M6x1.0 15.5(25.5) [ 12
— 20 (12 |M8x1.25 [18.5(28.5) (14
C1 25 [15 |M10x1.25(22.5(32.5)(17.5
X 32 |20.5|M14x1.5 |28.5(38.5)|23.5
L1+Stroke 40 |20.5|M14x1.5 |28.5(38.5)|23.5
50 |26 |[M18x1.5 |33.5(43.5)|28.5
* L1: Standard stroke
* () Dimensions for piston rod extended "L" type.
Note: The value B of 812~g40 type is greater then double acting type.
Standard stroke
Cails Without 2
Stroke| magnet Magnet |C |D | E H 1|J|JJ|K L* M|Nf OA (OB| P Q (RA(RB|T|Z1|22|Z3
Tube
range
. " ATB|AlB
12 |5,10|30.5(27 |35.5|32 | 6| 6|25|M3x0.5 |32 — | — 5(3.5(13.5)[15.5(3.5|M4x0.7 |6.5 [M5%0.8| 7.5 714 |-142]| 63|05
16 |5,10|35.5(32 |40.5|37 | 8 8|29|M4x0.7 |38 — | — 6(3.5(13.5)[20 [3.5|M4x0.7 |6.5 [M5%0.8| 7.5 7 |4 |-|42| 6.3(05
20 |5,10|34 |[29.5|44 |39.5( 7 (10|36|M5x0.8 |47 — | — 8(4.5(14.5)|25.5|5.5|M6x1.0 |9 [M5%0.8| 9 10 | 7 | - |6.2| 8.8]|1
25 |5,10|47.5(42.5|57.5|52.5(12 (12|40 | M6x1.0 |52 — | — [10|5 (15) 28 |5.5(M6x1.0 (9 [M5x0.8 11 10 | 7 | - |6.2| 8.8]|1
32 |510|55 |48 |65 |58 |13 |16|45|M8x1.25(60|4.5|49.5|14 |7 (17) 34 |55(M6%x1.0 |9 |Rc1/8 (105 |10 | 7 [14|6.2| 8.8(1
40 |5,10(61.5(54.5|71.5(64.5|13 |16 [52| M8x1.25|70|5 (57 |14 (7 (17) 40 [5.5|M6x1.0 |9 [Rc1/8 |11 10 | 7 |14]6.2| 8.8|1
50 |5~20|38.5(30.5|48.5|40.5(15 (20|64 |M10x1.5|86(7 |71 |[17|8(18) 50 |6.5(M8x1.25(11 |Rc1/4*'(10.5*'|14 | 8 |19(8.2]10.8(1
*1. Without magnet with stroke=5mm, P=Rc1/8, Q=12
*2. () Dimensions for piston rod extended "L" type.
PISCO 22




PCJ(Q Dimensions-No

rmally returned @12~@50

COMPACT CYLINDER

212 216

2x4-Counterbore

220, 825

H depth C
2x4-OA depth RA

F
@OBxRB dp PX*J»*
I T T
= & S
£
N| —
dalsl BB——H1 %
<
1 e
ﬂ ! 1 1
u L 1 |
z ut L|  B+Stroke
Flat washer 4 pcs A+Stroke
(Extra purchase)
232 240 250
H depth C
2x4-Counterbore 2x4-OA depth RA p F
2OBxRB dp “—" \ﬂ*«
> | T
| i el i i s
2
[a) £
Sl e T z
N — | ® 2
~-1 e
@ — k\ 7& I T |
ur N
K ‘M Z3
M Flat washer 4 pcs L B+Stroke
E (Extra purchase) A+Stroke
—r— m Male thread
H1 Cod
,ode
Tue 10\ C1 H1 L1~ X
il - 12 9 | M5x0.8 14 (24) 10.5
| - 16 10 | M6%1.0 15.5 (25.5) [ 12
— 20 12 | M8x1.25 |18.5(28.5)| 14
C1 25 15 | M10x1.25|22.5(32.5) | 17.5
X 32 |20.5|M14x1.5 |28.5(38.5)|23.5
L1 40 |20.5|M14x1.5 |28.5(38.5)|23.5
50 |26 |[M18x1.5 |33.5(43.5)|28.5
* L1: Standard stroke
* () Dimensions for piston rod extended "L" type.
Standard stroke
Cal Without 3
Stroke magnet Magnet [C | D | E F H 1|J|[JJ]|K L* M| N OA (OB P RA|(RB| T |21 |22 |Z3
Tube range
1.D. A|lB|A|B
12 |5,10|20.5(17 |25.5(22 6| 6[(25( 5 M3x0.5 |32 - | - 5(3.5(13.5)|15.5( 3.5 | M4x0.7 [6.5(M5x0.8| 7 | 4 | - |4.2]| 6.3|0.5
16 |5,10|20.5(17 |25.5(22 8| 8(29( 5 M4x0.7 |38| — | - 6(3.5(13.5)|20 | 3.5 M4x0.7 [6.5(M5%x0.8| 7 | 4 | - |4.2| 6.3|/0.5
20 [5,10|24 (19.5|34 |29.5| 7 |10|36| 5.5 M5%x0.8 47| - | - 8(4.5(14.5)|25.5( 5.5 [ M6x1.0 |9 ([M5x0.8|10 | 7 | - |6.2| 8.8|1
25 |5,10|27.5(22.5|37.5|32.5|12 | 12|40 | 5.5 M6x1.0 |52| — | — |10 (5(15) 28 | 55| M6%x1.0 |9 |M5x0.8 (10 [ 7 [—-|6.2| 8.8|1
32 |510(30 (23 |40 |33 (13 |16 45| 7.5*"| M8x1.25 |60(4.5[49.5( 14 |7 (17) 34 [55|M6x1.0 |9 |Rc1/8*'[10 | 7 [14|6.2| 8.8|1
40 |5,10(36.5(29.5|46.5(39.5|13 |16 |52 | 8 M8x1.25 |70|5 |57 |14 (7 (17) 40 |55 M6x1.0 (9 ([Rc1/8 |10 | 7 |14]|6.2| 8.8|1
50 |5~20(38.5(30.5|48.5|40.5(15 | 20 | 64 [10.5**| M10x1.5 |86(7 |71 [17(8(18) 50 |6.5| M8x1.25|11 |Rc1/4**|14 | 8 [19] 8.2 |10.8(1

*1. Without magnet with stroke=5mm, P=M5x0.8, F=5.5
*2. Without magnet with stroke=5mm, P=Rc1/8, F=8
*3. () Dimensions for piston rod extended "L" type.

23

PISCO




PCJ() Dimensions-Double acting / Double rod g12~332

COMPACT CYLINDER

216 220, 825 Stroke 5~100 Stroke over 100
H depth C
2x4-Counterbore
- Q Q
OB*RE dp 2x4-OA depth RA ﬁ op ‘H 3
J/ <
I =T T i T T
b == ] S =74
<
NI 7= ¢ B—— =
[ 1 1 I I
Z3_|_|L| B+Stroke |L+Stroke 2x4-OA depth RA
Flat washer 4 pcs A+2xStroke
(Extra purchase)
H depth C
232 = Stroke 5~100 Stroke over 100
14 2x4-OA depth RA Q2P aQ
2x4-Counterbore ‘———‘ <—>‘ R
#OBxRB dp = > =7 i 7 7
e Z S ~ i) 1 ) 1 E it Tt Hi Tt
Q
< g [
/\/\ s(w|3 ~ %T M +2 5 ﬁ ?95
X N| N N N
\\\ ) [ S| w 1 | %f 9 EN_ N %f Q
@ ;;(_ @ — — i I 2x4-OA depth RA
I —
. z3 5 5
K 7 Flat washer 4 pcs | L B+Stroke L+Stroke L L+Stroke
M (Extra purchase) A+2xStroke
E
212~25 232 for stroke 5~100 @32 for stroke over 100 Male thread
H1 — H1 — Code 1.2 1
H1 —T- \ N\ e lc1|  Hi L1 |L2*'| X
O NP m— TR _”ﬂ_ 12 |9 |m5x08 [14(24) |24 [105
\d 16 [10 [Mex1.0 [155(25.5)[255 [12
o O 2 — ) —— 20 [12 |[M8x1.25 [18.5(28.5)[28.5 |14
X - C1 I C1 S 25 [15 [M10x1.25(22.5(32.5)|32.5 |17.5
L1(L2) X X 32 |20.5|M14x1.5 |28.5(38.5)|38.5 [23.5
L1 L2 *1. L1: Standard stroke, L2: Long stroke

*2. () Dimensions for L type that both sides piston rod
are extended.
For LA type that single side piston rod is extended.

. Standard stroke Long stroke
Stroke | Without magnet | Magnet 2 | Stroke C|D|E| H I1{J|JJ|[K|M|N| OA [OB| P Q |RA|RB|21|Z22|Z3
el ange [A [ B |A[B| - |race |A|B|L
12 |5~30 |29 |22 |34 |27 |35(13.5)|31~100 |59 |32 [13.5 6| 6|25(M3x0.5 |32 — | — 5(15.5(3.5(M4x0.7| 6.5 |M5x0.8| 7.5| 7| 4 |4.2(6.3|0.5
16 |5~30 |29 |22 |34 |27 |35(13.5)|31~100 |59 |32 ([13.5| 8| 8|29(M4x0.7 |38 — | — 6(20 ([3.5(M4x0.7|6.5|M5%0.8| 7.5| 7| 4 |4.2(6.3(0.5
20 |5~50 (35 |26 |45 (36 |4.5(14.5)|51~200 |70 (41 |14.5| 7(10|36|M5x0.8 (47| — | — 8(25.5(5.5(M6x1.0{9 |[M5x0.8] 9 |10]| 7 |6.2(8.8[1
25 |5~50 |39 |29 |49 |39 |5(15) 51~300 (74 |44 |15 |[12|12]|40|M6x1.0 (52| — | — |[10(28 |5.5|M6x1.0(9 [M5x0.8|11 10| 7 [6.2/8.8(1
5~50 |[44.5|30.5 |54.5(40.5(7 (17) ’
32 101~300(79.5({45.5|17 |13|16{45|M8x1.25{60({4.5(49.5(14 |34 |5.5|M6x1.0{9 |Rc1/8*'({12.5(10| 7 [6.2|8.8|1
51~100 [54.5 |40.5 |54.5(40.5(7 (17)

*1. Without magnet with stroke=5mm, P=M5x0.8
*2. () dimensions for L type that both sides piston rod are extended.
For LA type that single side piston rod is extended.

PISCO 24




PCJ() Dimensions-Double acting / Double rod 40~@100

25

COMPACT CYLINDER

m 250~2100

H depth C

2x4-Counterbore

Stroke 5~100

Stroke over 100

2OBxRB dp
T 2x4-OA depth RA Q 2-P Q
" o
=l T ]z I [
s el s il s = il s sl s
. z ! ‘
Q
o <
I P a g 2 h de
N 1 9 8 K 2
), [ [ ——  — - T T i
N | T — | —— 1 [
K el 'z 2x4-OA depth RA
M Flat washer 4 pcs L B+Stroke L+Stroke 5 5
E (Extra purchase) A+2xStroke L L+Stroke
240 240~2100 240~280 m Male thread
(Stroke 5~100) (Stroke over 100)
Code *1,2 *1
- Tube 10\ C1 H1 L1 L2*| X
— H1 H1 40 |20.5|M14x1.5 |28.5 (38.5)|38.5 [23.5
9 ® \ () ‘LHS_ 50 |26 |[M18x1.5 |33.5(43.5)|43.5 |28.5
S é} <l ] _{ \ \ 63 |26 |M18x1.5 |33.5(43.5)[435 |28.5
—S— %:F]y_u_ 80 |32.5|M22x1.5 [43.5 (53.5)[53.5 [35.5
—1 o1 g e 100 |32.5(M26x%1.5 |43.5(53.5)] — |35.5
X — X — *1. L1: Standard stroke, L2: Long stroke
L1 L2 *2. (') dimensions for L type that both sides piston rod
are extended.
For LA type that single side piston rod is extended.
. Standard stroke Long stroke
Stroke |Without magnet| Magnet 3 Stroke
elrnge [A|B|A[B| - Q| range |A|B|L]Q
5~50 54 40
40 64 |50 7(17) {14 |101~300 (89 (55 |17 (14
51~100 | 64 50
5~50 56.5 | 40.5
50 66.5(50.5| 8(18) [14 |101~300 |91.5|55.5 (18 |14
51~100 | 66.5 | 50.5
5~50 58 [42
63 68 |52 8(18) | 15.5(101~300 (93 |57 18116.5
51~100 (68 |52
5~50 71 51
80 81 |61 |[10(20)(18 |101~300 |106 |66 [20]|19
51~100 | 81 (61
5~50 |84.5|60.5
100 94.5|70.5(12(22) |22 -
51~100 [ 94.5 | 70.5
Ti:df[,_ C|D|E G" H Il 1 J|JJ [K|[M|N OA OB P RA|RB| T (21|22 |23
40 13 | 16 | 52(28 %045 | M8x1.25| 70(5 57 14 | 40 [ 5.5 | M6%1.0 9 |Rc1/8 10| 7 14 | 6.2( 88| 1
50 | 15 | 20 | 64(35*04s, [M10x1.5| 86|7 | 71 | 17 | 50 | 6.6 [M8x1.25 |11 [Rc1/4 |14 | 8 | 19| 82(10.8| 1
63 15 | 20 | 7735546, | M10x1.5|103 |7 84 17 1 60 |9 M10x1.5 (14 [Rc1/4*'| 18 |10.5| 19 [10.2]13.8] 1
80 [ 21|25 98(43%, | M16%2.0 (132(6 [104 | 22 | 77 [11 |M12x1.75(17.5| Re3/8 ** | 22 [13.5| 26 [12.2(17.3] 2
100 | 27 | 30 (117 — M20x2.5 | 156 | 6.5 [123.5| 27 | 94 [11 |M12x1.75 [17.5| Rc3/8 **| 22 |13.5| 26 [12.2|17.3| 2

*1. Without magnet with stroke=5mm, P=Rc1/8
*2. Without magnet with stroke=5mm, P=Rc1/4
*3. () dimensions for L type that both sides piston rod are extended.

For LA type that single side piston rod is extended.

PISCO




PCJQ Dimensions-Single acting / Double rod @12~@50

COMPACT CYLINDER

216 220, 825

H depth C

2x4-Counterbore

2x4-OA depth RA p Q
2OBxRB dp BN
212
I =T \l\_ﬂ
& = S
£
N| —
NENIES =i g
<
! 1 1
1
28| |L| Be+Stroke _|L+Stroke
Flat washer 4 pcs A+2xStroke
(Extra purchase)
@32 240 250
H depth C
2x4-Counterbore gOBxRB dp
T 2x4-OA depth RA p Q
> T ] 2
Semes? Tr+ ] £
— z
Q
<+
= w3 | = S /d
S A 9
N —  — ]
— =
wr N — L__— i
K M [
M Flat washer 4 pcs L B+Stroke L+Stroke
E (Extra purchase) A+2xStroke
—r— m Male thread
H1 Cod
ode
Tue 10\ C1 H1 L1 X
il - 12 9 | M5x0.8 14 (24) 10.5
| - 16 10 | M6%1.0 15.5(25.5) [ 12
—— 20 12 | M8x1.25 |18.5(28.5)| 14
C1 25 15 | M10x1.25(22.5(32.5) | 17.5
X 32 |20.5|M14x1.5 |28.5(38.5)|23.5
L1 40 (20.5|M14x1.5 [28.5(38.5)(23.5
50 |26 |[M18x1.5 |33.5(43.5)|28.5
* L1: Standard stroke
* () Dimensions for L type that both sides piston rod are
extended.
For LA type that piston rod retracted side is extended.
Standard stroke
Gl Without 2
Stroke magnet Magnet |C (D | E H 1{J [JJ|K L* M| N OA (OB P Q |RA|RB| T | 21|22 |23
Tube range
I.D. A|(B|A|B
12 |5,10129 (22 |34 |27 6| 25|M3x0.5 |32 - | — 5(3.5(13.5)[15.5| 3.5 [M4x0.7 [6.5|M5%x0.8| 75| 7 | 4 | - |4.2| 6.3(05
16 [5,10(29 |22 |34 |27 8129 [M4x0.7 |38 — | — 613.5(13.5)|20 |[3.5|M4x0.7 [6.5|M5%x0.8 | 75| 7 | 4 |- |4.2| 6.3[0.5
20 |5,10|35 |26 |45 |36 7 [ 10|36 |M5x0.8 (47| — | — 814.5(14.5)|25.5( 5.5 [M6x1.0 |9 [M5x08( 9 |10 | 7 |- |6.2| 8.8|1
25 |5,10139 (29 |49 |39 (12 |12 |40 [M6%1.0 |52 — | 105 (15) 28 |55|M6%x1.0 |9 |M5x0.8 (11 (10 [ 7 [-|6.2| 8.8|1
32 |5,10|44.5(30.5|54.5|40.5(13 | 16 | 45 [M8x1.25(60(4.5|49.5( 14 |7 (17) 34 |55|M6x1.0 |9 |Rc1/8*'[125|/10 | 7 |14|6.2| 8.8|1
40 (51054 (40 (64 (50 (13 |16 |52 |M8x1.25|70(5 (57 |14 (7 (17) 40 |55 |M6x1.0 [9 ([Rc1/8 |14 |10 | 7 |14]|6.2| 8.8|1
50 |5~20(56.5|40.5(66.5(50.5(15 |20 |64 |[M10x1.5|86|7 |71 |17 (8(18) 50 |6.5|M8x1.25|11 |Rc1/4 (14 (14 | 8 [19] 8.2 |10.8|1
*1. Without magnet with stroke=5mm, P=M5x0.8
*2. () Dimensions for L type that both sides piston rod are extended. For LA type that piston rod retracted side is extended.
PISCO 26



PCJ() Dimensions-Double rod / Adjustable stroke 312~232

COMPACT CYLINDER

216 220, 825 Stroke 5~100 Stroke over 100

H depth C

2x4-Counterbore

2x4-OA depth RA

Q. o —1— 1
@OBxRB dp /ﬁ [‘—’ S U
_ £ ]
=2 Bz wisoy 2x4-OA depth RA
ST |
N[
yel BB—— 1 )z
_E_I_E_i_ Y+ADJ* }x Opposite XA
- \Y1
o Z3_||L|  Be+Stroke | W+Stroke+ADJ*
Flat washer 4 pcs N
(Extra purchase) A+Strokex2+ADJ
232 Stroke 5~100 Stroke over 100
2x4-Counterbore Hdepth C
2OBxRB dp -
a 2x4-OA depth RA Q  2p aQ .
- A
= =1 T i S U T i
3 YA } i b W1+ADJ* i e
TG I e— s
- < [T / g —+
WHH s|wl3) o ———— M ¥R e W ——— -
SN q
=S S = —— \ s T
0 T Hee Y+ADS | X & B
‘ N Y1 Opposite XA 5 5\ 2x4-OA depth RA
K < Z3 L B+Stroke W+Stroke+ADJ* L W+Stroke+ADJ*
M Flat washer 4 pcs A+Strokex2+ADJ*
£ (Extra purchase)
* ADJ: Adjustable stroke
212~25 232 for stroke 5~100 @32 for stroke over 100
. — y4 4l Male thread
H1 H1 —
il —H- I I —oodelc1| H1 L1*'? 27| X
N =T “”5 12 | 9 [m5x0.8 [14(24) |24 |105
L ﬂ 16 |10 |[M6x1.0 [15.5(25.5)[25.5 |12
o — — 20 [12 [Mm8x1.25 [18.5(28.5)[28.5 |14
i c1 I c1 I 25 |15 |[M10x1.25[22.5 (32.5)[32.5 |17.5
102) X X 32 [20.5|M14x1.5 |28.5(38.5)|38.5 [23.5
L1 L2 *1. L1: Standard stroke, L2: Long stroke
*2. () Dimensions for piston rod extended "LA" type.
Standard stroke Long stroke Tli‘:dleo CID|E H 1{JIJJ|IKIM|N| OA |OB P Q
Code . —
Stroke | \Vithout 1y, anet . Stroke 12 | 6| 6|25\ M3x05 (32| — | — | 5[15.5|3.5|M4x0.7[6.5 |M5%x0.8 | 7.5
Tube magnet L* w A|B|L(W
o\ range — AT range 16 | 8| 8|29\ M4x07 (38| — | — | 6]|20 |3.5|M4x0.7[6.5|M5%x0.8 | 7.5
20 | 7|10|36|m5x08 [47| - | — | 8|25.5|5.5|Mex1.0|9 [M5x0.8 | 9
12 [5~30 [45.5(22 |50.5|27 [35(135)[20 |[31~100 [65.5(32 |13.5(20
25 [12[12]40{M6x1.0 |52 — | — [10]28 |5.5[M6x1.0|9 [M5x0.8 |11
16 [5~30 [49 |22 |54 |27 [35(135)[23.5[31~100 |69 (32 [13.5(23.5 -
32 [13|16]45|M8x1.25 60(4.5(49.5(14 (34 [5.5|M6x1.0|9 |[Rc1/8* 125
20 |5~50 |54.3(26 |64.3(36 [45(145)|23.8|51~200 |79.3|41 [14.5(23.8
25 |5~50 |56.5|29 |66.5(39 [5(15) [22.5|51~300 (81.5|44 |15 [22.5 Tucb‘:’fn RA|RB U Vv w1l x [xal Y |Y1|z1|z2|z3
5~50 [60.9(30.5
32 70.9|405(7(17)  |23.4]101~300|91.5(45.517 |29 12 | 7] 4 |[M5%0.8 [12|16| 4 | 8)|13| 2 |42]|63|05
51-1001/70:9//40:5 16 | 7| 4 |m8x1.25 16|19 5 [13[ 15[ 2 [4.2[6.3[0.5
; Witgqut malgnetfwithlstrokeifmm, Z=2/I§Lx/g;8 20 10| 7 |M8x1.25 |16 |19 | 5 [13[15| 2 |6.2(8.8[1
- (1) Dimensions for piston rod extende type. 25 [10] 7 [mM10x1.25 |20 |18 | 6 [17 [ 12| 2 [6.2[8.8[4
32 (10| 7 [M12x125 |30 | 19| 7 | 19| 12| 2 |6.2[8.8]1

27 PISCO



PCJ() Dimensions-Double rod / Adjustable stroke 340~@100

COMPACT CYLINDER

m 250~2100 Stroke 5~100 Stroke over 100
2x4-Counterbore H depth C
@0BxRBdP /5. 4 OA depth RA 2.p
Q Q
T ) )
- . .
! =] o o 2 u 0= 1
T - ‘ ‘ % W1+ADJ* ‘ ‘ S
| T
R Ny | e L
= w3 %L E a; - 1 | P - S (g T - _77
N — Y+ADJ® | X] e e
N2 * I —i;F i;— Y1 Opposite XA\ i — N
K Nl 73 2x4-OA depth RA
- M _| | Flatwasher 4 pcs L B+Stroke W+Stroke+ADJ* 5 Bl
E (Extra purchase) A+Strokex2+ADJ* L W+Stroke+ADJ* ‘
* ADJ: Adjustable stroke
240 ~ ~
240~2100 240~280 Male thread
(Stroke 5~100) (Stroke over 100)
5 Cod: *1, *
ool lc1| H1 L1*? |L2*'| X
H1 H1

40 |20.5| M14x1.5 |28.5 (38.5)(38.5 [23.5

N L 50 (26 |M18x1.5 [33.5(43.5)|43.5 |28.5

% (
(
I { — 63 |26 |M18x1.5 [33.5(43.5)[43.5 |28.5
(
I

80 [32.5|M22x1.5 [43.5(53.5)[53.5 |35.5
—J
c1 ? c1 ‘

100 (32.5(M26x1.5 (43.5(53.5)| — |[35.5

X (NS X *1. L1: Standard stroke, L2: Long stroke
1 2 *2. () Dimensions for piston rod extended "LA" type.
Standard stroke Long stroke
Code
ool Without Magnet Strok
roke roke
magnet *3
Tue || range g L Q| w range A B|L|Q|W

A|B|A|B

5~50 71| 40
40 81 |50 7(17) {14 |24 |101~300 (102.5(55 |17 |14 |30.5
51~100| 81| 50

5~50 75 | 40.5
50 85|50.5| 8(18) (14 |26.5|101~300 |105.5|55.5 (18 |14 |32
51~100 | 85 [50.5

5~50 80 |42
63 90 | 52 8(18) (15,530 |101~300 (110 [57 |18 (16.5|35
51~100 | 90 |52

5~50 | 100 |51
80 110 [61 |10 (20)
51~100 | 110 |61

5~50 111 | 60.5
100 121170512 (22)[22 |38.5 -
51~100 | 121 | 70.5

N

8 |39 ([101~300 (130 |66 |[20]|19 |44

\ode lc|D|E| G° | H |1 |J|W|K|M|N| OA [0B| P |RA|RB|T| U [V |W1|X|[XA|Y|Y1|z1]|Z2|z3
40 | 13| 16| 52|28 545, | M8x1.25| 70(5 57 |14 (40| 5.5|M6x1.0 9 |Rc1/8 | 10| 7 |14 |M12x1.25( 30 |21 7119(12| 2 | 6.2| 88| 1
50 | 15[ 20 64|35*306, |M10x1.5| 86(7 71 17|50 6.6 [ M8x1.25 (11 [Rc1/4 |14 | 8 |19 |M16x1.5 |40 (22.5( 8(24|15| 2 | 8.2|10.8| 1
63 | 15|20 | 77|35 "5 | M10x1.5|103(7 84 [17]60|9 |M10x1.5 |14 |Rc1/4*'| 18 [10.5| 19 [M16x15 |40 |255| 8|24 15| 2 |10.2[13.8] 1
80 | 21|25 98|43, | M16x2.0 |132(6 (104 |22 |77 |11 |M12x1.75|17.5| Rc3/8 **| 22 [13.5| 26 [M22x1.5 | 50 |33 |13|32|20| 3 [12.2|17.3| 2
100 | 27 | 30 (117 - M20x2.5 |156 6.5 (123.5| 27 [ 94 [11 | M12x1.75|17.5| Rc3/8 **| 22 |13.5]| 26 |M22x15 |50 |33 |13[32(|20| 3 |12.2|17.3| 2

*1. Without magnet with stroke=5mm, P=Rc1/8
*2. Without magnet with stroke=5mm, P=Rc1/4
*3. () Dimensions for piston rod extended "LA" type.

PISCO 28



PCJQ Installation of sensor switch g12~2100

29

COMPACT CYLINDER

Dimensions

M2.6x5L M2.6x5L

22 2000+20

o]
| - —— ©o| -
t“‘ gl =
24 200020 ‘

500+20

Installation of sensor switch

212~240 250~2100

Order example
RCE1 —[
T T |

MODEL WIRE LENGTH
RCE / RCE1 (C: Reed switch) Blank: L=2000m

RNE (N: Solid state switch) 1M: L=1000m

RDEP (Solid state switch) QD: M8 3Pin connector

EQD: M8 3Pin connector

Description

V¥V RCE, RCE1, RDEP* switch * Port
* RDEP not suitable for 20, @32.

250~2100




PCJQ Weight #12~2100

COMPACT CYLINDER

Cylinder weight

Standard stroke Unit: g
Model Basic weight B?ﬂ;gﬁght Stroke 5 mm Basic weight B?ﬁ:;;’igm Stroke 5 mm
PCJQ-11 PCJQ-11 PCJQ-11 PCJQ-12 PCJQ-12 PCJQ-12
8 | e o = =
mm
212 5~30 22 31 7 19 28 7
216 5~30 33 42 8 28 37 8
220 5~50 55 82 13 48 75 13
225 5~50 92 140 16 75 123 16
232 5~50 129 215 22 109 166 22
51~100 206 215 22 157 166 22
240 5~50 226 315 24 184 266 24
51~100 298 315 24 249 266 24
250 5~50 367 500 35 317 409 35
51~100 476 500 35 386 409 35
263 5~50 530 714 41 446 622 41
51~100 685 714 41 594 622 41
280 5~50 1032 1278 65 904 1109 65
51~100 1240 1278 65 1072 1109 65
2100 5~50 1864 2278 90 1679 2030 90
51~100 2230 2278 90 1982 2030 90
Long stroke Unit: g
Model Basic weight B?z:g\:gtg)ht Stroke 5 mm Basic weight B?rs‘:(a:g:]:ght Stroke 5 mm
PCJQ-11 PCJQ-11 PCJQ-11 PCJQ-12 PCJQ-12 PCJQ-12
Stroke I I — —
R — — — —
(mm) - -
212 | 31~100 46 47 7 43 44 7
216 | 31~100 68 70 8 63 65 8
220 | 51~200 116 120 13 106 110 13
825 | 51~300 172 180 16 153 161 16
232 |101~300 287 295 22 238 247 22
240 |101~300 409 426 24 360 377 24
250 |101~300 658 682 85) 566 589 35
263 [101~300 852 881 41 760 789 41
280 [101~300 1531 1568 65 1398 1436 65
Accessories weight Unit: g
Model LB CB FAC/FBC F RF Pin Nut
i © | O | =
212 51 31 1 1 2 1
216 60 37 2 1 3 2
220 145 61 3 1 8 4
225 166 94 4 2 16 6
232 107 136 9 3 25 18
240 125 171 17 9 25 18
250 209 331 28 16 61 32
263 296 538 52 30 61 32
280 586 1034 107 52 127 56
2100 960 1765 175 82 214 56

PISCO

30




PCFA Series

31

MULTI-MOUNT CYLINDER

Order example

PCFA —11—6—-10M—K—01]

’_T

1: Single rod

MODEL 2: Double rod

7T

Blank: Standard
K: Non-rotating rod

PORT THREAD

Blank: M5x0.8
(for @6~025)

STROKE

TUBE I.D. M: Magnet

Blank: Rc thread
Code Symbol Description G: G thread
NPT: NPT thread
1(1 HE: Double action / Male thread (for @32)
2|1 ':%Ej: Double rod / Male thread
Cylinder weight
Model Basic weight Basic weight (magnet) Stroke 5 mm
°%'1 PCFA-11 PCFA-11 PCFA-11
Tube | | " " o
ID. | | Pl ‘ of P
26 20 18
210 32 31
216 42 58
220 90 118
225 161 202
232 268 330

Features

e Compact and space saving.

Specification
Acting type Double acting
Tube 1.D. (mm) 6 | 10| 16 | 20| 25 | 32
Port size M5x0.8 Rc1/8
Medium Air
Max. operating perssure 0.7 MPa
Min. operating perssure (MPa) | 0.12 0.06 0.05
Proof pressure 1 MPa
Cushion With rubber cushion pad
Lubrication Not required
Ambient temperature -5~+60°C (No freezing)
Available speed range 50~500 mm/sec
Sensor switch RCE, RCE1, RDEP
Table for standard stroke
Tube I.D. Stroke (mm)
26, 10, 16 5,10,15,20,25,30
220, 25, 32 5,10,15,20,25,30,40,50
Tightening torque
When mounting PCFA series,refer to the below table.
Tubo D, | Mo et [porer nis e
26, 10 M3 1.1 [11.2] £ 10%
216 M4 2.5[25.5] + 10%
220, 25 M5 5.0[51.0] + 10%
232 M6 8.0[81.6] + 10%

Installation of sensor switch

Sensor switch

/RCE, RCE1

/etscrew
/ Watchmakers
, }Q\screj driver

Sensor switch
RDEP

<>
@
<>

PISCO



PCFA Single rod g6~232

MULTI-MOUNT CYLINDER

26, 10
2-gP thru 2-M5x0.8
TAF® & A
U U
- ©
H1 i GB‘
A
2-gP thru
4-gT depth
B
D
- &
= =1
S MM /
B1 AL |E]
B H S+Stroke
Z+Stroke
2-M5x0.8
2-gP thru 2-Rc1/8(232)
@16“"@32 H1_, <
- I&]
« iCEa
) L
GB
2-gP thru
4-oT depth
)
o IR
MM / _C:‘
A
A E
H S+Stroke
Z+Stroke
ke |A|A|B|B1|C|C1|D|E|GA|GB|H|HI|J|K|L| MM NN
6 7 — [ 13| 55| 22| 6.4 3 7 |15 10 13 118 (10 | 17 | — [M3x0.5 M3x0.5x5depth
10 |10 — |15 7 24 | 81| 4 7 |16.5 |10 16 (24 | 11| 18 | — |M4x0.7 M3x0.5x5depth =
16 (11 [125( 20 | 8 32| 92| 6 7 |16.5*(11.5| 16 |4 14 | 25 M5x0.8 M4x0.7x6depth
20 (12 |14 |26 (10 | 40 (115 8| 9 (19 [12.5] 19 16 | 30 M6x1.0 [ M5x0.8x8depth

25 (15.5|18 |32 (13 | 50 [15.0| 10 | 10 [21.5 {13 | 23

5

6
20 | 38 | 8 |M8x1.25 [M5x0.8x8depth
24 | 48 | 10 | M10x1.25 [ M6%1.0%9depth

oo

32 |19.5]22 |40 |17 | 62 |19.6( 12 [ 11 |23 [12.5| 27

wlo|o|s»

%]

* Without magnet with stroke=5mm, GA=14.5mm.

Code Without magnet Magnet
Tube I.D. L S Z S Z
6 6x4.8depth 33 46 33 46
10 6x5depth 36 52 36 52

16 | 7.6x6.5depth | 30 | 46 | 40 | 56
20 |9.3x8depth 36 | 55 | 46 | 65
25 | 9.3x9depth 40 | 63 | 50 | 73
32 |11x11.5depth | 42 | 69 | 52 | 79

PISCO



PCFA Non-rotating rod / Single rod 26~232

33

MULTI-MOUNT CYLINDER

26, 210
2-gP thru 2-M5x0.8
MM
®
SF &0
©
H1 u« _E_ GB‘
GA
2-gP thru
2Kl NA FL 4-0T depth
o " &>
" Aot — &
El A |Fle]l
FK H S+Stroke
B Z+Stroke
2-gP thru 2M5x0.8
2-Rc1/8(232)
216~232 MMy H 5 3
EE=s: Q-5
Q| @ @
L E GB
L]
2K NA 2-gP thru
*’** FL 4-9T depth
NI | ‘
= @" B _€
= Hlorke AT
- U oL
dl & . ;
2] a7 e
FK H S+Stroke
B Z+Stroke
Tj:idfo. A|(A"|B|B1|C[(C1|D|E|F |[FL|FK|FY|GA|GB|H |H1|J | K Kl L MM NA |NB
6 7 — | 13| 55|22 | 64| 3 7 8 9( 11|205|15 (10 | 18 (1.8 | 10 | 17 [ M3x0.5 | — [M3x0.5 6| 14
10 |10 — |15 7 |24 | 81| 4 7 8 (12| 12|22 |16.5 |10 | 21 |24 | 11 | 18 | M3x0.5 | — | M4x0.7 7115
16 |11 (125|220 | 8 [ 32| 92| 6 7 8|17 | 13|28 [16.5°|11.5| 26 |4 14 | 25 | M4x0.7 [ 5 | M5x0.8 6| 18
20 (12 |14 |26 (10 | 40 (11.5] 8 9 8120 | 16|33 (19 [125]|29 |5 16 | 30 | M4x0.7 [ 6 | M6x1.0 8|20
25 |155|18 |32 |13 | 50 |15.0/ 10 | 10 | 10 | 22 | 20 |43.5|21.5 |13 | 33 |5 20 | 38 | M5x0.8 | 8 |M8x1.25 | 10 | 28
32 (195|122 | 40 (17 | 62 (19.6| 12 | 11 [ 12 | 29 | 24 [51.5|23 |12.5( 42 |6 24 | 48 | M5%0.8 | 10 | M10%x1.25| 12 | 32
* Without magnet with stroke=5mm, GA=14.5mm.
Code NN P alaal R T U Y Without magnet Magnet
Tube 1.D. S| zZ2|S | Zz
6 |M3x0.5x5depth |32 | — | — 7 |6%4.8depth (10 [10.5| 33 | 51 33 | 51
10 |M3x0.5x5depth (3.2 | — | — 9 [ 6x5depth 10.5(11.5| 36 | 57 | 36 | 57
16 | M4x0.7x6depth (45| 4 |2 12 | 7.6%6.5depth [12.5|/15.5| 30 | 56 | 40 | 66
20 [M5x%0.8x8depth |55 [ 9 |4.5 | 16 |9.3x8depth |13.5(19.5| 36 | 65 | 46 | 75
25 |M5x0.8x8depth |55 | 9 |4.5| 20 |9.3x9depth |19 |24.5| 40 | 73 | 50 | 83
32 [M6x%1.0x9depth |6.6 [13.5|4.5 | 24 | 11x11.5depth |21 [30.5| 42 | 84 | 52 | 94

PISCO



PCFA Double rod @6~232

MULTI-MOUNT CYLINDER

26, 310
2-gP thru 2-M5x%0.8
. - © f‘(/ O | T—Th
® 9o —TJ
H1 E GB ‘
A
2-gP thru
4-gT depth
8 : MM
' M
52, \ |
o MM/ ‘
1] Al lE] A
B H S+Stroke SA| W+Stroke
Z+2xStroke
2-M5%0.8
2-eP thru 2-Rc1/8(932)
216~232
- <
<}
Ot
GB
2-NN 2-gP thru
4-¢T depth
1 \®CI N B MM
— & I
o< |-@-|5] - g HESE)
U
f HO)
®C| MM =/
| A A
B1 A | | E] A
B H S+Stroke SA| W+Stroke
Z+2xStroke
ke |A|A|B|B1|C|C1|D|E|GA|GB|H|HI|J |K|L| MM NN P
6 |7 |—|13]|55/22|64] 3| 7|15 |16 [ 13|18 |10 |17 | — [M3x0.5 |M3x0.5x5depth | 3.2
10 |10 | — |15 |7 [24 | 81| 4| 7 |165 |16 | 16 |24 | 11 | 18 | — |M4x0.7 [M3x0.5x5depth | 3.2 | —
16 |11 |125| 20| 8 [32| 92| 6| 7 [16519 |16 |4 |14 | 25| 5 |M5%x0.8 [M4x0.7x6depth 4.5 | 4
20 |12 (14 |26 |10 |40 (115 8| 9|19 [215(19|5 |16 |30 | 6 M6x1.0 |M5x0.8x8depth | 5.5 | 9
25 |155(18 |32 |13 | 50 [15.0|/ 10 [ 10 [21.5 |22 [ 23 |5 |20 | 38 | 8 |M8x1.25 |M5x0.8x8depth | 55| 9
32 [195[22 |40 |17 | 62 |19.6]| 12 | 11 |23 [22.5( 27 [6 | 24 | 48 | 10 | M10x1.25 | M6x1.0x9depth | 6.6 |13.5

* Without magnet with stroke=5mm, GA=14.5mm.

Code Without magnet Magnet
Tube I.D. L w S Z S Z
6 6x4.8depth 13 38 | 70 38 | 70
10 6x5depth 16 36 | 74 36 | 74

16 | 7.6x6.5depth 16 | 30 | 69.5( 40 | 79.5
20 |9.3x8depth 19 | 36 | 83 46 | 93
25 | 9.3x9depth 23 | 40 | 95 50 |105
32 | 11x11.5depth | 27 | 42 |106 52 |116

PISCO



PCFA Non-rotating rod / Double rod 86~232

MULTI-MOUNT CYLINDER

35

PISCO

26, 10
2-gP thru 2-M5x0.8
MM
xlo © f(ﬁ mT—1Th
S Iy Y i i = gy g =
H1 E] GB_|
GA
2-gP thru
2-KI - NA FL ‘ 4-gT depth
U ‘ MM
S ©) e
op| 2 ~!m 1 :
t € 5|2 g 5 —THP
oo
e NEATY A
FK H S+Stroke SA| W+Stroke
B Z+2xStroke
2-gP thru 2-M5%0.8
216~232 W 2-Rc1/8(232)
I © 5
e8| =+ P E]
1 @ @A;’
L
' E_| GB
GA
2-Kl NA 2-gP thru
*ﬁ* 4-¢T depth
L\ |
[a)
® MM
18] —
of G} ple j S
> P‘ A y—t
&
@ A
B1 A’
FK S+Stroke SA| W+Stroke
B Z+2xStroke
Tizdf[,_ A|A|BB1|C|C1|D|E|F|[FL|FK|FY|GA|GB|H |H1| J Ki L MM NA(NB| P | Q
6 7 — [ 13| 55| 22| 6.4 3 7 8 91| 11 (20.5]|15 16 18 1 1.8 [ 10 | M3x0.5 [ — | M3x0.5 6|14 (32| —
10 |10 — |15 7 24 | 81| 4 7 8|12 | 12|22 (16.5 |16 21|24 | 11 | M3x0.5 | — [M4x0.7 7115 (32| —
16 (11 [125( 20 | 8 32| 92| 6 7 8|17 | 13|28 |16.5°(19 26 |4 14 | M4x0.7 5 | M5x0.8 6|18 (45| 4
20 (12 |14 |26 (10 |40 (115 8| 9| 8|20 | 16 (33 |19 |21.5[29 |5 16 | M4x0.7 | 6 | M6x1.0 8120 (559
25 (15518 |32 (13 | 50 (15.0{ 10 | 10 | 10 | 22 | 20 [43.5|21.5 |22 | 33 |5 20 | M5%0.8 | 8 |M8x1.25 | 10 [ 28 |55 | 9
32 (195|122 |40 (17 | 62 [19.6| 12 | 11 [ 12 | 29 | 24 [51.5|23 |22.5| 42 |6 24 | M5x0.8 [ 10 | M10x1.25| 12 | 32 | 6.6 [13.5
* Without magnet with stroke=5mm, GA=14.5mm.
Code QAl R |sA T ulw Y Without magnet Magnet
Tube I.D. S z S V4
6 - 7|6 |6x4.8depth |10 | 13 |10.5| 38 | 75 38 | 75
10 - 9 | 6 |[6x5depth 10.5| 16 | 11.5| 36 | 79 36 | 79
16 2 12 | 7.5|7.6%6.5depth |12.5| 16 [ 15.5| 30 | 79.5| 40 | 89.5
20 45| 16 | 9 |9.3x8depth 13.5( 19 |19.5| 36 | 93 46 |103
25 (45|20 |9 [9.3x9depth |19 | 23 |24.5| 40 |105 50 |115
32 (45|24 (10 [11x11.5depth |21 | 27 | 30.5| 42 |121 52 |131




PCFB Series

MULTI-MOUNT CYLINDER

Features

e Compact and space saving.
e Flush fitting sensor.

Specification

Acting type Single / Double Double acting

Tube 1.D. (mm) 6 | 8 | 10] 12] 16| 20

Port size M3x0.5 M5x0.8

Medium Air

Max. operating perssure 0.7 MPa

Min. operating Single 0.3 0.2 =

perssure

(MPa) Double 0.15 0.1 0.07 0.05

Proof pressure 1 MPa

Lubrication Not required

Ambient temperature -5~+60°C (No freezing)
Order example Available slpeed range 50~500 mm/sec

Sensor switch (*) RDFE(V), RDGV

PCFB —S—11—16—10M * Short stroke length (4, 6, 8mm) only use RDGV.

R R

Double acting — Table for standard stroke

MODEL 1: Single rod TUBE I.D. STROKE M: Magnet Tube I.D. Stroke (mm)
26,8 4,6,8,10,15,20,25
Blank: Both mounting STYLE (*) 210 4,6,8,10,15,20,30
S: Axial mounting
(Only for 12,16,20) 212,16 5,10,15,20,25,30
220 5,10,15,20,25,30,35,40,45,50
*STYLE
Code|  Symbol Description Single acting — Table for standard stroke
1(1 HE: Double acting / Male thread Tube I.D. Stroke (mm)
1|2 l:‘lEj Double acting / Female thread 26 468
28,10 4,6,8,10

1|5 @EE Single acting / Normally returned male thread

116 @“ Single acting / Normally returned female thread

Installation of sensor switch

* Single acting only for 6,28,210.
* Single acting without magnet type. Sensor switch
RDGV

Watchmakers
screw driver

a9 /
Set screw

/ X._Sensor switch

RDFE

PISCO

36



PCFB Dimensions @6~220

37

MULTI-MOUNT CYLINDER

26, 28, 310
2.p
FxFA depth E. Across flats HB ~_PA_ / PB
; ‘VL, Across flats HA - ‘7{ ‘1{
RYEEE b b
@ el = L
© ? N & s | ; L
L L < o# e A _
< 1 3|98
PIRCIE ¢ °
oo O Q
) 94
20Qthr, BD J| X+Stroke 2-6Q1 thru
B H S+Stroke
Z+Stroke
912, 816, 820
Both mounting Axial mounting
PCFB-S
2-P 2-P
FxFA depth E 2-gQ1 thru PA PB FxFA depth E PA PB
\ 2x2-QA | \ 1 | \
i = = S i w7 | Across flats HA = i
. Ol |pcrossrasia | L0 (L .
© ? \ : : © ? TR § : :
< ©F LB 1< ) R —
< (O] 2 (<3 1 [O) < [0) B | ¢
o P O
0 D © DO
_2-eQthru BD J | X+Stroke 75";0(;2“ BD H! S+Stroke
- T X /-
H S+Stroke B Z+Stroke
Z+Stroke
912, 816, 820 PCFB-11/15 male thread size
Code
N e |MA|MB| MM | N | R |R1
~MA_ 6 | 65| 55|M3x05 |125| 55|24
M8 8 | 857 [max07 [1a5] 7 [32
E 10 [105| 9 [ms5x0.8 [165] 8 |4
AT 12 [105] 9 [ms5x08 [14 | 8 |4
\ 16 |12 |10 |M6x1.0 [155(|10 |5
MM 20 |14 [12 [m8x1.25 [185[13 |5
R
“c ! A|B|BD|calcB|D|DD|E| F |FA| G |H |HA|HB|J| P |PA|PB 1 Wihout magnet] __ Magnet
Tube 1.D. QaQ QA X| S Z| X S Z
6 (19 [13 |7 [10 |9 | 4| 9|3 |mesx0as5| 5|7 [3 [35] 8|3 [m3x05(6 [35]35[32] -
8 (21 [13 [7 [11 [10 | 5[11]3 |m3x05 [6 s [3 [45|10] 3 [m3x05[6 [35[35[32] — |6.5/13 |19]11.5|18 |24
10 |22 [135] 7 [115]105] 6|12 [32|M3x05 | 6 [85 [3 |5 [11]| 3 [M3x05]|6 [35(|35[32] —
12 [265[17 | 8 [155[11 | 6] — [35[m3x05 [ 6 [11 [35]5 [ = 6 [M3x05]7.5[4 [4.4[4.4]e757dp]3.5[155]19] 7.5]19.5]23
16 [20.5[21 [11.5[17 [125] 8| — [55[Max07 | 8 [125[35|6 | — | 6 [M3x05]85 (4 [44]44|e7570p|4 [165]20] 8521 [245
20 [36 [25 [135]21 [15 [10] = [7 [msx0.8 | 7 [155[45(8 | — [ 7 [m5x0.8[9 [5.5(5.5(5.2]095 9dp|5.5(19.5] 24 [ 9.5[23.5]28

PISCO



PCFB Weight 26~220

MULTI-MOUNT CYLINDER

Cylinder weight Unit: g
11: Male thread (With magnet) 11: Male thread (Without magnet)

ok | 6 | 08 |010| Sroke | 512]016|020| THOKE | 66 | 08 |210| ok? 212(016|020

4 16 | 20 | 23 5 27 | 42 | 68 4 1519 | 21 © 24 | 38 | 63
6 17 | 21 | 24 10 32|49 (78 6 16 | 20 | 22 10 29 | 45| 73
8 18 | 23 | 26 15 37 | 56 | 88 8 18 | 22 | 24 15 34 | 52 | 83
10 19 | 24 | 27 20 42 | 63 | 98 10 19|23 | 25 20 39 [ 59 | 93
15 22 | 27 | 31 25 47 | 70 |108| 15 22 (26| 29 25 44 | 66 | 103
20 25 | 31| 34 30 52 | 77 |118| 20 25|29 | 32 30 49 | 73 | 113

25 28 | 34| 38 40 - | — |138| 25 28 | 33 | 36 40 — | = [133
30 - | = [# 50 — | — |158| 30 — | = |39 50 — | — | 1538
12: Male thread (With magnet) 12: Male thread (Without magnet)

S(It,;%‘;? 26 | 28 (210 S(m“f 212|216|220 S(ﬁ[%"‘f 26 | 28 |210 S('};?T']‘f 212|216|@20

4 15|18 | 20 5 24 | 35| 57 4 14|17 | 18 ) 21| 31| 52
6 16 | 19 | 21 10 29 | 42 | 67 6 15| 18 | 19 10 26 | 38 | 62

8 17 120 | 23 15 34 |49 [ 77 8 16|19 | 21 15 31145 | 72

10 18 | 22 | 24 20 39 [ 56 | 87 10 18 | 21 | 22 20 36 | 52 | 82

15 2112528 25 44 | 63 | 97 15 21 24| 26 25 41|59 | 92

20 24 | 28 | 31 30 49 | 70 |107| 20 24 | 27 | 29 30 46 | 66 | 102

25 27 1 31|35 40 - | — |127| 25 27 | 30 | 33 40 — | — [122

30 — | — |38 50 — | — |147] 30 — | — |36 50 — | — [142

PISCO



PCMB s

eries

MINIATURE CYLINDER

Table for standard stroke

. Max. stroke
Acting type Tube 1.D. Stroke (mm) (mm)

Single 220,25,
acting 13/15 32,40 15,25,50,75,100 150

1 25,50,75,100,125,150, 1000
Double 220,25, 200,250,300,400,500
acting 32,40 | 2550,75,100,125,150,

el e 200,250,300,400 450

* Intermediate stroke are available, please contact us.

Order example

PCMB —11—20—50—A—N—G

Features
m Non lubrication

e Special housing and bushing enables self lubrication of piston rod.
m High quality long service life
e Hard anodised stainless steel cylinder tubes offer a high resistance
to corrosion and low internal friction.

e Cylinder mountings, available with a comprehensive range of
accessories for rigid or flexible mounting.

m Magnetic as standard

Specification
Tube 1D. 20 | 25 | 32 40
Port size Rc1/8 Rc1/4
Medium Air
Max. operating perssure 1 MPa
Min. Double acting 0.05 MPa
operating
perssure Single acting Extended: 0.23, Returned: 0.18 MPa
Proof pressure 1.5 MPa
Lubricator Not required

Ambient temperature

-5~+60°C (No freezing)

Available speed range

50~750 mm/sec

Max. allowable cushion pad 0.27 0.4 0.65 1.2
kinetic energy

W) Cushion air 0.54 0.78 1.27 2.35
Sensor switch RCM

Sensor switch (band)

BM20 | BM25 | BM32 | BM40

MODEL TUBE I.D. STROKE PORT THREAD
Blank: Rc thread
1 : G: G thread
1: Single rod Blank: Cushion pad .
2: Double rod (Unadjustable) | NPT- NPT thread
A: Cushion air
(Adjustable) A\
STYLE END COVER TYPE
Code| Symbol Description Code Symbol Description
1(1 DE:' Double acting / Male thread Blank IIEIH|a==| Standard type
Single acting / Ll
113 @E: Normally extended male thread N '"===|=== End-plain
Single acting / _—
15 EE: Normally returned male thread E With pivot type
Doubl d / Male thread . .
2|1 :E%— ouble rod /Male threa * Single acting type, please contact us.
207 %%: aouble 'f(’f‘ Q‘A?J';Statb'f"mfﬁthﬁad *Order example for special specification, please contact us.
ease mark "aqgjustanle stroke" at oraer lis

& Caution

For (A) Cushion air (Adjustable)
1. To adjust a cushion needle, please slowly turn the needle valve from the fully

closed status to the required status which needs to be within 2.5 turns.

Tightened

2. If the needle valve loosen excessively, the buffer doesn't take effect and the
lifetime of cylinder would be shortened.

39

Loosened !

Watchmakers
screwdriver

<

PISCO



PCMB Order example of accessories & Weight

MINIATURE CYLINDER

B Accessories & Connector
Accessories
1
Code LB* NUT* CA cB FA FB
(Purchase 2 pcs)
Mounting c t
| | Rt | @] T[] Cover nut af[I (= e (= | ef 0 eI )
220 LB-M2-20 NUT-M20x1.5x8Hx26B CA-M2-20 CB-M2-20 FA-M2-20
2
23: LB-M2-25 NUT-M26x1.5x8Hx32B CA-M2-25 CB-M2-25 FA-M2-25
240 LB-M2-40 NUT-M32x2.0x10Hx41B CA-M2-40 CB-M2-40 FA-M2-40
Accessories Connector
SDB**
el (with pinx1 + snap ringx2) L U Y !
Mounting @Iﬂ]:l] @iﬂj:l:D @D D @E D
Tube I.D.
222 SDB-M2-20 TA-M2-20 Y-M2-20 1-M2-20
232 TA-M2-25 Y-M2-25 1-M2-25
DB-M2-32
240 S 3 TA-M2-40 Y-Q1-40 1-M2-40
*1. The cylinder only comes with 1PC end cover nut, and another 1 PC needs to be ordered when assembling the LB.
*2. Only for (E) end-plain type.
H Pin
Applicable Y&l connector CA&CB accessories SDB accessories
Code PIN-Y-P PIN-CB-P PIN-SDB
(with split pin / snap ring) (with split pin / snap ring) (with split pin)
Fig — —
Tube 1.D. 220~p32 240 220~232 240 —
220
PIN-M2-20-2-P
225 PIN-M2-20-1-P PIN-M2-20-1-P
232
PIN-M2-32-1-P
240 PIN-M2-40-2-P PIN-M2-40-1-P 3
B Cylinder & accessories weight
Cylinder weight Unit: g
Model Basic weight Basic weight Basic weight Stroke 25 mm Basic weight Stroke 25 mm
ode PCMB-11 PCMB-11-N PCMB-11-E PCMB-11 PCMB-11-A PCMB-11-A
e | el 1D | e=f0_10 a={{T T 10 || @=f0__ 10 | e={O 0 11
1.D.
220 146 146 18 144 20
225 232 232 28 252 26
232 275 275 38 340 38
240 568 568 50 565 51
Accessories weight Unit:
nit: g
Model LB CA CB FA/FB SDB TA/TB Y | Pin Rod nut | Cover nut
Tube =) A 7
| 2L |POM@E Al Ol = |=| =
220 122 53 49 66 62 37 53 63 13 4 19
825 129 63 69 73 62 47 49 62 13 8 23
232 129 63 69 73 140 47 49 62 13 8 23
240 207 162 168 124 140 94 230 164 43 16 50

PISCO

40



PCMB Accessories

41

MINIATURE CYLINDER

*1. Only for end cover "E" type.
*2. 820 material is carbon steel.

*3.Y accessories @40 material is cast iron.

No. Accessories Material No. Accessories Material
1 | Mounting accessories LB Carbon steel 9 | Floating joint PFC Carbon steel
2 | Mounting accessories FA/FB Carbon steel 10 | Floating joint PFCS Carbon steel
3 | Mounting accessories CA+PIN Carbon steel 11 | Female rod ends PHS Carbon steel
4 | Mounting accessories CB+PIN Carbon steel 12 | Sensor switch RCM+BM** -
5 | Mounting accessories TA/TB Cast iron *2 13 | Fitting PC (PISCO) -
6 | Mounting accessories SDB+PIN (*1)| Carbon steel 14 | Speed controller JSC (PISCO) -
7 | Accessories Y+PIN Carbon steel *3
8 | Accessories |+PIN Carbon steel

PISCO



PCMB Dimensions-Double acting 220~g40

MINIATURE CYLINDER

2, G G 2FL0)
B2 ‘ 2-p 2.NN
B1 H1 T ol
] S|
1 1 %
I R ————— 1 &
N
MM /
AL _L 1.5 1.5
A K F N N ONA
H S+Stroke F
ZZ+Stroke
m - H2 G G 2-FL(%)
2-P —
2-NN
" I |
B1
] T
1 [ : : Y\
2
I LR ————— ==y =
Y — - = -
MM
AL »\» 1.5 1.5 AL
A K F N N F K A
H S+Stroke H+Stroke
ZN+2xStroke
- AC+adjust stroke
2-FL() ‘ AR
\ A0 As
Tt Yoo ‘
i 1 _IJ 1 i Vg
' T
InA I || U § IS | S — T )
s
LA — 1 —
MM /
HB+Stroke AA+adjust stroke
H S+Stroke HH+stroke+adjust stroke
ZQ+2xstroke+adjust stroke
Unit: mm
oo | A |AA|AC|AD|AF| AK |[AL|AR|AS|B1(B2|D| E |F |FL|G |[H |[H1|H2|HB[HH| I |K| MM
20 18 |17.5( 15 |9.5 | 16 | M8x1.25 |155| 5 | 13 | 13 | 26 8 (20 505 13 |105] 8 |41| 5 8 |20.5( 38 |28 |5 M8x1.25
25 22 (18.5| 15 |9.5 | 16 | M8x1.25 (19.5| 5 | 13 [ 17 | 32 | 10 |26 3¢5 | 13 |10.5| 8 |45 | 6 8 [20.5| 39 |33.5(5 M10x1.25
32 22 |16 12 |7 20 |M10x1.25|19.5| 6 |17 | 17 | 32 | 12 (26 35| 13 |10.5| 8 |45 | 6 8 (20 | 36 |37.5(5.5 | M10%1.25
40 24 |17 12 |7 30 | M12x1.25 |21 7 |19 22| 41|14 32 30, | 16 |13.5] 11 [ 50 | 8 | 10 (23 | 40 |46.5|7 M14x1.5
Ti‘:de. N |NA NN P s [zZN|za|zz | * FL: Effective thread length
20 |15 |24 M20x1.5 | Rc1/8| 62 | 144|141 [ 116
25 |15 |30 M26x1.5 | Rc1/8| 62 | 152|146 | 120
32 |15 |34.5| M26x1.5 | Rc1/8| 64 | 154 (145 [ 122
40 ([21.5(42.5| M32x2.0 | Rc1/4| 88 | 188|178 | 154

42




PCMB Dimensions-Single acting 20~@40

MINIATURE CYLINDER

B1 H1 2-NN
~ 2
W
o B ——— :
— A
MM /
AL
A K F N N
T
H+Stroke S+Stroke F
ZZ+2xStroke
B1 H1 ‘
a 1) lg} S B A
Q
A [ ]
MM
AL s
A K F N N
T
H S+Stroke F
ZZ+Stroke
Tlizdfn A (AL(B1|B2| D E F|FL{ G | H [H1[H2]| I K MM N [NA NN P
20 18 |115.5| 13 | 26 8 (20 505| 13 |105] 8 |41]| 5 8 (28 M8x1.25 (15 (24 M20x1.5 |Rc1/8
25 22 (19.5| 17 [ 32 | 10 |26 54| 13 [10.5| 8| 45| 6 8 |33.5(5 M10x1.25 15 (30 | M26x1.5 [Rc1/8
32 22 195\ 17 [ 32 | 12 |26 545 | 13 [105| 8| 45| 6 8 [37.5|5.5 | M10x1.25 |15 [34.5| M26x1.5 [Rc1/8
40 24 |21 22 | 41| 14 (32 34, | 16 |13.5) 11 [ 50 | 8 | 10 [46.5|7 M14x1.5 |21.5(42.5| M32x2.0 |Rc1/4
Code S 77 * FL: Effective thread length
Stroke
Tube 1D. 1~50 51~100 | 101~150 1~50 51~100 | 101~150
20 87 112 137 141 166 191
25 87 112 137 145 170 195
32 89 114 139 147 172 197
40 113 138 163 179 204 229

43

PISCO



PCMB Dimensions-Double acting 20~g40

MINIATURE CYLINDER

H2 G G
NN B2 f—"m] ﬁ 2.p "__
B1 H1 N e ol
T [T
2 a Y1 S | R N (S I R B
wl e
° /
MM
AL FL(*) 1.5
1
A F N N ONA
H S+Stroke
ZN+Stroke
* FL: Effective thread length
Unit: mm
Tizde_ A (AL|B1|B2| D E F|FL{| G| H |H1|H2| I | K MM N |NA NN P S [ZN
20 18 |15.5( 13 | 26 8120 ,8,03 13 110.5( 8 | 41 5 8128 |5 M8x1.25 |15 (24 M20x1.5 |Rc1/8| 62 | 103
25 22 |19.5( 17 | 32 | 10 | 26 _8_03 13 |110.5( 8 | 45| 6 8 |33.5|5 M10%x1.25 |15 (30 M26%1.5 [Rc1/8| 62 | 107
32 22 1195\ 17 [ 32| 12 |26 34| 13 |105| 8| 45| 6 8 |37.5(5.5 | M10x1.25 [15 |34.5| M26x1.5 [Rc1/8| 64 | 109
40 24 121 |22 | 41|14 |32 %5 | 16 135/ 11 | 50 [ 8 | 10 |46.5(7 [M14x1.5 [21.5(42.5| M32x2.0 |Rc1/4| 88 | 138
ZD+Stroke
Z+Stroke
H S+Stroke L RR
A K F N N U
AL G G ONA
ﬂz":"(*) HAS | 2P oCDHI0 CcX 3,
B1 L._ L__’J
Yo o Yoo >< T\
| i 1 | 1N
2 o] InE N N | S I IS B SR (] s}
s © J s
e/
MM NN B2
H1
* FL: Effective thread length
Unit: mm
Ti‘;de_ A|AL |B1|B2|CD|CX|CI({D| E |F|FL|G|H([H1| I [K|L MM N [NA| NN P [RRIS|U|Z |zD
20 18|155(13|26| 8 |12]|20| 8[203,]13|10.5| 8|41| 5 (28 |5 [12|[M8x1.25 [15 |24 |M20x1.5|Rc1/8| 9 |62|11.5|115|124
25 221195117 |32 8(12]|22|10 26_8_03 13(10.5| 8|45( 6 [33.5|5 [12|M10%x1.25(15 |30 [M26%x1.5|Rc1/8| 9 |62 |11.5(119|128
32 221195117 |32 (10|20 |27 |12 26_8,03 13110.5( 8(45| 6 |37.5(5.5(15| M10%x1.25 (15 [34.5|M26%1.5(Rc1/8| 12 | 64 [14.5| 124|136
40 24121 |22|41(10|20|33|14 32_8_04 16113.5(11 (50| 8 |46.5(7 |[15|M14x1.5 [21.5(42.5|M32%2.0(Rc1/4| 12 |88 [14.5| 153 | 165
PISCO i



45

PCMJ Series

PEN CYLINDER

Features

m High quality long service life
Stainless steel cylinder tubes offer a high resistance to
corrosion and low internal friction.

m Cylinder mountings

Available with a comprehensive range of accessories for rigid

or flexible mounting.

Specification

Tube 1.D. (mm) 26 210 216
Port size M5x0.8
Medium Air
Max. operating perssure 0.7 MPa
Il
Single gglrgr]l?ieyd 0.25 0.15
Min. operating  acting normally
Table for standard stroke perssure (MPa) returned 0.2 0.15
Acting Tube Stroke (mm) Max. stroke Double acting 012 0.06
type I.D. (mm) Proof pressure 1 MPa
26 15,30,45,60 60 Lubrication Not required
;Q’:;Tﬂg 12 210 15,30,45,60 70 Ambient temperature -5~+60°C (No freezing)
216 15,30,45,60,75,100,125,150 150 Available speed range 50~500 mm/sec
Double .. | 26 15,30,45,60,75,100 200 Max. allowable kinetic energy (J) 016 | 027 | o4
acting 210,16 | 1 150,200 300 Sensor switch RCM
* Intermediate stroke are available, please contact us. Sensor switch band BM6 | BM10 | BM16
Order example . .
Tightening torque
Tube Rod Ti?::sgieng End cap Ti?::ggieng
‘ ’_—|7 ’_—|7 —E‘ 1.D. thread (kgf-cm) thread (kgf-cm)
f 6 | M3x0.5 4.79 M6x1.0 |24.6~26.6
1: Single rod . 2
MODEL TUBE I.D. STROKE M: Magnet
2: Double rod 9 010 | M4x0.7 | 118 | M8x1.0 | 60~65
STYLE END COVER TYPE 216 | M5x0.8 22.8 M10x1.0 | 110~120
Code Symbol Description Code Symbol Tube I.D. * Make sure the tightening torque within the value
: above, and avoid breaking the thread.
111 DE:' agf:ltirae?éng/ B E@EEH 210,16 * The tolerance of tightening torque is +5%.
Single acting / Normally a1 R P 1 M ntin accessories
113 @E: extended male thread D TP (* | 21016 ount g
Single acting / Normally %
15 EE: returned male thread R 26,10,16 FA - PCMJ - .I 6
*Order example for special specification and
order for 21 or 27 type, please contact us.
. MODEL TUBE I.D.
Pin
PIN—PCMJ —10—Y —P =
- T T mm =
T | | T FA
PIN TUBE I.D. TYPE P: With split pin E[E% @piny | © Contains 1+PIN
Y: for Y & | connector SEd ] ] Y
D: for end cover D type
—D = [ ] I

PISCO



PCMJ Accessories

PEN CYLINDER

No. Accessories Material No. Accessories Material
1 | Mounting accessories LB Carbon steel 7 | Floating joint PFCS Carbon steel
2 | Mounting accessories FA Carbon steel 8 | Female rod ends PHS Carbon steel
3 | Mounting accessories T+I+PIN (*) | Carbon steel 9 | Sensor switch RCM+BM** -
4 | Accessories Y+PIN Carbon steel 10 | Fitting PC (PISCO) -
5 | Accessories I+PIN Carbon steel 11 | Speed controller JSC (PISCO) -
6 | Floating joint PFC Carbon steel

* Contains [+PIN. Only for end cover "D" type.

PISCO

46



PCMJ Dimensions-Double acting 10~216

PEN CYLINDER

2-M5x0.8 GA NN

I‘ / MM

oD

|
i
- (D
\
+
|
|

NA

S+Stroke H

Z+Stroke

C2

—Soe | A| B |B1|B2| C |C1|C2|D|F |[GA|GB|H |H1|H2| MM |NA(NB| ND" | NN |S|Z
10 15112 (11 7 | 14 |11.5( 8.1 28 | 4 |32 | M4x0.7 [12.5[9.5| 8 S| M8x1.0 | 46 | 74

16 15|18 |14 | 8 |20|162/92| 5 | 8 | 8 | 5 | 28| 4 |4 M5x0.8 [12.5| 9.5 | 10 30| M10x1.0 | 47 | 75

I
™
o

NB
n GB 2-M5xo'8

oC

U S+Stroke H

R Z+Stroke

C1
|

—Soe | A | B |B1|B2|C|CD|CX|C1|C2|D|F|GA|GB|H|H1|H2| MM |[NA|NB| ND™| NN |R|S|U|Z
10 15112 (11 7 | 14133 |3.2(12.7]| 81 3.2 | M4x0.7 |12.5|22.5| 8 3¢ M8x1.0 5146 8|82

16 15118 | 14| 8 |20|5 651162192 | 5|8 | 8 (23 (28| 4 (4 M5x0.8 (12.5|27.5| 10 0| M10x1.0 | 8 |47 [ 10| 85

I
@
@
N
@
N
@
IS

PISCO



PCMJ Dimensions-Double acting 26~216

PEN CYLINDER

26
2-M5x0.8 GA NN
oC 29 MM
‘o /
[ | I 14 2
- e — Bl e s O s
I { \_/ L]
—/ |n
(S
08
o NB F A
OB
e E—
S+Stroke H
Z+Stroke
210~216
NN
2-M5x0.8 GA |
/ MM
I S A
p4
Q
I
NB
S+Stroke H
Z+Stroke
‘ NN
AN —
7 \ —
A 49; Y
o —/
B1 H1
- - - -
Tiide_ A|B |(B1|(B2|C|C1|{C2|D|F|GA[H|[H1|H2| MM |NA|NB| ND"™ NN S| T|Z
6 15 | 12 8|55(14| 92|64 | 3 | 8 |145|28| 4 |24 | M3x0.5 |16 |7 6,8‘022 M6x1.0 (49| 3 |77
10 15 (12 | 11 |7 14(12.7(81 | 4 [ 8 | 8 28| 4 |3.2 | M4x0.7 |12.5|9.5 8_8‘022 M8x1.0 (46| — |74
16 15118 | 14 |8 20(16.2|92 |5 (8| 8 |28| 4 |4 M5x0.8 |12.5(9.5 [ 10 $0,0| M10x1.0 [ 47 | — | 75

PISCO

48



PCMJ

Installation of sensor switch g6~216

49

PEN CYLINDER

H Installation of sensor switch

Sensor switch: RCM

Sensor switch band: BM**

| ] o, ]
eI hb =107
- 1 ] 1
c
E
-
N © =3
< + T
<> o —— [ [ ”‘ IH I l
Z2 | - l \ ]
Cod:
Tubz I(.ED4 A B c D E
6 |15|21[10] 1628
10 [17 |23 |10 16 | 28
16 [ 20|29 | 10| 16 | 28
B Cylinder & accessories weight
Cylinder weight Unit: g
Model Basic weight Stroke 15 mm Basic weight Stroke 15 mm Basic weight Stroke 15 mm
ode PCMJ-11-B PCMJ-11-B PCMJ-11-D PCMJ-11-D PCMJ-11-R PCMJ-11-R
26 - - - - 18
210 21 4 24 4 23
216 46 7 52 8 46
Accessories weight Unit: g
Model LB FA T Y | Pin
Tue | g A== a
26 9 5 = = = =
210 9 5 14 22 16 1
216 21 13 54 17 21 3

PISCO



PCGS Series @6, 310

TWIN-GUIDE CYLINDER

Order example

PCGS —6—10

T

MODEL TUBE I.D. STROKE
Cylinder weight Unit: g

Tube Stroke (mm)

I.D. 5 10 15 20

26 29 34 39 -

210 41 49 57 65

Installation of sensor switch

Watchmakers /

screw driver

Sensor switch RDGV

Allowable rotational torque
& Non-rotating accuracy

Unit: N.m
Tube Stroke (mm) Non-rotating
1.D. 5 10 | 15 | 20 | accuracy 6
26 0907 |06 —

+0.15°
210 | 47 [ 39 | 3.3 | 2.8

PISCO

Features

e Multi-ports as standard enabling both direction mounting.
e Non-rotating accuracy + 0.1°
o Embedding type sensors.

e The sensor cable will be in the same direction as the piping
tube if vertical type sensor switch (Angle cable) is used.
o Magnetic as standard.

Specification

Model PCGS

Acting type Double acting

Tube 1.D. (mm) 6 10
Stroke (mm) 5,10, 15 5,10, 15, 20
Port size M3x0.5

Medium Air

Max. operating perssure 0.7 MPa

Min. operating perssure 0.15 MPa

Proof pressure 1 MPa

Lubrication Not required

Ambient temperature -5~+60°C (No freezing)
50~400 mm/sec
RDGV

* This product is not applicable for stopper purpose.

Available speed range

Sensor switch

Allowable lateral load

L
L ”—T‘
-
i 77
W 7
| w ~

70 1 |

60 PCGS-g6 —— 260 1
s @ggg < PCGS-g10 —
= 50 ~N

200 -
% 40 180 = <
@ © 160 = —
£ 30 st=5 & 140 — st=5
~d

g 20 st=10 g 120 \\ st=10
S 5100 — st=15

10 st=15 80 st=20

0 0
0 5 10 15 25 0 5 10 15 25

Eccentric distance L (mm) Eccentric distance L (mm)

Allowable eccentric load

Operating pressure

3 iii — 0.3MPa
==== 0.5 MPa or more
L L I R
1 \ Lo 1
| L - —
¢ 1 [T ¢ ]8 ~N
TIITIT l T l = RN PO
| w L lw § N1 N
i i 5 01 26 EEEE%\ —
| | © TS
‘ ‘ o i
‘ ‘ iii
| |
A Z |||
0.01
041 1 10 20

Eccentric distance L (mm)

50



PCGS Inside structure & Parts list @6, 210

TWIN-GUIDE CYLINDER

Inside structure & Parts list Material
@@ No.| Part name Material Qy Repair kits
(inclusion)
= 1 |Body Aluminum alloy 1
wrl rﬂ 2 | Rod cover Aluminum alloy 1
) o C . 3 | Piston-H Aluminum alloy 1
@\ RN /@ 4 | Piston-R Aluminum alloy 1
@\ — 5 | Piston rod Stainless steel 1
N i L /@ 6 | Guide rod Carbon steel 2
7 |Plate Aluminum alloy 1
@\\ — = /® 8 | Magnet ring Magnet material 1
—| 9 | Cushion NBR 1 o
O 10 | Cushion NBR 1 ( ]
11 [ Bush Copper 2
12 | Piston seal NBR 1 ( }
13 | Rod seal NBR 1 [ ]
.. 14 | O-ring NBR 1 (]
Order example of repair kits 15 [Scrow Carbon Stoal ]
Tube I.D. Repair kits 16 | Screw Carbon steel 2
26 PS-PCGS-6
210 PS-PCGS-10
Dimensions
L+Stroke R
BC FC L1+Stroke 2-UN depth MA  MB
2-gQ thru
(Mounting holes) ~
>L J 4
e e ar °
B _ I G
9\ ()\ Do
2EF i \j 2-M3x0.5 %jy !
= ) -
BD ‘ FD ‘ N1 N2 2-ZA s 4-XB depth
G - (Mounting holes)
Ti‘;de_ A |BC|BD|CP(CQ| D | E EF FC|FD|( G |H | L |L1|MA[MB|N1|N2
6 28 9|6 [20.5(15 |20.5 9 [M2.5%x0.45thru (4535|9529 | 23 |[185| 6 |3 7 |4
10 32 |10 | 75|23 |17.5(23 11 | M3x0.5 thru 6 5 85 (33|25 |19 8 |35 7 |45
e lo|lP|Q|R|s|TA| UN XB | zA
6 2 |20.5|3.3|145|6 12 | ©6.2x0.5 | M3%x0.5%x5 | 21.2
10 3 (23 |43 (17 | 75| 15 [@8%x0.5 |M4x0.7x5| @2

PISCO



PCGS Series 912~263

TWIN-GUIDE CYLINDER

Order example

PCGS —03—12—-50—-20—-G

MODEL

PURPOSE / TYPE OF BEARING

—I_l—l—l—l_ T

TUBE I.LD. STROKE

ADJUST
STROKE
(for 07, 27 type)

PORT THREAD

Blank: M5x0.8
(for 812, 216)

Blank: Rc thread

Features

e Proven track record in manufacturing precision guided cylinders.
e Multi-Ports as standard enabling two direction mounting option.

e Flush fitting sensors.
e Magnetic as standard

Specification
Model
Acting type Double acting
Tube 1.D. (mm) 12,16 20,25,32,40 50,63
Port size M5x%0.8 Rc1/8 Rc1/4
Medium Air
Operating perssure range 0.1~1 MPa
Proof pressure 1.5 MPa

Ambient temperature

—5~+60°C (No freezing)

Cushion

With rubber cushion pad

Available speed range

50~500 mm/sec

Lubrication

Not required

RCE, RCE1, RDEP

Installation of sensor switch

- G: G thread Sensor switch
Code Purpose / Type of bearing NPT: Ng)'? thread
03 | Stop / Slide bush (for 820~263)
07 | Stop / Slide bush / Stroke adjustable
23 Push / Linear bearing
(Could attach a table for the use as a lifter)
27 Push / Linear bearing / Stroke adjustable
(Could attach a table for the use as a lifter)
Table for standard stroke
Series variety | Tube Stroke (mm)
(Bearing type) | 1.D. | 10|20 |25 30|40 |50 |75 [100]125(150|175|200(250 (300|350 (400
212
216
PCGS-03 020 —
: 225 e
PCGS-07 30" —
(Slide bush) |-2
240 o
250 p—
263 o
212
216
PCGS-23 020 —
) 225 e
PCGS-27 30 —
(Linear bearing £
240 o
250 o
263 p—

*Tube |.D. @32: 25mm for the shortest standard stroke.
* Adjustable air cushion type, please contact us.

PISCO

Sensor switch

" RCE, RCE1

Sensor switch
/ RDEP

Watchmakers

.~ screw driver

52



PCGS Capacity 212~263

TWIN-GUIDE CYLINDER

Capacity graph

Capacity for the use as a stopper

| \Y

~~—

Linear bearing type is not
available as a stopper.

Stop capacity
PCGS-03/07 ...30st ¢12~332

L

W=W'x—

4

For the use of attaching a
plate to the link bar, choose
a bore size referring to the

gBOO T
2 032 formula below.
%’ W: The maximum weight
"o 200 \ of the work carrier in
: ’”2‘5 the above graph for
2 the stopper's capacity.
g100 | o pp pacity
: 216 \ \ L.
;3 EANNS— Coefficients for
0 10 20 30 conversion
Work carrier speed (m/min)
Tube 1.D. 14
PCGS-03/07 ...25st 240~263
212 40
1000 -
) 2 216 42
— 500
5, 400 220 42
‘© 300
E 200 225 42
.0
% 100 232 44
© 240 72
%‘) 50
5 10 20 30 40 50 263 78

Work carrier speed (m/min)

Normal lateral load
PCGS-03/07 ...30st

1000
z
®
32
2 500 * P
© 225
Q@ 020 | —"|
© = 216 ]
// 212

0 02 04 06 08 1
Working pressure (MPa)

53

Capacity for the use as a lifter

Allowable eccentricity load for the use as
a lifter (at supply pressure 0.5 MPa)

Show the dynamic allowable value at
L(mm) eccentricity from the center of the
guide rod.

4

Slide bush

PCGS-03/07
212~232...10-50st

z

g 232

3 200 Vi

o s\,

s \(’ 220

5 | eer

o 100 216

(8]

@ _\% 012

<2 _i

8 —

3 0 100 200 300

< Eccentric throw (mm)
212~932...0ver 51st

g — 232

®

o 200

8 | @25 \

<

8 100 =220

b 216

o o2 —

% (ES—

g 0 100 200 300

< Eccentric throw (mm)
240~263...25-50st

z 963 150

- 1000 240—

® 500

o

5 200

s 100

C

[0]

3

S 10

<2

o)

g 1

3

2 10 20 30 50 100 200

< Eccentric throw (mm)
240~263...0ver 51st

Z 2000 063—]

- 1000 850 ‘

© 240

o 500 ¥

o 300

E 200

8 100

(]

[0

o) 30

re) 20

© 10

(_;3 10 20 30 50 100 200

< Eccentric throw (mm)

Linear bearing

PCGS-23/27

212~332...10-50st

z

o 232

g 200 || 025

) \’/ﬁ

= 220

§ 100 _W g6

[0 :\& 212

<@

R =SS

3 o 100 200

< Eccentric throw (mm)
212~932...0ver 51st

g o 3 2-

®

o 200

2 | 25 \\

c

€ 100 Loz I\

3 216

() 212

3 o0 100 200

< Eccentric throw (mm)
240~263...25-50st

g 1000

he)

© 500 AN

o 488 2\

o 200

c \

[0 100

3

& X

Ire! 30

[}

(_;3 1 235 10 20 50100 200

< Eccentric throw (mm)
240~263...0ver 51st

g 1000 '”bd‘

ko] 250

@ 500 s

S 4"

L2 200 NN

<

(0] 100

Q

(8]

2

% 30

[}

(_;3 10 20 304050 100 200

< Eccentric throw (mm)

300

PISCO

300



PCGS Capacity 212~263

TWIN-GUIDE CYLINDER

Capacity table
Allowable lateral load

N

Shows the dynamic allowable value,
when actuating the cylinder with lateral
load W at the guide rods' top (vertical
load against the guide rods).

Allowable rotating torque

i

Shows the dynamic allowable value,
when actuating the cylinder with a
rotating torque T at the guide rods' top.

Anti-roll accuracy

L

\ ,,1{9
o=

e The values are the deflection
angle against the piston rod.

e Exclusive factor of the guide
rods' deflection.

PISCO

Unit: N
Tube . Stroke (mm)
ID. Bearing type
10|20 (25|30 | 40 | 50 | 75 |100|125|150|175|200|250 300|350 (400
12 Slide bush 31|24 — | 19| 16| 13| 37| 31| 15[ 13| 12| 10| 9| — | — | —
2 Linear bearing 23|17 | — | 14| 34| 30| 23| 19| 12| 11| 9| 8| 6| — | — | —
16 Slide bush 50 39| — [ 32| 27| 24| 54| 45| 27| 24| 21| 19| 16| — | — | —
2 Linear bearing 36|29 | — | 24| 59| 52| 40| 33| 20| 17| 15| 13| 10| — | — | —
20 Slide bush — | 51| — |44 | 39| 35| 54| 46| 74| 66| 59| 54| 28| 24| 21| 19
2 Linear bearing — | 43| — [ 36 | 98| 87| 69| 57| 46| 40| 36| 32| 32| 27| 23| 20
05 Slide bush — | 68| — | 59| 52| 46| 72| 61| 98| 88| 79| 72| 53| 46| 41| 37
2 Linear bearing — | 67 | — | 56 [148[132[105| 87| 70| 62| 55| 50| 42| 36| 30| 27
32 Slide bush — | — |165| — | — [129|106| 90|138|123|111]|101| 88| 77| 68| 61
2 Linear bearing — | — |104| — | — [ 74[165[138|114]|100| 90| 81| 66| 56| 48| 42
40 Slide bush — | — |203| — | — [164[182]159|142]|127]|190|174|150|132| 118|106
@ Linear bearing — | — |13 — | — | 78[129|106|130|114|106| 95 | 78| 67| 58| 50
0 Slide bush — | — |296| — | — [245(273|241|216]|195]|190|174|150(132(118 (106
28 Linear bearing — | — |120| — | — | 83[178|148|148]|129]|106| 95 | 78| 67| 58| 50
63 Slide bush — | — |296| — | — [245(273|241|216|195| — | — | — | — | — | —
2 Linear bearing — | = |17 — | — | 81 |176[145|145|126| — | — | — | — | — | —
Unit: N.m
Tube . Stroke (mm)
ID. Bearing type
10 (20 [ 25 | 30 | 40 | 50 | 75 |100|125|150| 175|200 250 300 ( 350 (400
12 Slide bush 0.64/0.48| — |0.39|0.32|0.28|0.75|0.63|0.15|0.13(0.12({0.11({0.09| — | — | —
2 Linear bearing  |0.47]|0.35] — ]0.29|0.71]|0.62|0.40(0.38(0.13[0.11(0.09|0.08|0.07| — | — | —
16 Slide bush 1.14/0.90] — |0.74/0.63|0.55(1.23(1.04(0.31(0.27(0.24]|0.22|0.18]| — | — | —
e Linear bearing  |0.84|0.66] — |0.54|1.35|1.19|0.93(1.76(0.23[0.19/0.17|0.15]|0.12| — | — | —
20 Slide bush — |1.14] — [1.21[1.07(0.95(1.49(1.25|2.03|1.81|1.63|1.48|0.37]|0.32|0.29|0.26
2 Linear bearing — |1.19] — |0.99|2.69(2.40(1.89(1.56|1.26|1.10|0.98|0.88|0.43]|0.36|0.31|0.27
225 Slide bush — |2.19] — |[1.88(1.65[1.47(2.31(1.94|3.15|2.80|2.52|2.30|0.85|0.74|0.66|0.59
Linear bearing — |2.14] — |1.79(4.74(4.22(3.36(2.78|2.25|1.98|1.76|1.59|0.68|0.57)0.49|0.42
32 Slide bush — | — |6.61] — | — [5.16[4.23(3.59|5.52|4.93|4.45|4.06|1.72|1.50|1.33|1.20
2 Linear bearing — | — |417| — | — [2.95[6.60(5.52|4.56|4.02|3.59|3.24|1.29]|1.09|0.94|0.82
20 Slide bush — | — |7.00] — | — [5.66(6.27(5.48(4.87|4.38|5.21]|4.79|4.13|3.63|3.23|2.92
2 Linear bearing — | — |5.24| — | — [4.25[7.19(6.33|7.81|7.11|2.93]|2.61|2.16|1.83|1.58|1.39
50 Slide bush — | — [13.0] — | — |10.8/12.0]|10.6(9.50|8.60(5.88|5.41(4.66|4.09(3.65|3.29
2 Linear bearing — | — |7.02] — | — [5.76[12.3[10.9]11.2]{10.2|3.30|2.94|2.43|2.06|1.78|1.57
Slide bush — | — |14.7| — | — [12.1[13.5[12.0{10.7|19.69| — | — | — | — | — | —
2 Linear bearing — | = |7.77) — | — |3.35|13.7{12.2|125|114| — | — | — | — | — | —
. Anti-roll accuracy
Tube I.D. Bearing type 0
Slide bush +0.09°
212 - - 5
Linear bearing +0.06
Slide bush +0.08°
216 - - 0
Linear bearing +0.06
Slide bush +0.08°
= Linear bearing +0.03°
Slide bush +0.07°
625 Linear bearing +0.05°
Slide bush +0.07°
2R Linear bearing +0.03°
Slide bush +0.06°
2 Linear bearing +0.08°
Slide bush +0.05°
22 Linear bearing +0.06°
Slide bush +0.05°
& Linear bearing +0.06°
54




PCGS-03/23 Dimensions 912~232

TWIN-GUIDE CYLINDER

+0.07

BXA S5 x6 dp WB 4-yy

[
+0.07
+0.02

\
\
¢
O

(1Y o - M\ wf )
| X N = I <
N =3 A |
= XY:
XA >+<| A R A XA
|| =90 BAAY 3
u — 6
zZ| WA XY
Back side
S 4-gOA thru
4-NN thru L 4-MM
— Q Z WA 4-90B o
[a)
ey IS}
[ o -
(A4 U |
N7, - 7 !
f Lo O—©
T N T =y ! E—1
| x| o -fi .C) ] % | X é
N > — 1S =] 2p =
7z %) | E
(2N T -0- W'l
O\ I A
Py ik ik
J K GA GB +
aXA™x6 dp ‘G PA+stroke XAl x 6 dp
FA FB C+stroke
B+stroke E
PCGS-03/PCGS-23
Code DB
= B C |DA FAIFB| G |GA|GB|H|J |K|L MM NN OA OB P PA | PB
ube |.D. 03 type | 23 type

12 [42 |29 6| 8| 6| 8] 5{26[11 [15“"[58] 13|13 | 18 |M4x0.7x10dp | Max0.7 | 4.3|8.0x4.5dp | M5x0.8 [14 | 85
16 |46 |33 8| 10| 8| 8| 5[30[11 [18*2|64 ]| 15| 15|22 |M5x0.8x12dp | M5x0.8 | 4.3|8.0x4.5dp | M5x0.8 [15 [10.0
20 |53 [37 | 10] 12| 10]10] 6] 36[105] 8585 17 [ 19 ] 24 [M5x0.8x13dp | M5x0.8 | 5.2]9.5x5.5dp | Rct1/8 [12.5 [11.5
25 [535[375] 12| 16| 13| 10| 642 {115] 9 [96| 21|21 |30 [Mex1.0x15dp | Mex1.0 |5.2[9.5%55dp | Rct/s [12.5 [13.5
32 |[595(375] 16| 20| 16]12][10| 51 [125] 9 [116] 26| 25 | 34 [ M8x1.25%20dp| M8x1.25 | 6.6 [11.0x7.5dp| Rct/8 | 7 [16.0
e |PW| Q| R|S|T| U |VA| X |XA|XxB YY z

12 |18 |14 |48 | 22| 56|415|50 | 23| 3 |35 |Msx08xtodp | 5 | PCGS-03 PCGS-23

16 |19 [16 54|25 62[46 [56 24| 3 [3.5[Mm5x0.8x10dp | 5 it E T E

20 25 18 |70 [ 30 | 8155 72128 | 3 |3.5|M6%1.0x12dp | 17 Tube 1.D. \[10~50st|51~100st| 101st~ Tube 1.D. \[10~30st|31~100st| 101st~

25 |285]|26 |78 (38| 91|65 [82]34] 4 |[45]|mex1.0x12dp | 17 12 | — |185 | 43 12 | 1| 13| 43

32 [34 [30|96]|44]110{80 [98]|42] 4 [4.5[msx1.25x16dp| 21 16 | — [185 | 49 16 | 3 [ 19 | 49

Gt WA WB 10~50st|51~200st| 201st~ 20~30st| 31~100st [101~200st| 201st~
Tube I.D. ~39st | 40~100st | 125~200st [ 201st~300st| 301st~ ~39st | 40~100st [ 125~200st | 201~300st| 301st~ 20 — LD 20 10 2 51 69
12 | 20 [ 40 | 101 200 — | 151 25 | 60 | 105 | — 25 | — | 315685 25 [16 [32 |51 [ess
Tl | wlanl = &1l sl = 32 [375] 425805 32 [215](385 | 585 [805

20 24 44 120 | 200 | 300 29 39 77 17 | 167
25 24 44 120 | 200 | 300 29 39 77 17 | 167

Code WA WB

Tube I.D. \| 25~49st | 50~100st | 125~200st|201st~300st| 301st~ | 25~49st |50~100st [ 125~200st| 201~300st [ 301st~
32 24 48 124 | 200 | 300 33 45 83 121 | 171

*1. When stroke length is equal to 19mm or less, GB=7.5 mm
*2. When stroke length is equal to 19mm or less, GB=9 mm

55 PISCO



PCGS-03/23

Dimensions 240~@63

TWIN-GUIDE CYLINDER

4-yy
@XA 1605 *XL dp
— T slot for hexagon head bolt
< ‘ ‘ =
3O 1O T a— JE T
N R ]
BXA™ ‘ BXA +002 ‘ >$<7 c_|d_
A XY o .. e
L] & X¥o3 & |
| |
XTI < a]—l—'r *%7 T slot for hexagon head bolt
gl e S ] feip @ | b|c[d]e
wB 4 6.5 [10.5] 55|4 1
XX XY 0
= = N1‘ N2 50 8.5 (135 7.5|14.5(13.5
63 " 17.8] 10 7 18.5
Back side
4D K1,5 N1 N2 4-M H 4-DD
] ?_ = [T
L> )0 et g ’
— % @} @)
XX g
S IS
S - &
duio § | @ | <iF————~ :
‘ ‘ z
E,& o 1O OF
[ ‘ - / ’
SXAXXL dp /L. EF1 ! oc| | 2.p/ BB L2 | B oXA DY
GA B2 B1
PA+stroke B
L1+stroke
L+stroke
PCGS-03 / PCGS-23
e | A|B|B1|/B2|C| D DD E|E1|F |G |GA|GB|GC|H|K |K1|L1 M N1 P
40 |120| 54 |27 | 27 | 106 | M8x1.25 | M8x1.25x20 dp [104| 30 | 44 | 86(14 |10 [14 |40 [118| 12 | 44 |06.8thru, 811x7.5dp | 22 | Re1/8
50 148 | 64 [ 32 | 32 (130 M10x1.5 | M10%1.5x22 dp |130| 40 | 60 | 110 |14 |11 12 46 | 146 | 16 | 44 |28.6thru, 14x9dp 24 | Rc1/4
63 162 | 78 [ 39 | 39 (142 M10x1.5 | M10%1.5x22 dp |130| 50 | 70 | 124 |16.5 |13.5 [16.5 | 58 [ 158 | 16 | 49 |©8.6thru, 14x9dp 24 | Rc1/4
Code
PA|PB|Q1|s |vB|w/| X |xA|xB|xc|xL Yy N2 we
Tube I.D. 25st | 50,75,100st | 101st~200st | 201~300st | 301~400st | 25st | 50,75,100st | 101st~200st| 201~300st | 301~400st
40 13 |18 16 (10| 72( 38|50 | @4 |45( 3 6 | M8x1.25x16dp |24 48 124 200 300 |34 46 84 122 172
50 9 (215|120 |12| 92|47 | 66 | 85 (6 4 8 | M10x1.5x20dp |24 48 124 200 300 |36 48 86 124 174
63 |14 |28 [20[12]110[55[80|e5]6 | 4 | 8 | Miox1.5x20dp [28] 52 | 128 | — — 38| s0 88 R
PCGS-03 PCGS-23
Code |_ L2 Q Code |_ |_2 Q
Tube I.D. \| 25,50st | 51st~ | 25,50st | 51~200st | 201~400st Tube I.D. \| 25,50st | 75,100st | 101st~ | 25,50st | 75,100st | 101~200st [ 201~400st
40 97 | 102 | 31 36 63.5 | 220 40 81 98 | 118 | 15 32 52 725 | 216
50 [106.5] 118 [34.5 | 46 | 785 | 025 50 | 93 | 114 |134| 21 | 42 | 62 | 875 |w20
63 106.5| 118 | 29.5 41 - 225 63 93 14 | 134 | 16 37 57 - 220

PISCO




PCGS-07/27 Dimensions 12~220

TWIN-GUIDE CYLINDER

237907 x6 dp

WB
_ J_ﬁ = N
4-YY [ S— ,7,7,;i|
0 é - 0
3 R s S 1] o C
x| e e 4 !
% 3t 2 Es = - 3 m 3 1] 58
— © S T So
6 S AN > 6 ¥
e ] Qe 0 g o] %
XX - XY
Z| wa
Back side
4-gOA thru L
S Z, WA 4-50B =
4-NN thru Q E § M
_ | & T N
U [ I ,7,,7,% 9%4\ d
- ‘ A
Ren® RY 7R - MC Across flats MD ;
"ﬁ’ ) N :]
e <  — -g o
B _he B [ Y e —— ( BS——— R < <
Im:{@ 35 »—xg[iz_y —F— _,___E h/% < <
L ' Y ye—— 3
/g 2 O | |
& i 7@77””
@D$ s M) 3 o
e3x6dp /| J | K 2P GA TGB || MT MK 2P 7 P8
G PA+ST =
FA FB C+ST ST MN+ADJ
B+ST MH+ST+ADJ *ST = Stroke
ZZ+2xST+ADJ ADJ = Adijust stroke
PCGS-07 / PCGS-27
C
= ode B C (DA ot FA|FB| G [GA|GB|H|J |K| L |[MA(MB|MC| MD |MG|MH|MK|MN MM MT
ube I.D. 07 type | 27 type
12 42 |29 | 6| 8 6| 85 |26|11 |[15%"| 58|13 |13 |18 |27 |13 | 8 |M5x0.8 | 12 | 23 | 4 | 13 | M4x0.7x10dp| 3
16 |46 [ 33| 8| 10 | 8 | 8| 5 |30|11 [18*? 64 |15| 15|22 |28 [ 16 | 10 [M6x1.0 | 15 | 26 | 5 [ 15 [ M5x0.8x12dp| 3
20 53 | 37 [10| 12 | 10 |10 | 6 |36 [105| 85(85 |17 |19 |24 |33 |22 | 13 [M8x1.25 20 | 26 | 5 | 12 | M5x0.8x13dp
-k | NN |OA| OB P |[PA|PB|/PW|Q|R|[S|T|U|VA|X YY z|zz
12 [ M4x0.7 | 4.3 |8x4.5dp [M5x0.8(14 85| 18 |14 |48 | 22| 56 |41.5| 50 | 23 |M5x0.8x10dp 65
16 | M5x0.8 | 4.3 |8x4.5dp [M5x0.8({15 [10.0| 19 | 16 | 54 | 25 | 62 |46 | 56 | 24 [M5x0.8x10dp 72
20 | M5x0.8 | 5.2 |9.5x5.5dp| Rc1/8 [12.5 [11.5| 25 | 18 | 70 | 30 | 81 |55 | 72 | 28 |M6éx1.0x12dp| 17 | 79
PCGS-07 PCGS-27
Code WA WB Code E Code E
Tube I.D. 10~39st | 40~100st | 125~200st [201st~300st, 10~39st | 40~100st | 125~200st | 201~300st Tube I.D. \| ~50st [51~100st| 101st~ Tube I.D. ~30st [31~100st| 101st~
12 20 | 40 | 110 | 200 15 | 25 | 60 | 105 12 0 | 185 | 43 12 1 13 43
~39st |[40~100st | 125~200st | 201st~300st, ~39st |40~100st | 125~200st | 201st~300st 10~50st|51~100st| 101st~ 10~30st | 31~100st | 101st~
16 24 | 44 | 110 | 200 17 | 27 | 60 | 105 16 0 | 185 | 49 16 3 19 49
~39st | 40~100st | 125~200st [201st~300st| 301st~ ~39st |[40~100st | 125~200st | 201st~300st| 301st~ ~50st |51~200st| 201st~ 20~30st | 31~100st [101~200st| 201st~
20 24 | 44 | 120 | 200 | 300 | 29 | 39 | 77 | 117 | 167 20 0 | 315 69 20 10 27 51 69

*1. When stroke length is equal to 19mm or less, GB=7.5 mm
*2. When stroke length is equal to 19mm or less, GB=9 mm

57

PISCO



PCGS-07/27 Dimensions 825~263

TWIN-GUIDE CYLINDER

BXA Lo 03 xXL dp
4-YY y4 WA
D) = el
Q Q
| T _ «
XB g XB
- A +0.07
gﬁf €) H}\‘B\x 231002 ‘
| ol N
a1
2 - 2
) OXY & !
o Toa <& 0 It S
XX u | XY
WB Back side
s 4-gOA thru L
4-g0B
z WA E
4-NN thru [oi)
e fa)
Q
I
% MC Across flats
MD
S o
| x|l > 2 - x|+ =
<
=
— © g =
XA xXL d — O
L= fﬁ,i,i,iw,,,4
2-P - i
2P A
J K GC
A leal GB MT
PA+ST /
FAFB C+ST ST MN+ADJ| || MK
v * —_
ST = Stroke
B+ST MH+ST+ADJ .
+S ADJ = Adjust stroke
2Z+2xST+ADJ
PCGS-07 / PCGS-27
Cod
= o B | C [DA e FA|FB|G|GA|GB|GC|H |J|K|L |MA(MB(MC| MD [MG|MH|MK|MN MM MT
sz, 07 type | 27 type
25 53.5(37.5( 12 16 13 10 6 |42 (115 9 |11.5| 96(21]|21|30| 41 | 25 | 17 (M10%1.25| 20 | 27 | 6 | 12 | M6%1.0x15dp | 5
32 59.5(37.5( 16 | 20 16 12 1 10 (51 (125 9 |12.5(116|26|25|34 | 51 | 32 | 19 (M12x1.25|/ 30 [ 30 | 7 | 12 | M8%1.25%x20dp| 6
40 66 |44 16 | 20 16 12 1 10 (54 (14 |10 |14 (120|27 |27 |40 60 | 32 | 19 [M12x1.25/ 30 [ 30 | 7 | 12 | M8x1.25%x20dp| 6
50 72 |44 20 | 25 20 [ 16 | 12 |64 (14 |11 |12 |148(32|32|46| 71 | 38 | 24 |[M16x1.5 | 35 (38 [ 8 | 15 | M10x1.5%x22dp| 8
63 77 |49 20 | 25 20 16 | 12 | 78 [16.5(13.5(16.5(162 (39| 39|58| 84 | 50 | 24 |M16x1.5 | 35|38 | 8 | 15 [ M10%x1.5x22dp| 8
coe | NN |[oA| oB P [palPBlPw[a|R|s|T]u|va|x|xa|xs|xc|xL YY z|zz
25 M6x1.0 | 5.2 |9.5x5.5dp | Rc1/8 [12.5 |13.5 |28.5( 26 | 78| 38 | 91 6582 |34 | 4 |45 3 6 | M6x1.0x12dp 17 | 80.5
32 M8x1.25| 6.6 | 11x7.5dp | Rc1/8 | 7 16 34 30| 96|44 (110| 80| 98 (42| 4 (45| 3 6 |[M8x1.25x16dp | 21 89.5
40 M8x1.25| 6.8 | 11x7.5dp | Rc1/8 |13 18 38 30 104 44 (118 86 (106 50 | 4 |45]| 3 6 | M8x1.25x16dp | 22 | 96
50 M10x1.5| 8.6 | 14x9dp Rc1/4 |9 21.5 | 47 40 [130| 60 |146| 110 | 130| 66 | 5 6 4 8 | M10x1.5%x20dp | 24 | 110
63 M10x1.5| 8.6 | 14x9dp Rc1/4 |14 28 55 50 [130( 70 (158 124 [142| 80 | 5 6 4 8 | M10x1.5%x20dp | 24 | 115
Code WA WB PCGS-07 PCGS-27
Tube 1.D. \[ =39t |40-100st 125~200st[201s-300s] 301st- | ~39st | 40-100st 1252005t 201-300st] 301st-
Code E Code E
25 24 44 120 | 200 | 300 | 29 39 77 | 117 | 167
~49st | 50-100st 125-200st|201s-300st] 301st~ | ~49st |50~100st 125-200st|201s-300st] 301t~ WEDHR: V| S0l | Si-2eisd | 2Vl || OO (o) | S0 || SRR  fIRi-vs]|_abist
32 T4 48 124 | 200 | 300 | 33 | 45 83 | 121 | 171 25 | 0 |315]685 25 | 16 | 32 | 51 | 685
~49st | 50-69st | 70~100st| 125-200st|201st-300st] 301st- | ~aost | 50-69st | 70~100st|125-200st [201st-300st| 3015t 32 |375|425]805 32 20550e 1515100511015 2005 {MA01S(%
40 1754 |48 | 48 | 124 | 200 | 300 | 34 | 46 | 46 | 84 |122 | 172 40 | 31 | 36 | 635 21.5 | 385 | 585 | 80.5
~49st | 50-69st | 70~100st | 125-200st|201st-300s(] 301st- | ~aost | 50-69st | 70~100st|125-200st [201st-300s(] 01t~ 50 |345]| 46 | 785 40 005t (17 01 00sH(1015 2005 20Tt
50 54 [ 48 | 48 | 124 | 200 | 300 | 36 | 48 | 48 | 86 | 124 | 174 “sost | 51e 15 | 32 | 82 | 725
~49st | 50~100st 1255t ~49st |50~100st 1255t~ 63 205 | 41 50 21 42 62 87.5
63 28 | 52 128 38 | 50 88 63 ~69st | 70~100st [ 101st~
16 37 57
PISCO 58



59

PCGS / PCGB A Precautions Read before installing

TWIN-GUIDE CYLINDER

Handling
& Caution

@ Please control the cylinder within the allowable speed
range:
If the cylinder is not using the speed control valve, it may
occur beyond the speed range of the piston. If it is used
outside the allowable speed range, it will cause cylinder
damage or reduce product life. Therefore, please install the
speed control valve and adjust the speed within the allowable
range. The product allowable speed is shown in Table 1.

@ Please note the speed control during vertical installation:

When the cylinder is used vertically, if the load rate is large,
it will cause the speed control valve to exceed the upper limit
and could cause sudden unintended acceleration which will
affect the product life. Therefore, it is recommended to use a
dual speed controller.

© The lateral load of the cylinder during the operation must
be within the allowable range:

Exceeding the allowable value will prevent the cylinder from
operating properly and affect the life of the product.

@ Do not scratch the mounting surface of the cylinder body
and end plate to avoid affecting the flatness:

If the flatness of the mounting surface is poor, the cylinder will
malfunction. The mounting surface of the cylinder body and
the end plate should have a flatness of less than 0.05 mm.

© Do not cause surface damage or impact marks on the
operating parts of the piston rod and the guide rod:

Damage to the appearance will result in damage to the seal
ring which could cause leakage or malfunction of the cylinder.

Load value (kg)

100 @63

F250:
240

232

225
F220
216

| 12

0.1

0.01

100 200 300 400 500

Maximum speed (mm/s)

Table 1

PISCO



PCDA Series

DUAL-ROD CYLINDER

Features

e Compact in width and length with precision guidance.

e High lateral loads can be applied on both slide and linear
bearing unit.

e Magnetic as standard.

Specification
Acting type Double acting
Tube 1.D.(mm) 6 | 12| 16 | 20 | 25 | 32
Port size M5x0.8 Rc1/8
Medium Air
Operating Max. 0.7
pressure range
(MPa) Min.| 0.15 0.1 0.05
Proof pressure 1 MPa
Ambient temperature -5~+60°C (No freezing)
Cushion With rubber cushion pad (both side)
Available speed range | 50~300 50~500 mm/sec
@ L Not required
Lubrication (If lubrication is used, apply turbine oil NO1 ISO VG32)
Sensor switch RCE, RCE1, RDEP
Order example Table for standard stroke
PCDA — 03 —12 —50— |:| Tube 1.D. Stroke (mm)
| | 26 10,20,30,40,50
212 10,15,20,25,30,35,40,45,50,60,70,75,80,90,100,
110,120,125,150
MODEL TUBE I.D.
216 10,15,20,25,30,35,40,45,50,60,70,75,80,90,100,
PORT THREAD 110,120,125,150
Blank: M5%0.8
TYPE OF BEARING STROKE  (for 06~520) e
i Blank: R thread 225 10,15,20,25,30,35,40,45,50,60,70,
03 | Slide bush G: G thread 75,80,90,100,110,120,125,150,175,200
23 | Linear bearing ::;T;%P;;gr)ead 2

e Please contact us if the stroke is out of specification.
e |t is possible to adjust length of basic stroke by 0~5mm.

Cylinder weight  unitg

Basic weight | Stroke 5mm

Model | ™ pcpa PCDA
Tube o o1

ID. I 6 © A @‘ ‘@

26 85.8 7.5
212 150 8
216 222 13
220 376 18
225 557 27
232 1105 42

PISCO 60



PCDA Capacity & Installation of sensor switch g6~232

61

DUAL-ROD CYLI

NDER

Maximum load mass

When the cylinder mounted as shown in the diagrams below, the
maximum load mass W should not exceed the values illustrated

in the graph.
M
M
H I
- - - PCDA-23
—— PCDA-03
‘\
=) \
g 20 \,‘\
= N
[2} |
(2] N
T 15 —% S
€ \s \
© \\ Rs
3 WO\ N
= 10 s \‘ S N
g ~ \ N
=] N Ne T~ \~
£ ¢16~‘>\\§\~- e 2
T 059 "N ~F. = =r==40
= T ey s
e v Ml et s e e S L
20 40 60 80 100 120 140 160 180 200

Cylinder storke (mm)

Mounting methods

Top mounting

Bottom mounting

J

Air supply port

Side mounting

- k,,,,@,,,,@,,,,

Work can be mounted
on three faces of the
rod square plate.

Work

.8
= —t—1———i—

@

o020

Plate

0=

Installation of sensor switch
Sensor switch: RCE, RCE1, RDEP

©

o

|

Sensor switch

] RDEP

RCE,RCE1

Anti-roll accuracy

Sensor switch

Code <]

Type 26 212 216 220 | @25, 832
PCDA-03 | +0.3° | +0.45° | +0.35° | #0.3° | +0.25°
PCDA-23 +0.25° +0.2° +0.15°

PISCO



PCDA Dimension g6~232

DUAL-ROD CYLINDER

ZZ+stroke
1 J_. K S+stroke
I, L z

|
0 ¢
N

0@ i @«@Tmom

: N 5
. N Y
<o é 1B —@ @} %/Q T
©
L lalo Kﬂ
N
F N W Tube I.D. 16
No groove on both sides
L z v
212, 316 \
g gt
&
A
—
E
RA R _RB
| L z \Y
020~332 |
O 4
o T
: I
‘ RA R RB‘
10_, 13+stroke \ 5.6
. ] |
e Vo [
o [o & TL & $§ 4 o AN
LL0e @‘ﬂgJ | o S YIWs
— Gz02 f ‘ ‘ 3.2
c ] _RA | \R |RB au«
A
Code F M N R
Tube 1.D. AfBlCciDI[E (Thru) GiH ! J K E (Both side) (Both side) 0 Q aa (Both side) RAYIBE RS N
6 [37|16|35(14| 7 |2-M3x0.5|28(16 |2.75| 55| 8|13 |2-6.5x3.3dp *1 2-M3x0.5 thru 4 8 6 |[4-M5x0.8 |225| 11|45 | —
12 (46|18 |44 | 16| 8 | 2-M4x0.7 | 35(19 |4 8 9|20 [4-96.5%3.3dp 4-M3x0.5x5dp 6 9 10 | 4-M5x0.8 | 30 855 | -
16 [58 20|56 18| 9 | 2-M5x0.8 | 45(25 (5 10 9|30 [4-08x4.4dp 4-M4x0.7x6dp 8 |10 10 | 4-M5x0.8 |38.5| 8|60 | —
20 (64 |25|62|23(11.5| 2-M5%0.8 | 50( 28 |6 12 12| 30 | 4-29.5%5.3dp 4-M4x0.7x6dp | 10 7.75112.5| 4-M5x0.8 | 45 8|70 | 9.5
25 [(80(30|78|28(14 |2-M6x1.0|60(35(6 12 12 [ 30 [ 4-211x6.3dp 4-M5x%0.8x8dp 12 8.5 |15 | 4-Rc1/8 46 972 |13
32 [(98(38|96|36(18 |2-M6x1.0| 75(44 |8 16 14 | 30 | 4-211x6.3dp 4-M5%0.8%8dp 16 9 19 | 4-Rc1/8 56 10| 82 (20
Cod Z (Stroke *1. 96- single side.
T v w (BE.S) ZZ | *2. 96- stroke ( 10, 20, 30, 40, 50)
Tube 1D, (Both side) (Thru)  [10,15,20,25 ] 30,35,40,45,50 | 60,70,75,80 | 90,100 [110,120,125] 150 [ 175,200
6 3 4-M3x0.5%4.5dp 2-¢3.4 10+1/2 stroke *2 58.5
12 3.5 | 4-M3x0.5x4.5dp 2-M4x0.7 30 40 50 60 70 80 - 72
16 5 4-M4x0.7x5dp 2-M5x0.8 25 35 45 55 65 75 - 79
20 6.5 | 8-M4x0.7x5.5dp 2-M6x1.0 30 40 60 80 100 94
25 9 8-M5x0.8x7.5dp 2-M8x1.25 30 40 60 80 100 96
32 11.5 | 8-M5x%0.8x7.5dp 2-M8x1.25 40 50 70 90 110 (112

PISCO 62



PCSS Series

63

SLIDE CYLINDER

Features

e High precision combination of cylinder and linear rail.

e Flush fitting sensor groove.

e Provide optional combination for stroke adjuster and end lock
(for vertical installation to prevent falling).

e Magnetic as standard.

Specification

Acting type Double acting

Tube 1.D. (mm) 6 8 | 12 ] 16| 2 | 25

Port size M3x0.5 M5x0.8 Rc1/8

Medium Air

Operating pressure range 0.15~0.7 MPa

Table for standard stroke o — 1 MPa

Tube I.D. Stroke (mm) Ambient temperature -5~+60°C (No freezing)
26 10, 20, 30, 40, 50 Lubricator Not required
28 10, 20, 30, 40, 50, 75 Available speed range 50~500 mm/sec
212 10, 20, 30, 40, 50, 75, 100 -
216 10, 20, 30, 40, 50, 75, 100, 125 Cushion Rubber bumper (Standard) Shock absorber (Option)
220, 25 10, 20, 30, 40, 50, 75, 100, 125, 150 End Operatingspeedrange |  — 50~500 mm/sec

lock  Holding force (N) = 25 | 60 | 110 | 160 | 250

Sensor switch RCE, RCE1, RDEP

Order example

PCSS —20L—50—AS—X12 —HL—-[]

| r | 1= |
(*2) (*374)
MODEL TUBE I.D. STROKE ADJUSTABLE END LOCK PORT THREAD
(1) RANGE  Blank: Without Blank: M thread
STROKE ADJUSTER Blank: 5mm  HL: With end lock  (for 26~216)
Blank: Standard  Blank: Without adjuster X11: 15mm  (for 88~225) Blank: Rc thread
L: Symmetric style AS: Adjuster at extension end X12: 25mm G: G thread
AT: Adjuster at retraction end (Only for stroke adjuster) NPT: NPT thread
A: Adjuster at both ends (for 220,225)

BS: Absorber at extension end
BT: Absorber at retraction end
B: Absorber at both ends

AB: Adjuster at extension end+Absorber at retraction end *1. Adjustable range is not available for shock absorber type.
BA: Absorber at extension end+Adjuster at retraction end Shock absorber is not available for PCSS-6.

*2. X12 (adjustable range: 25mm) is not available for PCSS-6.
out IN *3. End lock (HL) not suit for symmetric style (L) and PCSS-6.
< =

Theoretical force =—"5 Unit: N
Piston .ng| Piston Operating pressure (MPa)
[Tube I.D| ol O_pera_tlng area (*4) Optlon
(mm) | (mm) | direction | 2| 02| 03|04 |05]|06|07 - )
6 3 ouT 57 |11 |17 [ 23|20 | 34 [ 40 combination
IN 42 8 183 | 17 | 21 | 25 | 29 End lock
\ |Blank| HL
8 4 ouT 101 20 | 30 | 40 | 51 [ 61 | 71 Stroke adj.
IN 75 15 | 23 | 30 | 38 | 45 | 53 Blank O O
12 6 ouT 226 45 | 68 | 90 | 113 [ 136 | 158 AS ©) O
IN 170 34 [ 51 | 68 | 85 | 102 | 119 AT O X
16 8 ouT 402 80 [ 121 | 161 | 201 | 241 | 281 A O X
IN 302 60 | 91 [ 121 [ 151 | 181 | 211 BS O O
20 10 ouT 628 | 126 | 188 | 251 | 314 | 377 | 400 BT O X
IN 471 94 | 141 | 188 | 236 | 283 | 330 B O X
25 12 ouT 982 | 196 | 295 | 393 | 491 | 589 | 687 AB O X
IN 756 | 151 | 227 | 302 | 378 | 454 | 529 BA O X

PISCO



PCSS Options & Installation of sensor switch

SLIDE CYLINDER

Options

Stroke adjuster

e Adjustable stroke range:
0~5mm (Standard), 0~15mm (-X11), 0~25mm (-X12)
AS: Adjuster at extension end

AT: Adjuster at retraction end
A: Adjuster at both ends

Adjuster at extension end

il

Adjuster at retraction end

¢ & 4
*000-—0
L

e Tightening torque of mounting bolts

Insufficient torque will cause a decrease in the positioning
accuracy and lead to malfunction.

Adjuster at extension end (AS)
Tube : - : -
|.D. | Body mounting section | Table mounting section

Adjuster at
retraction end (AT)

(mm) Bolt Tightening Bolt Tightening Bolt Tightening
size [torque (N.m) size |torque (N.m) size [torque (N.m)

6 |M2.5x10 0.5 M2.5x8 0.5 M2.5%8 0.5

8 M3x12 0.9 M3x10 0.9 M3x10 0.9

12 M4x15 21 M4x12 21 M4x8 21

16 | M5x18 4.4 M5x18 4.4 M5x%10 4.4

20 | M6x20 7.0 M6x20 7.0 M5x12 4.4

25 | M8x25 18.0 M8x25 18.0 M6x16 7.0

With shock absorber

e Enable adjustment of stroke.

e Absorb the collision at stroke end and stops smoothly.
BS: Absorber at extension end
BT: Absorber at retraction end
B: Absorber at both ends

Absorber at extension end

=rF

Absorber at retraction end

¢ & s
0 6@ B
& & +

e Tightening torque of mounting bolts.

Insufficient torque will cause a decrease in the positioning
accuracy and cause malfunction.

Absorber at Absorber at retraction end (BT)

Tube

I.D. extension end (BS) Body mounting section | Table mounting section

(mm) Bolt Tightening Bolt Tightening Bolt Tightening
size [torque (N.m) size |torque (N.m) size [torque (N.m)

8 M3x16 0.9 M3x12 0.9 M3x16 0.9

12 M4x15 21 M4x8 21 M4x15 21

16 | M5x18 4.4 M5x10 4.4 M5x18 4.4

20 | M6x25 7.0 M5x12 4.4 M6x%25 7.0

25 | M8x25 18.0 M6x16 7.0 M8x25 18.0

PISCO

With End lock
Spring Lock piston

e Hold the return position

of cylinder to prevent ﬁ
the table from dropping
even if the air supply is N Py =
cut off. V¢ v J
¢ | ¢
© gia
I¢ 1 $ ¢;
| | L
w I
w
Locked
Unlocked

/A Caution @1

1. Use 4/2 or 5/2
solenoid valves.

MR

A malfunction may occur Q
with a control circuit that L ‘

exhausts from two ports, Lrgj

such as exhaust center 3

position valves. Recommended

Slide table pneumatic circuit

2. Be sure to use meter-out speed control valves.
If it is used in meter-in speed control or without a speed
controller, it may result in malfunction.

3. When releasing the end lock manually, be sure
that air pressure is released.
If the End Lock is unlocked while the air pressure still
remains, it may cause damage, due to unexpected table
moving.

How to unlock the end lock
Before proceeding, make sure that
there is no residual air pressure.
(1) Push down the lock piston pin.
(2) Slide the table forward.

Sensor switch
RCE,RCE1

Sensor switch
RDEP

Watchmakers
screw driver

64



PCSS Model selection

SLIDE CYLINDER

1. Operating conditions

List the operating conditions
considering the mounting position
and workpiece configuration.

Check that the load weight does
not exceed the max. allowable
load weight and that the average
operating speed does not exceed
the operating speed range.

e Model to be used.

e Type of cushion.

o Workpiece mounting position.

o Average operating speed Va (mm/s)
e Load mass W (kg): Fig 1, Table 2

e Overhang Ln(mm): Fig 2

]
E=3

1 Vo,
. Kinetic energy E=7 W (Fo00)

Find the kinetic energy E (J) of Collision speed V = 1.4* + Va

the load. * Correction factor (Reference values)
Find the allowable kinetic energy Ea = K « Emax
Ea (J).

Workpiece mounting coefficient K: Fig 3
Max. allowable kinetic energy Emax: Table 1

Kinetic energy (E) < Allowable kinetic energy
(Ea)

Confirm that the kinetic energy
of the load does not exceed the
allowable kinetic energy.

Table 1: Max. allowable kinetic energy: Emax (J) Fig 1: Load mass: W (kg)

£0.3(

Cylinder: PCSS-6-10

Cushion: Rubber bumper

Workpiece table mounting

Mounting: Horizontal wall mounting
Average operating speed: Va = 150 mm/s
Load mass: W = 0.3 kg

L, =4mm
L, =4mm
L; = 5mm
210 , _
1000) =0.0066

V=14-150=210

Ea=1-+0.015=0.015
Can be used based on E = 0.0066 < Ea = 0.015

(Continued)

65

Tube I.D. Allowable kinetic energy
(mm) Rubber bumper Shock absorber
26 0.015 - O@O@
28 0.023 0.041 A e
012 0.05 0.105 Jeroxeso]
216 0.104 0.214
220 0.153 0.313
225 0.232 0.472
Table 2: Max. allowable load mass: Wmax (kg) Fig 2: Overhang: Ln (mm), Correction value of moment center position distance: Xn (mm)
Pitch moment Yaw moment Roll moment
=2 L), Max. allowable load mass
(mm)
W W
26 0.6
28 0.8 Mp ( My( T "
. | o Mr ( _
2 .
gz 37 t — (:ﬂ S2F
] b e
5 X
020 0 § L1 X1 L3
o
225 8.5 = o o —
o i
= (-]
% L2 X1
Fig 3: Workpiece mounting coefficient: K Mp C ° J21 Mr<777
Table mounting ] ( ® w
W My - S e
wi L3 X2
L1 | X2 L2 | Ix3
w
] " Mep Mey
S ™ Y N\
) ") ") ‘ o 3 Y\ T
; ==
0 £ !
LK K=1 Q e —
§ [~ o o 2 | °ﬁ~
End plate mountin > N — oopT
p ] a x _%:7 o °
: —
-] ) -]
W H Note.
L K K=0.6 Static moment: Moment generated by gravity.
Dynamic moment: Moment generated by impact when colliding with stopper.

PISCO



PCSS Model selection

SLIDE CYLINDER

3. Load factor
3-1 Load factor of load mass

Find the allowable load mass Wa
(kg). Note: There is no need to
consider this load factor in the
case of using perpendicularly in a
vertical position. (Define a, = 0.)

Find the load factor of the load
mass a;.

3-2 Load factor of static moment
Find the static moment M (N-m).

Find the allowable static moment
Ma (N-m).

Find the load factor a, of the static
moment.

3-3 Load factor of dynamic moment

Find the dynamic moment Me
(N-m).

Find the allowable dynamic
moment Mea (N-m).

Find the load factor a; of the
dynamic moment.

3-4 Sum of load factors

Possible to use if the sum of the
load factors does not exceed 1.

Table 3: Correction value of moment center position

Wa =K+ « Wmax

Workpiece mounting coefficient K: Fig 3
Allowable load mass coefficient B: Fig 4
Max. allowable load mass Wmax: Table 2

a, = W/Wa

M =W «9.8(Ln+Xn) / 1000
Correction value of moment center position
distance Xn: Table 3

Ma=K-+y+ Mmax

Workpiece mounting coefficient K: Fig 3
Allow load mounting coefficient y: Fig 4
Max. allowable moment Mmax: Table 4

a,= M/Ma

Me = 1/3 + We » 9.8 LX)

Correction equivalent to impact We =5 « W+ V
&: Bumper coefficient

With urethane bumper (Standard) = 4/100
With shock absorber = 1/100

Correction value of moment center position
distance Xn: Table 3

Mea =K<y e+ Mmax

Workpiece mounting coefficient K: Fig 3
Allowable mounting coefficient y: Fig 4
Max. allowable moment Mmax: Table 4

a; = Me/Mea

Za,=a,tataz <1

Wa=1+1+06=0.6

K=1

B=1

Wmax = 0.6
a,=0.3/0.6 = 0.5

Examine My. Examine Mr.

My =0.3 +9.8(4+14.5)/1000=0.05 Mr = 0.3 » 9.8(5+6)/1000 = 0.033
X;=14.5 X;=6

May=1+1+07=0.7 Mar=0.7

Mymax = 0.7 (Same value as May)

K=1

y=1

a,=0.05/0.7 = 0.072

Examine Mep.

o’,=0.033/0.7 = 0.047

(5+6) _

Mep=1/3+252+98- 1000 0.09
We =4/100+0.3 +210 =2.52
X,=6
Meap=1+1+0.7=0.7
K=1
y=1
Mpmax = 0.7
a,=0.09/0.7 = 0.128
Examine Mey.
=13.950.98. 4H16) _
Mey =1/3+252+9.8 1000 = 0.165
We =2.52
X;=16
Meay = 0.7 (Same value as Meap)
o'3=0.165/0.7 = 0.235

Za,=a,+ta,+a’,taz+a’y<1
20,=0.5+0.072 + 0.047 + 0.128 + 0.235=0.982 < 1
Add it is possible to use.

Fig 3: Workpiece mounting

Allowable load mass coefficient: B

distance: Xn (mm) coefficient: K
Tube I.D. X1, Stroke (mm) x2 | x3 | | T@ble mounting (K=1)
(mm) 10 [ 20 | 30 | 40 | 50 | 75 [ 100 | 125|150
26 |14.5|14.5|19 |26.5|35.5| — - - - 6 | 16
28 |14.5|14.5|19 |28.5|35.5|49 - - - 8 | 20 W
212 |23.5|23.5|23.5|27.5|33 |50.5|68.5| — - | 9.5] 25 ]
216 |22.5|22.5|22.5|26.5|32 |51.5|67.5|85 - (10.5] 31 L o o o ‘
220 |25 |25 |25 |25 |32.5|49.5|68.5/88.5|88.5|15.5| 38 b
225 |24 |24 |24 |24 |31.5|51.5|66.5|86.5|91.5|20.5| 46 H

Table 4: Max. allowable moment: Mmax (N-m) End plate mounting (K=0.6)

Tube I.D. Stroke (mm) ]
(mm) | 40 | 20 | 30 | 40 | 50 | 75 [ 100 | 125 | 150 o o o
6 (07| 1 [1a |11 ] - | -] -] - Wi §

28 2 2 |26|35|39 (39| - | - | - K
212 39 139 (39 |55|68]|96 |96 - -

216 98 | 98 [ 98 | 9.8 | 12 21 30 30 -

220 |16.4 (164 |16.4 (16.4 | 24.2 (314 |455| 455|455

225 | 26.5|26.5|26.5(26.5(37.8(49.8 622622622

PISCO

Fig.4: Allowable load mass coefficient:
Allowable moment coefficient: y

1.0

0.7

0.5
0.4
0.3
0.2

Allowable moment coefficient: y

0 100 200 300 500 700

Average operating speed Va (mm/s),
Collision speed V (mm/s)

y note: Use the average operating
speed when calculating static
moment. Use the collision speed
when calculating dynamic moment.

66



PCSS cCapacity g6~212

SLIDE CYLINDER

Table deflection (Reference values)

Table displacement due to roll
moment load

Table displacement of section A when
loads are applied to the section F with
theslide table retracted.

g Loo

Stroke
26 Lr=24 mm
£ 0.020
£
=
3 0.015
€
o /1 ); 0; 30
c
@ 0.010 .
£ 40
8 //'//
2.0.005 // % — i
S A/
<@ =
8
= 0 10 20 30 40
Load (N)
Stroke
28 Lr=50 mm
go.ozo
= 20
S 10 [30 [40 [50
3 0.015
£
©
- V
& 0.010 / // 75
£ W
(5] / L~
©
2.0.005 v
(7]
2
Q 7z
Qo
© 0 20 40 60 80
Load (N)
Stroke
212 Lr=65 mm
£0.035
=0.030
30
g 0.025 20
0020 10| 40 [50 75
=0 -
5 ,/ /] //100
£0.015 7 =
8 5,010 7// =
S o.
2 / "
S 4,005 [—AZA
o
K
= 0 20 40 60 80 100 120

Load (N)

Table displacement due to yaw moment

load

Table displacement when loads are
applied to the section marked with the
arrow at the full stroke.

F
o °
@ o©Op
<) °
I
) [ [ ‘
26 Stroke
£ 0.04
£
€
3 0.03
€
©
c
3 0.02 50140730
g ,; A A120
o /Q/ 10
%0.01 A7
5 _/
3 L
8
= 0 10 20 30 40
Load (N)
28 Stroke
E 0.04
E
h=
3 0.03 50—
£
: ek
é 0.02 ////20——
8 //// 10—
© yavs L1
2 0.01 A A
o 4
@ A
8
= 0 20 40 60 80
Load (N)
212 Stroke
g 0.04
£ 75
= 50 | |
3 0.03 100 40
: A e
:,C: 0.02 / 4 -
= / 10
8 A /
3 ]
2. 0.01 =
2
k) [~
8
= 0 20 40 60 80 100 120

Load (N)

Table displacement due to pitch
moment load

Table displacement when loads are
applied to the section marked with the
arrow at the full stroke.

26 Stroke
E 0.04
E
€
3 0.03
€
L 50—40—30
< / 120
T 0.02 -
% / A o
2 0.01 ,/ |
2 4 //
s &
Q
e 0 10 20 30 40
Load (N)
28 Stroke
E 005
£ 75 50
E 0.04 ,/
o
5 // A%
0.03
5 1 s
£ 0.02 A AT 0] |
o Y. -
8 T
& 001 | // /// —
@ —
e ZA
e}
e o 20 40 60 80
Load (N)
212 Stroke
E 0.10
E
< 0.08 100 75
£ /
© 0.06
= 50
40
§ 004 // 30
o L—"20
3 0.02 A L~ 10
5 //’ e ——
° %/
Qo
© 0 20 40 60 80 100 120
Load (N)

PISCO



PCSS Capacity 16~925

SLIDE CYLIND

Table deflection (Reference values)

ER

Table displacement due to roll

moment load
Table displacement

of section A when

loads are applied to the section F with
theslide table retracted.

(-] [-]
Lr L1—|
Stroke
216 Lr=89 mm
0.035 A I
30 |
20 1257
10 50 100

-

/751
)

©c o o o o o
o ©o o 9 9 9
S = S RN @
G o o o a O

/
/%

Table displacement amount (mm)

0 40 80 120 160 200
Load (N)
Stroke
220 Lr=122 mm
€ 0.035 40 I
£ 30 150
= 0.030 20 125
3 10 50 75 100
0.025
1S 4
S o AL LA
= 0.
[0}
£ 0.015 // + //
8 5010 '///'/
g | 4
 0.005
@
8
= 0 40 80 120 160 200 240
Load (N)
Stroke
225 40 Lr=154 mm
o, 30__] I 150_]
0.035 20 | | 125
— 0.030 10_59_7 100—
2 0.025 / /
5 N/ ¥
+ 0.020 / //
£0.015 ////
S 0.010 %4
g %
T 0.005
@
8
= 0 50 100 150 200 250 300
Load (N)

Table displacement due to yaw moment

load

Table displacement when loads are
applied to the section marked with the
arrow at the full stroke.

Table displacement amount (mm) Table displacement amount (mm)

Table displacement amount (mm)

o
o
b

o
o
@

o
Q
o

o
o
e

o
o
a

o
o
=

o
Q
@

o
o
~

©
o
=

o
=}
o

©
o
i

o
o
@

o
o
¥

o
o
=

i

o o
o®@ oQp |
° °

Stroke

N
NN

NN

/|
o
-

50

220

100 150
Load (N)

200

Stroke

100

1 175 ——

o
S

|
N
>

50

40——

2

30

/]

L

20
10

NN

WA

DN

N

-~
i

100

225

300
Load (N)

Stroke

[
15071251007

2| 2
75

50

407

V. 7
L~

30|

207
- 104

AN NN

0 100

200
Load (N)

300 400

Table displacement due to pitch
moment load

Table displacement when loads are
applied to the section marked with the
arrow at the full stroke.

l
=

216 Stroke
E 0.14 I I
3 125 100
Z 012 7
5 4
8 010 //
© /
= 0.08
@ // 75
£ 0.06 / 7 A <150
[$]
Lo [ e
0 L1 — 20
S 0.02 %, 0
Y —
8
F oo 50 100 150 200
Load (N)
220 Stroke
= I
E 0.10 |
< 150 125 100
% 0.08 AW //
5 0.06 / / / 751 |
Q
5 0.04 A b
g / /] v 30
& 0.02 4 20
5 ’//7 110
E /%/
K
E oo 100 200 300
Load (N)
225 Stroke
E 007 I ] |
£ 150 125 100
= J /1
£ 0.06 7
2 0.05 A
£ % T 75
Z 004 / // L 50T
= 0.
g 0.03 / / z/ 401 |
8 ‘A s
7‘“1 0.02 / 4 //; —120T]
2 A fo =10
T 0.01 e —
o
K
F oo 100 200 300 400
Load (N)

68



PCSS Dimensions 26

SLIDE CYLINDER

2 6 2-M3x0.5(air port)
3 ) 10.5(Max.)
™
Tl @
=R /| 7o)
o AT N
[Te] =} )
3 _|l65 2-M2.5%0.45x3 depth
2-M2.5x0.45%3 depth
K 12.5
Stroke adjuster at extension end Stroke adjuster at retraction end
% N-M3x0.5x4 depth 5.5 3
0
Ay - o
&) 81 £ A
50 |
D
)= o
< [EZ[® o N
N T g‘ ™|
JE}‘ ; 4-M2.5%0.45x3.5 depth
2-M3x0.5%5 depth <——1°‘ 11 F
@3H9'0"x2 5 depth (N2 -1)xF
<
g
i <A gcs
[=2]
@ 5 & L 5
— (\ . }
| Z »)
7z
(NN-1)xH
H G NN-M4x0.7x8 depth
11 5.5 11 5.5
A - ‘ ‘
[N U(dl; [UU
E'@@@ﬁ@ 5 @%J 5
. = 4 OF7 ' |Of)
i i3 G2 = S
I, D& ) s
t A = A-A -B
@3HY'**°x2.5 depth HA GA
sxel F| G |GA| H [HA| I | J | K| M| N|[NN|Z |2z
10 | 20 6 11 25 | 20 10 17 |225| 42| 4 2 |415| 48
20 30 6 21 35 20 10 27 |325| 52| 4 2 |515| 58
30 20 1 31 20 20 7 40 |425| 62 6 3 |61.5| 68
40 | 28 13 | 43 | 30 | 30 19 | 50 [52.5| 84| 6 3 [835| 90
50 38 17 | 41 24 48 25 60 [62.5(| 100 6 4 199.5| 106

PISCO



PCSS Dimensions 28

SLIDE CYLINDER

2 7 2-M5x0.8(air port)
3.5 \ J 1 /,6 9.5(Max.)
- | |
— T 71— = 7o)
o ]
D)
A7 m o~ -
g W el | h
2-M3x0.5%4 depth 3.8 7 NA-M3x0.5%x4 depth
K 14.6

Stroke adjuster at extension end

Stroke adjuster at retraction end

6.5

3.5

4-M3x%0.5x4 depth

N/2 -1)xF
23H9'5*°x3 depth ( ) N-M3x0.5x5 depth
LQ‘B M |
[=]
S S
H \
| z
Y44
(NN-1)xH
H G NN-M4x0.7%8 depth
13 5.5 5.5
| A | B |
i OH | | |©F
OO0 = 5 e
i IERCEAER |
-| = g - | g -
A -, D= l
A B
% = -~ A-A B
23H9'8°x3 depth HA GA
el F | G |GA| H|HA| I | J | K| KA| M| N |[NA|NN| 2 | ZZ
10 | 25| 9|17 ]| 28| 20 [13 [195]|235] - | 49| 4 | 2 | 2 | 485 56
20 | 25 | 12 [ 12|30 ]| 30| 85[29 [335] - | 54| 4 | 2 | 2 | 535] 61
30 |40 | 13 [ 33 20| 20| 95[39 |435] - | 65| 4 | 2 | 3 | 645 72
40 | 50 | 15 | 43 | 28 | 28 |105|56 [535| - | 83| 4 | 2 | 3 | 825 90
50 | 38 | 20 | 43 | 23 | 46 |245(60 |635(|825(101| 6 | 4 | 4 | 1005/ 108
75 | 50 | 27 | 83 | 28 | 56 |38.5/96 |885[132.5151| 6 | 4 | 5 | 150.5] 158

PISCO

70



PCSS Dimensions 212

SLIDE CYLINDER

2-M4x0.7x5depth 2-M5x0.8 (air port)

2 95
475 || | J I 8 11 (Max.)
[Te)
I 7 T [P
° °lo % o
01 © o
] i T
e N “HES
K 585
Stroke adjuster at extension end KA 185 NA-M4x0.7x5depth
31.5 9 5
‘ Stroke adjuster at retraction end
AN R - [ 4-M4x0.7x6depth
o g - N
L. \ | T\ "7*%‘
“H 0
o o o =3 i :%7 ;
o N7 A @A) o o N
“ _ /’ N Y &/ ! D s F
A
,‘ 5 © &
P& i
2-M5x0.8x8depth ‘ 16 F N-M4x0.7x5.5depth
16 (N/2 -1)xF -
24H9")%x3 5depth =
]
© 8 M o
o 3
5
I
<
© H S \ L
D
z
7z
(NN-1)xH G
H NN-M5x0.8x10depth
A B 17 __, 10
-~ -5
i _1 ol 9 © [ ]
[ ‘ O©=13%% | Opyl®
A a D A P t
I R 4 - F
i 1 JOF |0
R D &P — C
A -8 A-A B-B
24H9'3 % x3 5depth HA GA
Sctf:fe F G [GA| H [ HA | J K KA M N | NA[NN| Z 2z
10 | 35 | 15 15| 40 | 40 | 10 40| 26.5| - 71| 4 2 2 70| 80
20 | 35 | 15 15| 40 | 40 | 10 40 | 36.5| - 71| 4 2 2 70| 80
30 | 35 | 15 15| 40 | 40 | 10 40 | 46.5| - 71| 4 2 2 70| 80
40 | 50 | 17 42| 25 | 25 | 10 52 | 56.5| - 83| 4 2 3 82| 92
50 | 35 | 15 51| 36 | 36 | 22 60 | 66.5| - 103 | 6 2 3 [ 102] 112
75 | 55 | 25 61| 36 | 72 | 43 85| 915(125.5| 149 | 6 4 4 | 148 | 158
100 | 65 | 35 | 111 | 38 | 76 | 52 | 130 | 116.5(179.5| 203 | 6 4 5 |202]| 212

71 PISCO



PCSS Dimensions 216

SLIDE CYLINDER

3 11, 2-M5x0.8x5.5depth  2-M5x0.8 (air port)
55| J I .10 13.5 (Max.)
© \
—1c \o o
o O
O
i 0
= e [ M
55 10
NA-M5x0.8x5.5depth
Stroke adjuster at extension end K 21
375 A 12, .6
‘ Stroke adjuster at retraction end
w0
o HECE T 1”’ 4-M5x0.8x7depth
- i H - i
NI = i e
( 1 -
) p
) ) ) °
{ ) N
. @ £0-60—© g o
L o} o] @\
2 ©
2-M6x1x10depth 20 F NAME<0.8x6denth
-1)x -MoxD.oxbdep
@5H9" % x4depth 21 (N2 ApF -
g
w10 M 2
[ 8"
v
) /
8 g ( )
D
z
zz
(NN-1)xH G NN-M6x1x12depth
H 24 _ 10
A B
N\
g Wi, .e W)
H @IMEEEROIME
17 e S mn &
N Tl -~ A o
I < JOF Olu
"5 e
@5H9'3 % x4depth A-A B-B
HA GA
Sode | F | G |GA| H|HA| I | J | K| KA| M| N |NA|NN| Z |2z
10 35 16 16 | 40 40 10 40 29 - 76 4 2 2 75 87
20 | 35 16 16 | 40 | 40 10 40 | 39 - 76| 4 2 2 75| 87
30 | 35 16 16 | 40 | 40 10 40 | 49 - 76| 4 2 2 75| 87
40 40 16 16 | 50 50 10 50 59 - 86 4 2 2 85 97
50 | 30 | 21 51| 30 | 30 15 60 | 69 - 101 6 2 3 100 | 112
75 | 55 | 26 61| 35 | 70 | 40 85| 94| 125 | 151 6 4 4 150 | 162
100 | 65 39 | 109 | 35 70 55 | 118 | 119 | 173 | 199 6 4 5 198 | 210
125 | 70 19 | 159 [ 35 70 68 | 155 | 144 | 223 | 249 8 4 7 248 | 260

PISCO



PCSS Dimensions 220

SLIDE CYLINDER

2-M6x1x6.5depth
2-Rc1/8 (air port)

73

3_..13
65| | J 1,12 14.5 (Max.)
® |
G+ Td o \69 ]
B HO
i o9 =
mu——'! ‘[Zi:j(:;; ‘_t
6.5 12 NA-M6x1x6.5depth
Stroke adjuster at extension end K 25
46.5 KA 18_, 6
Stroke adjuster at retraction end
b ;%E,;F N N 6-M5x0.8x8depth
B ~O__ ! o P—
LI W
e
o) o o S
DA
e@) -~ —® g e
/“ o .
o o N
F N-M5x0.8x10depth
#5H9" % x5depth 27 (N72 -1)xF
ro) 13 M
o
2 o
Q Irs)
z
7z
(NN-1)xH G
H
|-A |-B
E
)00 -0 3 :
-\\:/j J \\:/j T AN~ I
B q
¥ 7 o®
|I-A 1B
@5H9 2% x5depth HA GA A-A B-B
Ce ' F TFF| G [GA| H[HA] 1 [ J K[KA[ M| N[NA[NN] Z | zz
10 50 40 15 25| 45 35 10 44 31 - 83 4 2 2 81.5| 97
20 50 | 40 15 25| 45 | 35 10 44 1 41 - 83| 4 2 2 81.5( 97
30 50 | 40 15 25| 45 | 35 10 44 51 - 83| 4 2 2 81.5| 97
40 60 50 15 35| 55 35 10 54 61 - 93 4 2 2 91.5| 107
50 35 35 15 50| 35 35 10 69 71 - 108 6 2 3 |106.5| 122
75 | 60 [ 60 19 54 35 | 70 10 | 108 96 - 147 | 6 2 4 1145.5 161
100 | 70 70 | 37 | 107 | 35 | 70 58 | 113 1121|169 | 200 | 6 4 5 [198.5 214
125 | 70 70 41 155 | 38 76 70 | 155 | 146 | 223 | 254 8 4 6 ([252.5| 268
150 | 80 80 19 195 | 44 88 87 | 190 | 171 | 275 | 306 8 4 7 1304.5| 320

PISCO



PCSS Dimensions @25

SLIDE CYLINDER

2-M8x1.25x8.5depth
4 16 2-Rc1/8 (air port)
8 J 1,15 15.5 (Max.)

o -
2 ey 0|
: d o E <
©
If“" i A he=sy
i ¥ _Q_._g\ t;:: ‘o_wl
8 1 NA-M8x1.25x8.5depth
K 31
Stroke adjuster at extension end KA
54.5 Stroke adjuster at retraction end |_ 22 7
: N ) o 6-M6x1x10depth
] S a ) il
~ =
CRE)
C'D\ @ ¢ ¢ ¢ %
./I‘F_a D
o AO)—. L) R ©| N
~ || AR 0 o
®) © | Y 8
N © o oo g -
id
2-M8x1.25x15depth ‘ El F N-M6x1x13depth
30 (N/2 -1)xF
26H9'S* x6depth £
>
o 15 M <
= 3
7. Y
I
8 o (
D
z
7z
(NN'”XHH G NN-M8x1.25x16depth
34 13.5
A |8
l o’
- - ©| «~| N N
i OL] |33 S
[P 7 n _ T
w A\S/ A\ Il
In o % \aa
i 13 QH
L e so— 1+ b
LA LB A-A
26H9"Y* x6depth HA GA
Codell F |FF| G [GA| H |[HA| 1 | J | K| KA|{ M | N|[NA[NN| Z | zz
10 50 40 22 22 | 45 45 12 47 35 - 92 4 2 2 90.5| 108
20 50 40 22 22 | 45 45 12 47 45 - 92 4 2 2 90.5| 108
30 | 50 | 40 | 22 22| 45 | 45 | 12 47| 55| - 92| 4 2 2 90.5| 108
40 60 50 22 22 | 55 55 12 57 65 - 102 4 2 2 [100.5( 118
50 35 35 20 55| 35 35 12 70 75 - 115 6 2 3 |113.5 131
75 | 60 | 60 | 26 61| 35 | 70 | 33 90 (100 | - |[156 | 6 2 4 [154.5| 172
100 | 70 | 70 | 32 | 102| 35 | 70 | 50 | 114 [ 125|162 | 197 | 6 4 5 |195.5| 213
125 | 75 75 40 | 154 | 38 76 67 | 155 | 150 | 218 | 255 8 4 6 |[253.5] 271
150 | 80 80 30 | 190 | 40 80 82 [ 180 | 175 | 258 | 295 8 4 7 1293.5 311

PISCO




75

PCSS Dimensions-Symmetric style @6

SLIDE CYLINDER

zz
‘ z
@ g &
!
P —
o T 1
(N/2 -1)xF
@3H9') *°x2.5 depth
2-M3x0.5x5depth 10 1 F
i \Q} ‘ 4-M2.5x0.45x3.5 depth
) @' < &
P e .
3 ' »7%@ = @ SR —
© 5 g
. Q} © / . - — :‘Pt
% of }g i ‘
/) o w0 \ 1
. —_—— - (=) ©
18 N-M3x0.5x4 depth 4 o 55 3
Stroke adjuster at extension end Stroke adjuster at retraction end
K 12.5
2-M2.5%0.45x3 depth 3 6.5 2-M2.5%0.45x3 depth =
g
1— 0
0 A—c o
4 N eel i g
FA + 4 sz
H Tt | o
Hel P10 T i
© 3‘ J / I ‘5‘ 10.5(Max.) / 7
T L \ N\ !
2 1,6 2-M3x0.5(air port)
D
23H9'3%°x2.5 depth HA GA
LA B NN-M4x0.7x8 depth
T T %  Dbid 3
- *EE* S “‘l 8 ;
7S A Pany T ~ -S> ~]
HINZEAS” AN N I S Hig N
B e [m%j
[5e]
; o
A |-B ‘ 1_| |_55 ! 11 55
H G A-A B-B
(NN-1)xH
Sodel F | G [GA| H | HA | I J| K|[M| N |NN|2Z|2zz
10 20 6 1 25 | 20 10 17 | 22.5| 42 4 2 |415| 48
20 | 30 6 | 21 35 | 20 10 | 27 | 325 52| 4 2 (515 58
30 | 20 11 31 20 | 20 7 | 40 |425| 62| 6 3 |615| 68
40 | 28 | 13 | 43 | 30 | 30 19 | 50 | 525 84| 6 3 [83.5]| 90
50 | 38 | 17 | 41 24 | 48 | 25 | 60 (625100 | 6 4 |[99.5| 106

PISCO



PCSS Dimensions-Symmetric style 28

SLIDE CYLINDER

—

L zz
| z
[ X
§ | S
u:_»‘ 6 ‘ M
o l 1
83H9'2"°x3 depth (N/2 -1)xF
2-M4x0.7x6 depth 12 12 F N-M3x0.5%5 depth
/
% 4 %
D, . |
'W\Q@*@f@ 7 2 oo,
_ = ; ;‘ 2]
* * - ; (\3%«
_ e { ] ! L —T\ 4-M3x0.5x4 depth
2 L - |
6.5 3.5
Stroke adjuster at extension end KA Stroke adjuster at retraction end
K 14.6
2-M3x0.5x4 depth 3.8 7 NA-M3x0.5x4 depth
) N Tl (@) (3 b T
© ) @)
??5) =
H (;i\ @ @ B 0
— N P © /
~ 85 || J ! ! 6 9.5(Max.) \
2 7 2-M5x0.8(air port)
#3H9"0"°x3 depth HA GA
L LA B NN-M4x0.7x8 depth
‘ | D5 0
T H——— 415 @k
iz N ) S W R ~ ——
A s B
o : JOF © ﬂ
i 3 7 nd
I—A I—E ! 13 5.5 ! 13 5.
il A-A B-B
(NN-1)xH
SC“o:kee F G |GA| H | HA | J K | KAl M N NA | NN 4 zz
10 | 25 9 17 | 28 | 20 |13 [195|235| - 49| 4 2 2 48.5| 56
20 | 256 | 12 12 | 30 | 30 8529 |335| - 54 | 4 2 2 53.5( 61
30 | 40 | 13 | 33 | 20 | 20 95(39 |435| - 65| 4 2 3 645| 72
40 | 50 | 15 | 43 | 28 | 28 |10.5|56 |[53.5| - 83| 4 2 3 825 90
50 | 38 | 20 | 43 | 23 | 46 [24.5|60 |63.5(825]| 101 6 4 4 1100.5| 108
75 | 50 | 27 | 83 | 28 | 56 |38.5(96 |88.5|132.5| 151 6 4 5 [150.5| 158

PISCO

76



PCSS Dimensions-Symmetric style 212

77

SLIDE CYLINDER

2-M5x0.8x8depth

.

38

zz
| z
0 i o
© K ™
N
m‘ 8| }
o T 1
24H9' 0™ x3.5 depth 16 (N/2 -1)xF
—— - N-M4x0.7x5.5 depth
i 16
é ol R0l Q/ ( + n\)
D - — F /
L oo 2e6—&1 ) =35 (0%
= +
@ &
[} [© i A i [ fam LGN
_ S=— [ Naato S
R o - T rod 4-M4x0.7x6 depth
) 0 0 | |
N 2N o Stroke adjuster —
o ‘ ”\Stroke adjuster at extension end at retraction end 5
KA 18.5
K 5.85 NA-M4x0.7x5 depth g
b
- - o
0 s9 110
s 5 S
= al i % ™ / N
— | P (
475 J \ I ! 8 11 (Max.) D
2 _|}95|  \2:M4x0.7x5 depth 2-M5x0.8 (air port)
HA GA
24H9'5* 3.5 depth NN-MB<0.8510 dnth
= X X
i A B Sab
*T I B D () — | o g @
[ = O c Ol
00 20— B B
t D
! &
A B
= . ! 17 10
H
(NN-1)xH I A-A B-B
Sodel F | G |GA| H|HA| I | J | K| KA| M| N |NA|NN| Z |2z
10 35 15 15| 40 40 10 40 | 26.5| - 71 4 2 2 70 80
20 35 15 15 | 40 40 10 40 | 36.5| - 71 4 2 2 70 80
30 35 15 15| 40 40 10 40 | 46.5| - 71 4 2 2 70 80
40 50 17 42 | 25 25 10 52 | 56.5| - 83 4 2 3 82 92
50 35 15 51| 36 36 22 60 | 66.5| - 103 6 2 3 102 | 112
75 55 [ 25 61 | 36 72 43 85 | 91.5(125.5| 149 6 4 4 148 | 158
100 | 65 35 [ 111 | 38 76 52 | 130 [116.5|179.5| 203 6 4 5 202 | 212

PISCO



PCSS Dimensions-Symmetric style 16

SLIDE CYLINDER

zz
z
o) | o
© <
[32]
© 10 M
o
25H9"0% x4 depth
———— 21 (N/2 -1)xF
2-M6x1x10 depth 20 F N-M5x0.86 depth
< N 47 ;
@ D a
o i | | anry _ _ vl o
o | SO 5
s 2 o @ S :
| @ . == 3
> J _ i I T 4-M5x0.8x7 depth
@% = ‘@*J& 7777#{”@’. Stroke adjuster }L,‘
=2 N Stroke adjuster at retraction end .
37.5 ‘ at extension end 1216
KA
K 21 NA-M5x0.8x5.5 depth
55 10
B ool i -
T =
SRS g
-l ] ] ,,
55 \ J /11 1o 13.5 (Max.) A
3 1M 2-M5x0.8x5.5 depth | 2-M5x0.8 (air port)
05H9’s " x4 depth . > NN-M6x1x12 depth
; A B A MBx112 dopth
o ™ o bl "
— | < v 2 — ;
Bl 8 @INMEEERCINE
| AN A AB A ————Ft 1 |
1 \+l \y A\ \y Ay +
Ik (@l ©
= ||
- on an g
A B
= = 24 |10
H
(N o A-A B-B
Sl F | G |GA| H |HA| 1 J K |KA|l M| N |NA[NN| Z | 2Z
10 | 35 | 16 16| 40 | 40 | 10 40| 29| - 76| 4 2 2 75| 87
20 | 35 | 16 16| 40 | 40 | 10 40| 39| - 76| 4 2 2 75| 87
30 35 16 16 | 40 40 10 40 | 49 - 76 4 2 2 75 87
40 40 16 16 | 50 50 10 50 59 - 86 4 2 2 85 97
50 | 30 | 21 51| 30 | 30 | 15 60| 69| — [101| 6 2 3 100 | 112
75 | 55 | 26 61| 35 | 70 | 40 85| 94| 125|151 | 6 4 4 150 | 162
100 | 65 39 (109 | 35 70 55 [ 118 | 119 | 173 | 199 6 4 5 198 | 210
125 | 70 19 | 159 [ 35 70 68 | 155 | 144 | 223 | 249 8 4 7 248 | 260

PISCO

78



PCSS Dimensions-Symmetric style 20

79

SLIDE CYLINDER

zz
z
10 | o
0| 0|
<
re) 13 M
o
25H9 '5 % x5 depth 27 (N/2 -1)xF
2-M6x1x13 depth E N-M5x0.8x10 depth
& & d
3
D —
: e tee @ «¢
|_FE__| o
& & o1 i
= =
o d & N = oL 6-M5x0.8x8 depth
S o
46.5 KA Stroke adjuster at retraction end 18_|6
Stroke adjuster at extension end K 25
6.5_| 12 NA-M6x1x6.5 depth
£
P——)
I il o ('( s 31 ;
o DI, &
1 1ls ¢ o= B
o © g
65 || | J [1 11 [12_[14.5 Max,) T
3 1131\ 2-MBx1x6.5 depth / 2-Rc1/8 (air port) D
@5H9 5 x5 depth HA GA
NN-M6x1x12 depth
A B
" Y D@ 0 _
E {1 eNl: |eHl
0000 w =i
H Or ®F
PaiN Lo
I-A B 27 135
H
(NN-1)xH G A-A B-B
Coe ' F [FF| 6 [GA] H [HA] 1 | J | K[ KAl M| N [NA][NN] Z | 2z
10 50 40 15 25| 45 35 10 44 31 - 83 4 2 2 81.5| 97
20 50 | 40 15 25| 45 35 10 44 1 41 - 83| 4 2 2 81.5| 97
30 50 40 15 25| 45 35 10 44 51 - 83| 4 2 2 81.5| 97
40 60 50 15 35| 55 35 10 54 61 - 93 4 2 2 91.5| 107
50 35 35 15 50| 35 35 10 69 71 - 108 6 2 3 |106.5| 122
75 60 60 19 54 | 35 70 10 | 108 9 | - 147 6 2 4 1145.5| 161
100 | 70 70 37 | 107 | 35 70 58 [ 113 | 121 | 169 | 200 6 4 5 198.5| 214
125 | 70 70 41 155 | 38 76 70 | 155 | 146 | 223 | 254 8 4 6 |252.5| 268
150 | 80 80 19 195 | 44 88 87 | 190 | 171 | 275 | 306 8 4 7 1304.5| 320

PISCO



PCSS Dimensions-Symmetric style 25

SLIDE CYLINDER

Z
9 8
wn
S 15 M
@6H9'5™ x6 depth 30 (N/2 -1)<F
2-M8x1.25x15 depth 31 F N-M6x1%13 depth
X
@ o o ¥
sdi=N o
o _ 1 M@ B ©| o
~ \Jw \E{W w o
C'D\ @ FE
23 4 & b
= 1
(N Q2 [ i © ! f
I/ 4 i
N N [y - il G 2
54.5 ‘ Stroke adjuster
Stroke adjuster at extension end KA at retraction end
K 31
8 15 NA-M8x1.25x8.5 depth
"7 [}
!— =
. & ¢ =
&
e 1)
oo o
15.5 (Max.
2-M8x1.25x8.5 depth 8 J / 15 ( )
—_— 16_| 2-Rc1/8 (air port)

22 |7

6-M6x1%x10 depth

26H9'5™ x6 depth HA GA NN-M8x1.25%16 depth
A NNN-M8x1.25x16 depth
Tse 1
-i_ — © - o
: Ok i
@0 ®@o o | ' :
£ OF
J_ |
A0 J
|-A 34 135
H
(NN-1)xH A-A B-B
S " F [ FF| G |GA| H | HA| I KAl M| N|[NA[NN]| Z | 2z
10 50 40 22 22 | 45 45 12 35 - 92 4 2 2 90.5| 108
20 50 40 22 22 | 45 45 12 45 - 92 4 2 2 90.5| 108
30 50 40 22 22| 45 45 12 55 - 92 4 2 2 90.5| 108
40 60 50 22 22 | 55 55 12 65 - 102 4 2 2 1100.5| 118
50 35 35 20 55| 35 35 12 75 - 115 6 2 3 [113.5] 131
75 60 60 26 61| 35 70 33 100 - 156 6 2 4 (154.5| 172
100 | 70 70 32 | 102 | 35 70 50 | 114 | 125 | 162 | 197 6 4 5 |195.5| 213
125 | 75 75 40 | 154 | 38 76 67 | 155 | 150 | 218 | 255 8 4 6 [253.5| 271
150 | 80 80 30 [ 190 | 40 80 82 | 180 | 175 | 258 | 295 8 4 7 1293.5] 311

PISCO

80



PCKB Series

LEVER CLAMP CYLINDER

Features

e Lever type clamp cylinder gives high clamping force.

e Simple mounting of sensors on all four sides of body.

e Hard anodised body gives smooth lines and high corrosion
resistance.

Specification

Acting type Double acting

Tube 1.D. (mm) 25 32 40 50 63

Stroke (mm) 20 25 25 30 85)

Port size M5x%0.8 Rc1/8 Rc1/4

Operating fluid Air

Operating pressure range 0.1~1 MPa

Proof pressure 1.5 MPa

Order example Ambient temperature -5~+60°C (No freezing)

Cylinder Not required

PC KB - 32 - 25 M - D ubrication Lever Grease
| |_| I__l —|_ |__| Available speed range 50~500 mm/sec

Sensor switch RCE, RCE1, RDEP
MODEL TUBE I.D. STROKE M:Magnet PORT THREAD
N X weignt (g ot | 233 | an1 | 466 | 832 [ 111
elg g
(Only for 925) Magnet 270 | 456 | 578 | 915 | 1242
Blank: Rc thread
G: G thread

NPT: NPT thread
(Only for 232~63)

Installation of sensor switch

Set screw

Watchmakers

screw driver ™\

Sensor switch
RCE,RCE1

Sensor switch

81 PISCO



PCKB Theoretical clamping force calculation

LEVER CLAMP CYLINDER

L1 L2
P
" n

|

\ FxL1

| T -

| L2

[ i ]

i T: Theoretical clamping force of the lever (N)

i F: Theoretical output of cylinder (N)

i L1:  Distance from output point to fulcrum (mm)

i L2: Distance from clamping point to fulcrum (mm)

T

. Operating pressure (MPa) Operating pressure (MPa)
Tube | Piston area
ID. |whenthelever| 03 | 04 | 05 | o6 | o7 [ o8 03 | 04 | o5 | 06 | o7 | o8
(mm) | is down (mm?)
Theoretical output (N) Theoretical clamping force of lever (N)

25 490.9 147.3 196.3 2454 294.5 343.6 392.7 61.5 82.1 102.6 1231 143.6 164.1
32 804.2 2413 321.7 402.1 482.5 563.0 643.4 108.6 144.8 181.0 2171 253.3 289.5
40 1256.6 377.0 502.7 628.3 754.0 879.6 1005.3 260.0 346.7 433.3 520.0 606.7 693.3
50 1963.5 589.0 785.4 981.7 1178.1 1374.4 1570.8 471.2 628.3 785.4 9425 1099.6 | 1256.6
63 3117.2 935.2 1246.9 1558.6 1870.3 | 2182.1 2493.8 1169.0 1558.6 1948.3 | 2337.9 | 27276 | 3117.2

PISCO

82



PCKB Dimensions 225~263

LEVER CLAMP CYLINDER

83

Q
- N/
SSasg L1 L2 L3
B T a— HEST
o BE 1] .-
T\&%—u-\-- _____ 51
| o
. ©, |
|
I I
t ' ‘ 1 |
w F=al~: :'_ _.‘l ‘
i - I L] o
L ]
! =
= ‘ il I
7 ‘
‘ aTh
[ \ 4-gR thru ol |
r*jt' ‘ |||
w LSt i
7 | NEN:
2-F
C
OB
oA 2x4-D
Cod
Tub‘;fD_ A B (o3 D E F G H J K L1 | L2 | L3
25 28 | 40 — | @9x7 depth, M6%1.0x10 depth 8 |M5x0.8| M6%x1.0 | 13 45 1812 | 14 [335] 5
32 34 | 44 |48.5 | 29x7 depth, M6%1.0x10 depth 9 | Rc1/8 | M8x1.25| 16 [11.9 | 77.4 | 18 |40 7
40 40 | 52 |56.5| 210.5%8 depth, M8x1.25x12 depth 10 | Rc1/8 | M8x1.25| 16 3.3 [ 736 | 20 |29 7
50 48 | 62 |70 [@11x8.5 depth, M8x1.25x16.5 depth | 10 | Rc1/4 [ M10x1.5| 22 | 2.6 | 722 | 24 |30 8
63 60 75 |83 211x8.5 depth, M8x1.25%x16.5 depth 12 | Rc1/4 | M10x1.5| 22 21 [ 671 ] 30 |24 8
Code Without magnet Magnet Q R
Tube ILD\[ M N P M N P
25 |41 |103.8 |63.5( 51 113.8 | 73.5( 57 | 51
32 |49.5(132.7(80.9(59.5|142.7| 909 70 | 5.1
40 |51 |122 |82 |61 |132 92 63 | 6.9
50 |58 |138.5(94 |68 ([148.5(104 70 | 6.9
63 |67 |[1475|109 |77 |157.5|119 70 | 6.9

PISCO




PCKC Series

PNEUMATIC - SWING CLAMP

Order example

CYLINDER

PCKC —20— 10— LN —
[

I T

CLAMP

ICDEL STROKE

TUBE I.D.

[]
T

PORT THREAD
Blank: M5%0.8

—
ROTARY
DIRECTION

L: Counter clockwise (CCW)
R: Clock wise (CW)

(for 12~925)

Blank: Rc thread
G: G thread
NPT: NPT thread
(for 232~250)

ARM

i

Blank: With [ N: Without

Rotary direction
Port

~

Retraction
en

PISCO

Rotary
Stroke

Clamping
Stroke

cw

Features

e Ultra compact, light weight and space saving cylinder.

e |deal for use in machinery where space is limited and
incorporating sensor groove which enables flush fitting of

sensors.

e The sensor can freely mounted the four sides.

e Magnetic as standard.

Specification
Acting type Double acting
Tube 1.D. (mm) 12 [ 16 [ 20 | 25 | 32 | 40 | 50
Port size M5x0.8 Rc1/8 |Rc1/4
Rotary angle (Extension end) 90°+10°
Rotary direction CCW (L), CW (R)
Rotary stroke (mm) 7.5 9.5 15 19
Clamp stroke (mm) 10,20 (10, 20, 30, 50 (50 only for @50)
Medium Air
Operating pressure range 0.1~1 MPa
Ambient temperature -5°C~+60°C (No freezing)
Available speed range (*1) 50~200 mm/sec
Non-rotating accuracy (*2) | +2° |£1.3° +1.2° | +1°
Lubrication Not required
RDE ® | o = = = = =
Sensor  RCERCE1| - | - ([@ o | @@ @
RDEP = = = [ J - [ I )

*1. Keep the operating speed between 50~200mm/s with a speed conteoller.
Please refer to moment of inertia.
Adjust the speed gradually from state to prevent inner parts being damaged.
*2. Arm during clamping (Clamp part).

Clamping arm mounting methods

0 X

84



PCKC cCapacity

85

PNEUMATIC - SWING CLAMP CYLINDER

Moment of inertia

2
1x10?

6
4

6 N~ 250

N N 232,40

Moment of inertia (kg-m?)
S

220,25
2

1x107° 212,16
50 70 100 150 200
Max. piston speed* (mm/s)

* Max. piston speed is equivalent to approximately 1.6x the
average piston speed. (Rough indication)

Allowable bending moment

200 250
232, 240
100 220, 225
I~ 216
80
’g -
£ 60—
—
e
. 12
® 42
<@
£
<
20
10
0.1 0.2 0.4 0.6

Operating pressure (MPa)

Installation of sensor switch

Watchmakers Set screw

screw driver E o
/4
e
//

Sensor switch

|

I

|

l - RCE,RCE1,RDE
e

I//

| Sensor switch
I RDEP

| 7

| -

e

[

4

PISCO



PCKC A Precautions Read before installing

PNEUMATIC - SWING CLAMP CYLINDER

/\ CAUTION

Do not use the cylinder under the following environments

® Areas that contain splashing cutting oil.

® Areas that contain foreign objects such as cutting chips or heavy-dust.
® Areas that environment temperature exceeds the operating range.

® Areas that expose to direct sunlight.

® Areas that contain corrosion risk.

A cylinder could malfunction or the non-rotating accuracy could be reduced if a rotational force is
applied to the piston rod. Therefore, check the particular examples below before operating the cylinder.

@ Make sure to mount the cylinder vertically to the ground. (Fig.1)

@ Do not apply external rotary force on the piston rod. (Fig.2)

© Make sure that the clamping surface of the workpiece is perpendicular to the axial line of cylinder. (Fig.3)

@ Clamping the workpiece in the clamping stroke of cylinder only. Do not clamp the workpiece in the rotary stroke. (Fig.4)

@ Make sure that the workpiece is not moved by external force while clamping. (Fig.5)

@ Do not mount the cylinder @ Do not apply external rotary © Do not clamp on a slope.
horizontally. force on the piston rod.

@ Make sure that the workpiece have
no external force applied besides
the cylinder while clamping.

Rotary stroke

k

Clamping stroke

Fig.4 Fig.5

PISCO 86



PCKC Dimensions 212~@50

PNEUMATIC - SWING CLAMP CYLINDER

Retraction: Q+CS*x2
Extension: Q+CS*x3+RS*

N_, M+CS* R+CS*

212, 216

YA

2x4-sinkg|
| /2x4-K,gH thru

|

212

Retraction: Q+CS*x2
Extension: Q+CS*x3+RS*

OB
N ‘M+CS* R+CS*
X S 2-E T
N[
o o _ 1 N [ 1l @ ,,,,,,, 1. 2x4-sinkel
s s © /m
_lu
- 4l _ _ 1t
| I |
=4
Q
L J
W V+CS*
WA |
Ol o
I ) N ;
- CS: Clamping stroke
: Rotary stroke
} Y RS: R k
OA Cod
1 TubeD_ A B C D E F G H | J K L M
VA 12 (155 25 - 6 | M5x0.8 | 11 - | 35|65 4 | M4x0.7 7 9.5
16 |20 29 - 8 | M5x0.8 | 14 - 35|65 4 | M4x0.7 7 9.5
@ @ 20 |255| 36 |36 12 | M5x0.8 | 18 |179( 54 [ 9 7 | M6x1.0 10 6.5
> > 25 |28 40 [39.6| 12 | M5x0.8 | 23 [225| 54 | 9 7 | M6%1.0 10 6.5
32 |34 45 - 16 | Rc1/8 30 |295| 55 |9 7 | M6%x1.0 10 | 155
40 |40 52 - 16 | Rc1/8 30 |295| 55 |9 7 | M6x1.0 10 23
50 |50 64 - 20 | Rc1/4 37 |365| 66 11 8 |M8x1.25| 14 28
Tlﬁ,‘;de. N (o] P Q R |RS| S T U V | VA | VB (W (ROD thread) WA X Y YA V4
12 8 |29 | 20 | 54 |355| 75| 15 5 8 [125] - - M3x0.5x5.5L Across flats 5x2.5L | 2 7~18 | M3x0.5 4
16 11 36 | 25 | 57 |355| 75| 15 5 1 |125] - - M5x%0.8x6.5L Across flats 7x2.5L | 2 7~20 | M4x0.7 5
20 14 | 51 35 | 84 |62 95| 28 87| 16 |105| - - M8x1.25x14L Across flats 10x3L 3 12~25 | M6%1.0 7
25 14 | 51 35 | 85 (63 9.5 29 85| 16 [105| - - M8x1.25x14L Across flats 10x3L 3 12~25 | M6%1.0 7
32 18 | 67 | 45 (107 |715(15 28 |11 20 |22 |45 | 14 M10%1.5x19L Across flats 14x5.5L | 3 12~25 | M8x1.25 [ 10
40 18 | 67 | 45 (108 |65 |15 27 8 20 |295]|5 14 M10x1.5x19L Across flats 14x5.5L | 3 12~25 | M8x1.25 | 10
50 22 | 88 | 65 |129.5(76.5|19 34 |115| 22 |355]|7 19 M12x1.75%20L | Across flats 17x5.5L | 3.5 | 30~40 | M10x1.5 [ 10

PISCO



PCR(Q) Series

ROTARY ACTUATOR

Symbol

Order example

PCRQ —20R— [ —[]

MODEL

ANGLE

a

TUBE I.D.

ADJUSTER

A: With adjusting bolt

R: With s|

hock absorber

* 212 without shock
absorber.

Features

T T

PORT LOCATION (*)

Blank: End port PORT THREAD
Blank: M5x0.8
(for 812, 216)
Blank: Rc thread
G: G thread
NPT: NPT thread
(for 20~240)

* @12 only option.
* Port location cannot be
changed after delivery.

e Centering boss and locating hole for accurate positioning.
e Operating range of table is 0°~190° by angle adjusting screw

e Compact

design using double rack and single pinion.

e Hollow shaft standard for wiring and piping.

e Possible

to fit shock absorbers as stops.

e Ease of mounting with integral table.
e Magnetic as standard.

Specification
Acting type Double acting
Tube 1.D. (mm) 12 [ 16 [ 20 | 25 | 32 | 40
Port size M5x0.8 Rc1/8
Medium Air
Max. adjusting bolt |07MPa 1 MPa
operating
pressure shock absorber| — 0.6 MPa (*1)
Min. operating pressure 0.1 MPa (*2)
Ambient temperature 0~+60°C (No freezing)
adjusting bolt Rubber bumper
Cushion
shock absorber| — | Shock absorber (*3)

Angle adjustment range

0° to 190°(max.) (*4)

Sensﬁf 2 wire RDFE(V): Non-contact

switc
(*4) 3 wire RNFE(V): NPN, RPFE(V): PNP
Weight adjusting bolt | 0.25 | 0.60 | 1.24 | 210 | 418 | 7.67
(kg) shock absorber| — | 0.61 | 1.31 | 212 | 419 | 7.72
Minimum rotation that
will not allow decrgase _ 70° 58° 69° 77 g0°
of energy absorption
ability

*1. The maximum operating pressure of the actuator is restricted by the

maximum allowable thrust of the shock absorber.

*2.
*3. The shocl
performa

*4,

No-load conditions.

k absorber is expendable. Replace when damping
nce decrease.

Be careful if the rotation angle of a type with internal shock absorber is

set below the value in the table below, the piston stroke will be smaller
than the shock absorber’s effective stroke, resulting in decreased
energy absorption ability.

Allowable kinetic energy and rotation time adjustment range

— Rotation time adjustment range for
Model Allowable kinetic energy (J) stable operation(s/90°)
Adjustment bolt Internal shock adsorber Adjustment bolt Internal shock adsorber
PCRQ-12 0.006 - -
PCRQ-16 0.007 0.039
0.2t01.0
PCRQ-20 0.048 0.116 0.2t0 0.7
PCRQ-25 0.081 0.294
PCRQ-32 0.32 1.6 0.2t0 2.0
0.2t01.0
PCRQ-40 0.53 2.9 0.2t0 2.5

* Be careful if a type with internal absorber is used below the minimum speed, the energy absorption ability will decrease drastically.

PISCO




PCR() Capacity 12~240

ROTARY ACTUATOR
Torque diagram Adjusting bolt Installation guide of shock absorber
/ Max. operating pressure
g ;'2 / P /.' //. @ |Install 3 nuts on the shock absorber as the picture shown.
o 07 — / — _// @ Bind the A nut and B nut together via tightening them with
2 8;2 AT A 7 /" //' /7 different rotating direction.
a A L L .
g 04 0,9' G;\Z'%‘% o‘f’/ Y 0&? © Hold B nut and rotate C nut to bind the plate and C nut
o 03 &TISATICE OQ/ AP 7d together.
;% Q/ q/ Q Q/ Q// Q / Shock absorber
g 02 / i 0% L/ 4 A Max. operating @ Unbind the A nut and B nut. The installation is complete.
8‘ / q / // Tre‘ss‘urT | © For the tightening torque of the fixed nut of the shock
0.1 Vi A i A
01 020304 081 15 2 3 4 6 81012 20253040 absorber, please refer to the table below.
0.5 15
Torque (N-m) Tube I.D Max. tightening
AB C Metal plate o torque (N.m)
N/ 16 167
20 3.14
=+ | —
25 10.8
32 23.5
Theoretic force . 40 628
nit: N-m
Model PCRQ
Tube I.D. 12 16 20 25 32 40
0.1 0.1 0.26 0.5 0.91 1.88 3.78
0.2 0.21 0.52 1 1.81 3.78 7.53
0.3 0.31 0.78 1.5 2.72 5.66 11.31
0.4 0.41 1.04 2.01 3.62 7.56 15.09
Operating 0.5 0.52 1.31 2.51 4.55 9.44 18.87
ressure
p(Mpa) 0.6 0.63 1.57 3 5.45 11.32 22.62
0.7 0.73 1.83 3.5 6.36 13.23 26.4
0.8 - 2.09 4.02 7.26 15.12 30.16
0.9 - 2.35 4,52 8.17 17.01 33.93
1.0 - 2.61 5.03 9.08 18.9 37.7

Allowable load

Set the load and moment to be applied to the table within the allowable values shown in the table below.
(Values outsize of limitations will cause excessive play, deteriorate accuracy, and shorten service life.)

(@) T i (b)
Pictures - '::| - - '::‘ - - '::‘i)-
= = ==
l ! [ i [ :
Tube . Allowable thrust load (N)
Allowable radial load (N) Allowable moment (N.m)

1.D. (a) (b)

12 54 71 71 1.5

16 78 74 78 24

20 196 197 363 53

25 314 296 451 9.7

32 390 493 708 18

40 543 740 1009 25

89 PISCO



PCR() Rotation direction and angle

ROTARY ACTUATOR

Positioning pin hole

Rotating direction and angle

e When the port 1 is pressurized, the flange rotates Adjusting bolt A
in clockwise (CW) direction. (for adjusting the

. . rotating range in

e When the port 2 is pressurized, the flange rotates CCW direction)

in nter-clockwi W) direction.
counter-clockwise (CCW) directio Adjusting bolt B

The rotating angle range can be adjust by the (for adjusting the
method shown as right figure. rotating range in

CW direction)
Counterclockwise (CCW)
Port 1
= <= Port 2 (¥)
Port 1(°) NOTE
Port 2 ==

e The figure shows the rotating range and use the pin hole as indicator.

] e The pin hole position in the figure locates at the situation which the
Port2 (*)  Clockwise  Port 1 (¥) CCW & CW rotating range are both adjusted at 90°.

* Only for g12. (CW)

Rotating range adjusting example

e The followed figures show the rotating range of different adjustment via bolt A and B.
(The drawings also show the rotation ranges of the positioning pin hole.)

190° (Max) Rotation 180° Rotation

Positioning pin hole Adjustment of bolt A

Adjusting bolt A

(for adjusting the rotating
range in CCW direction)

Adjusting bolt B

(for adjusting the rotating ,7 g =
range in CW direction)
Adjustment of bolt B
The rotation range
of positioning pin
90° Rotation
Adjustment of bolt A Adjustment of bolt A Adjustment of bolt A
— I e ;
/ /
YD » o oot
» ‘ BN » ‘ QN2
T b T— D b
=e= ; » =g
Adjustment of bolt B Adjustment of bolt B Adjustment of bolt B

PISCO 90



PCR() Dimensions 312

ROTARY ACTUATOR

8-M4x0.7x6.5 depth P.C.Dg29 |
(circumference: 8 equivalents) ‘ A

2-97.5%4 depth )},‘ - 3H9x3 depth

24.3 thru \

32.5 1

1 _ @( o
™)
K=
- i - i
/ (9]
hel
0
X
‘ 2
4-M4x0.7x4.5 depth 45 @
50
(Max.approx.=18.5) 73.5
(5]
6 ° 040h9
Q|
3
° 239h9
18.5 B @20H9 © 18.5 2:M5x0.8
Qo © /(Standard: End port)
2-opposite side 10 ! }
i —! ! ‘
2-M6x1.0 w —T \
Adjusting bolt ‘ T ‘ 3|
. | — ‘ 2
l —1 M | f T 1 < e
o © /;U:EDJ o

T ‘ T

‘ 26 thru 26 0

| N
2-M5 x 0.8 59.5 2-M5%0.8

(-E : Front port)

@7H9%1.2 depth

]

\ ‘ s
| — —1 :@ A
: -
3H9x3 depth
50 2-M5x0.8
| ‘ L/
& | O
|
|

PISCO



PCR() Dimensions 16, 3620, 325

ROTARY ACTUATOR
8-QQxQA depth; P.C.DgQB
(circumference: 8 equivalents)
2-gUA%UB depth ‘e
gUU thru °
g S
(9}
2-8B [ °
(Bolt width) 1
gﬂ
T
4-MMxMA depth / |
(Max.approx. =RR) L
o
£| oLC
3
N 2 oLB
K kst
u:% oLA o
i
[a)
| | |
oM
— 1 1 /4 = 3
E} ‘ ‘ )
- [ — " ! | |
—t— : —
== )
Adjusting bolt | |
ZAA \ \ oE thru
oF 2-DDxDA depth
PCRQ-16~25R
With shock absorber . T.6 zx 2 . 6
(Max. approx. =RP) m
. gﬂ 0 s
T
T
g[l i
Shock absorber
L |A|AA| B [BB|C |D|DA| DD |E|F |G|H| HH [ 1 |J|K|L|[LA|LB|LC|MA| MM

16 |34 (14 |45]| 7 8| 13 | 12 | M8x1.25 6 [15H9| 9.5| 47 |3H9x3.5| 60 | 27 | 26 | 92|20H9|45h9|46h9| 8 | M5x0.8

20 |40( 17 |65 7 | 10| 17 [ 15 | M10x1.5 10 |22H9(12 | 57 [4H9x4.5( 84 [ 37 | 32 | 127 |32H9|65h9|67h9| 8 | M6x1

25 |46 22 | 75| 8 | 12| 20 [ 18 | M12x1.75 | 13 |26H9|15.5| 66 |5H9%5.5| 100 | 50 | 37 | 152 (35H9|75h9|77h9| 8 | M8x1.25

Code

ol O |P PP QA(QB| QQ R | RP |RR S T TT [UA[UB(UU|W | X |[XA[XX|Y [YA|YY

16 |15.5|4 |FK-1008L-S| 8 | 32 [M5x0.8 |29 |29 |31 |M10x1.0|5.5| M5x0.8 | 11 | 6.5| 6.8/ 50 |15 |3.5|3H9(27 | 3.5 |3H9

20 |19.5|4.5|FK-1008L-S| 10 | 48 [M6x1.0 |33 |23.5|26 |M10x1.0| 4.5 | Rc1/8 14 | 8.5| 8.6| 70 (23 |4.5(4H9|39 [ 4.5 |4H9

25 |22 |5 |FK-1412L-S| 12 | 55 | M8x1.25 |37.5|33 |31.2|M14x1.5| 7.5 | Rc1/8 18 |10.5|10.5| 80 (26.5|5.5|5H9 |45 [ 5.5 |5H9

PISCO



PCR(Q) Dimensions 832, 340

ROTARY ACTUATOR
PCRQ-32R, 40R 8-QQxQA depth; P.C.DgQB
. (circumference: 8 equivalents)
With shock absorber
2-gUAxUB depth
(Max. approx. =RP) 2UU thru

T I

2-BB D
ZPP [ 4-MMxMA depth / ‘ ‘
Shock absorber - ep | I |

(Max. approx. =RR) L
o
=
£ oLC
S
N Q olLB
K B3
f— D o oLA o
i}
21T | i | T
Piping port I _ [a}
|
I
o 41
=)

R
O
KD i
Sl

|

|

|

[

|

|
A

H

& 2-s W \
‘ ‘ ‘ Adjusting bolt \w \ ‘
| | Z-AA | oE thru
M oF 2-DDxDA depth
PCRQ-40
T, G zx 2 G
| | 2x2-TT
Piping port
| | I i
Y T
2-M5x0.8
Piping port _ @, - g _ ,é e
| T |
[ I
oo A|AA( B BB C | D (DA DD E F |G|H HH | J|K|L|LA| LB LC | M [MA

Tubr 1.D.
32 (59| 30 [ 12 |Bolt width 12|14.5| 27 | 18 | M12x1.75 | 13 [24H9| 17 | 86| 6H9%4.5dp [130| 66 | 47 | 189 |56H9|98h9 [100h9| 102 10
40 |74 36 | 15 |Bolt width 21|16.5( 32 | 25 | M16x2.0 | 24 |32H9| 24 (106 [ 8H9x6.5dp | 150 | 80 | 60 |240|64H9|116h9 |118h9( 120 | 13

Code

=l MM |N|O|P| PP |QA|GB| Q@ | R |RP|RR| S |T | TT |U|UA|UB|UU|W | X |XA

32 | M8x1.25 85|27.5| 6 | FK-2016L-S [14.5| 77 | M10x1.5 |50.5 | 46 |38.1| M20%x1.5 [10.5| Rc1/8 | 42 | 18 [10.5(10.5| 95(37.5| 6.5
40 | M12x1.75 [100 | 37 9 | FK-2725L-S [16.5| 90 [ M12x1.75 [65.5| 68 |45 | M27x1.5| 7 |[Rc1/8 |57 | 20 |12.5|14.2| 113 (44 |[8.5

Code
XX Y | YA|YY | 2X

32 |6H9| 59 | 4.5 [6H9| 49

40 |8H9| 69 | 4.5 |8H9| 54

PISCO



PCHD Series

PARALLEL GRIPPER (2-Finger)

Order example

PCHD —20R —[]

o

-

MODEL TUBE I.D. STROKE *
8,12, 16, 20 Blank: Short
1: Medium
PIPING TYPE 2:Long
Blank: Axial piping R: Side piping

* Stroke selection

Features

e Low profile design saves space and reduces bending moments,
improved accuracy with smooth operation.

e Improved mounting repeatability, easy positioning for mounting.

e Double piston construction achieves compact design with strong
gripping force.

e High rigidity and high precision with martensitic stainless steel.

e Grooves on the body for sensor switch to be inserted into.

e Magnetic as standard.

Specification

Acting type Double acting

Tube 1.D. (mm) 8 12 | 16 | 20
Port size M3x0.5 M5x0.8
Medium Air

Operating pressure range |0.15~0.7 | 0.1~0.7 MPa
Ambient temperature -10~+60°C (No freezing)
Repeatability +0.05 mm (*1)

Max. Short 120

?rZZLaeTgy Medium 120

(c.p.m) Long 60

Lubricator Not required

Sensor switch 2 Wire RDFE(V): Non-contact

3 wire RNFE(V): NPN, RPFE(V): PNP

Attached bolt 2 pcs | =

*1. This is the value when no offset load is applied to the finger. When an
offset load is applied to the finger, the maximum value is £0.15mm due
to the influence of backlash of the rack and pinion.

Tube I.D.

Stroke (mm) 8 12 16 20
St’r‘gfe °s o 8 12 | 16 | 20
Medum g ol| 16 | 24 | 32 | 40
|t ol| 32 | 48 | 64 | 80

PISCO

Gripping force s s
(@) o
-
SRl | ween)
PCHD-8 65
PCHD-8-1 19 79.1
PCHD-8-2 113.3
PCHD-12 150
PCHD-12-1 48 191.3
PCHD-12-2 291.2
PCHD-16 350
PCHD-16-1 90 454.2
PCHD-16-2 678.3
PCHD-20 660
PCHD-20-1 141 869
PCHD-20-2 1310.6

* Values based on pressure of 0.5 MPa, gripping point L=20mm, at center
of stroke.

94



PCHD Model selection / Allowable load calculation

95

PARALLEL GRIPPER (2-Finger)

Model selection
Please select your model according to the weight of workpiece

e Although conditions differ according to the work piece shape
and the coefficient of friction between the attachments and the
workpiece, select a model that can provide a gripping force of
10 to 20 times the workpiece weight, or more.

e If high acceleration, deceleration or impact forces are
encountered during motion, a further margin of safety should
be considered.

When gripping a workpiece as in the
figure as shown above:

F: Gripping force (N)

u: Coefficient of friction between the

attachments and the workpiece

m: Workpiece mass (kg)
g : Gravitational acceleration (=9.8m/s?)

mg : Workpiece weight (N)
the conditions under which the workpiece
will not drop are,

2xuF > mg

—

uF

Number of fingers

-~ M9
2%

uF

Therefore,
mg

With"a"representing the extra margin, "F"
is determined by the following formula:

mg
=—=x
F 2xu a
The "10 to 20 times or more of the workpiece weight" is
calculated with a safety margin of a=4, which allows for impacts
that occur during normal transportation, etc.

p=0.2 u=0.1
__mg __mg
Feox02 % | F w01 ™?
=10xmg =20xmg

10xworkpiece weight | 20xworkpiece weight

*1. Even in cases where the coefficient of friction is greater
than p=0.2, for reasons of safety, please select a gripping
force which is at least 10 to 20 times greater than the
workpiece weight.

* 2. If high acceleration, deceleration or impact forces are
encountered during motion, a further margin of safety should
be considered.

Confirmation of external force on fingers

o

Fv

:

1

L: Distance to the point at which the load is applied (mm)

T Allowable Maximum allowable moment
ube 1.0 | ertical load
(mm) Pitch moment [ Yaw moment | Roll moment
Fv(N) Mp(N-m) My(N-m) Mr(N-m)
8 58 0.26 0.26 0.53
12 98 0.68 0.68 1.4
16 176 1.4 1.4 2.8
20 294 2 2 4

* Values for load and moment in the table indicate static values.

Allowable load calculation

load

Allowable

F(N) =

M(maximum allowable moment)(Nem)

L(m)

Example

When a static load of f=20N is operating, which applies pitch
moment to point L=25mm from the PCHD-16 guide.

Allowable load F(N) =

1.4 (Nem)
"~ 25%10%(m)

=56 (N)
Load =20 (N) < 56 (N), so can be used.
Model selection example

In the motion process did not produce high acceleration,

deceleration or impact forces,
Workpiece mass: 300g , Gripping method: External gripping,
Operating pressure: 0.5 MPa, Coefficient of friction (u): 0.1,
Holding position: 20mm (no overhang)

1. The conditions under which the workpiece will not drop are,
0.3

F=

~2x0.1

x 4 = 6 (kgf) = 60 (N)

2. From Effective Gripping Force Fig,
Operating pressure: 0.5 MPa; Holding position: 20 mm
Effective gripping force is greater than 60 (N)
So selected PCHD-16 grippers.

PISCO



PCHD Capacity 28~220

PARALLEL GRIPPER (2-Finger)

Effective gripping force (Double acting)

Indication of effective force.

The effective gripping force shown in the graphs to the right
is expressed as F, which is the thrust of one finger, when both
fingers and attachments are in full contact with the workpiece
as shown in the figure below.

PCHD-8 [] P=pressure
~ 30
° ° z —P=0.7MPa
o 0 g —~0.6MP
S 20 Mpa
o ——0.5MPa
o 0.4MPa
B 10|~ T————0.3MPa
S
T
F £ 1N F 0.2MPa—
| 0 \
‘ 0 10 20 30 40 50
Holding postion L (mm)
1N=0.102 kgf
1MPa=10.2 kgf/cm®
PCHD-12[]  P=pressure
0 — P=0.7NiPa
~ 60 ——= !
= 0.6MPa
0, g O ———os5pPa
—
; S O ———ompa
()]
A £ % 0.3MPa
\ 3 2
[} —
\ T ., 0.2MPa
o, 0

0 20 40 60 80
é—J Holding postion L (mm)

External grip

PCHD-16 []  P=pressure
140 T T
—— P=0.7MPa
=120 1
£ o | _—1—=06MPa
8 % 0.5MPa
o f
| O hl 0,4MPa,
2 60 ‘
2 40 0.3MPa|
T 0.2MP3
20 ‘
0
T o, 0 20 40 60 80 100
Holding postion L (mm)
L
Internal gri
anp PCHD-20 [ P=pressure
210 \
———| P=0.7MPa
~ 180 T
z 0.6MPa
150
8 0.5MPa
5 120
- 0.4MPa
2 9% 1
% 60 0.3MPa-
]
T 2 0.2MPa
0

0 20 40 60 80 100
Holding postion L (mm)

PISCO

Confirmation of gripping point

e The air gripper should be operated so that the workpiece
gripping point "L " and the amount of overhang "H" stay
within the range shown for each operating pressure given in
the graphs.

o If the workpiece gripping point goes beyond the range limits,
this will have an adverse effect on the life the air gripper.

PCHD-8 [] P=pressure
E O,
IS W, 0.5MPa
=~ 40 % ——0,6MPa
T %, —P=0.7MPa
2
© QNS
£ 20 %
5 s
L 2 k A
- L S 10 \
‘ Q\ N

0
0 10 20 30 40 50
Holding postion L (mm)

o ) PCHD-12[]  P=pressure
Gripping point 80
External grip E 60 &4’ g smPa
- R, — 0.6MPa
T 2, [\ P=0.7MPa
2 407 04"\
®© "91,& P
<
& 4 \\" N
>
-t o ;Q
IR NN
0 20 40 60 80
S — — = Holding postion L (mm)

PCHD-16 []

P=pressure

Gripping point
E &0 9
25 3
Internal grip % AN G, V kg:gm,:;:
P (——P=0.7MPa
g 40 NS
4
<
EANS

0
0 20 40 60 80 100
Holding postion L (mm)

PCHD-20 [] P=pressure
100 -
— 2
€ %,
AN 7K
I No — 0.6MPa
2 60 oo’%"\ P=0.7MPa
£ N N/
S 40 Y
>
S L N \\\
0 & NN
0 20 40 60 80 100

Holding postion L (mm)

96



PCHD Dimensions 28

PARALLEL GRIPPER (2-Finger)

22.5H9 "0°% x2.5 depth M2.5x0.45
Sl PN Y S— = —r——
O HEE==
a
]
0 * Use the attached hex socket bolt
N G N while using the mounting hole.
NA-M3x0.5x7 depth g
(Mounting thread) (NA-1)xG Ec’: 1.4 «~
: Py 3 34 & —
| Axial piping 2 ~ —
| ! @ @ 1
32 A SNWILLINZ A
N 158 . B XA xa
[sol 5 5
N 4 ‘ © A= . cadepl
| 71 _ _
- g - n T -
-~ (o}
24.3 = fé Ri =~
Sensor switch - L : 2-M3x0.5%4 de
Ny L - . pth
mounting groove , ] (Mounting thread) A-A T 2-92.6 thru
M3x0.5 1754 M3x0.5 c _|os 08 ¢ (Mounting hole)
Finger opening port i i '
(Finger opening port) (Finger closing port) When closed 07" 2.04.5
PCHD-8(R)

97

4-M3x0.5%4 depth
(Mounting thread)

\

12
26

4x2-M2.5%0.45%3 depth Q

(Mounting thread)

2-M3x0.5x4 depth
Mounting thread)

PCHD-8(R)-1 2x2-M2.5%0.45x3 depth

(Mounting thread)

o ¢

[l & |

o1l o]
- ||

11

Side view of side piping type S 5.5
e E—— =
IC | il 1l
M3x0.5 | M3x0.5
(Finger closing port) (Finger opening port)
Unit: mm
Code
- A|B|C|D|G|H|K|L|N|NA|Q|S
PCHD-8(R) 36 | 22 | 12 |283| 16 | 14 6 8 |10 2 4 25
PCHD-8(R)-1 48 | 34 | 14 (403 | 28 | 26 7 16 |10 2 4 37
PCHD-8(R)-2 | 72 | 58 | 18 [64.3| 17 | 50 5 32 | 105 4 8 61

PISCO



PCHD Dimensions @12

PARALLEL GRIPPER (2-Finger)

1.7

-

I
™| ™

ws T O (OF

Sensor switch

mounting groove

M5x0.8
(Finger opening port)

@3H9 ")%% x3 depth M3x0.5
(=)
: < See=—up
A _ P S s S =
Y 5} \J’# 20
<
s * Use the attached hex socket bolt
NA-M4x0.7x10 depth ; while using the mounting hole.
(Mounting thread) 3 G g
Qo 10 ©
. — (NA-1)xG 2 ’———‘ S
[ Axial piping 4 b A ! “
40 N /
- <1 N N
20 XA
‘ - B == xA
/ ~ A L/
> | ——— @\ i ‘©)] =
o | A
[ — oo
R — "\ 2-M4x0.7x5 depth ‘
A4>‘ - =
2028 M5x0.8 (Mounting thread) A:A 2-03.4 .thru
0.1 - - 9] 1 1
(Finger closing port) 1 (Mounting hole)
2-5.5
Close 05"
Open L1
4-M4x0.7x5 depth H 2-025H93* x25depth | PCHD-12(R)
(Mounting thread) 4-M3x0.5%4 depth
(Mounting thread)
e 3 ool
Q KK Q
4x2-M3x0.5x4 depth Q |K||K| Q 2-M4x0.7x5 depth

PISCO

(Mounting thread)

(Mounting thread)

M5x0.8
(Finger closing port)

vl
7
©
- <
M5x0.8

(Finger opening port)

Unit: mm
Code
e A|B|C|D|G|H|K|L[NAlQ|S
PCHD-12(R) 52| 38 | 18 | 42 | 26 | 28 | 9 12 2 5| 38
PCHD-12(R)-1 68| 54 | 21 | 58 | 42 | 44 | 45 | 24 12 | 54
PCHD-12(R)-2 | 104 | 90 | 27 | 94 | 26 | 80 | 4.5 | 48 4 18 | 90

98



PCHD Dimensions 216

PARALLEL GRIPPER (2-Finger)

24H9 *3% x3 depth
S
il
‘ £
g 14.4 o
o o
NA-M5x0.8x12 depth ? ‘
17 G & ;’ ’ ‘ o
o [} 1
niniNnG (NA-1)xG z i@ @
6 D 5 S
50 XA
A
22 26
©| T © B XA
<| ® / o = A‘H‘ ’7477/7
77767/ Y ———————————— T o
7 ﬁ}\ f@“ - - 41 s (7 L 76) S
4.3 joJ/ &@_ Y g § o &/ &Jﬁ
Sensor switch 1 ‘
mounting groove 1 [ T - ° °
—————— e 2-M5x0.8x5.5 depth
M5x08 , M5x0.3 ‘ c . ] ‘A*‘C (Mounting thread) 2-94.3 thru
(Finger opening port) 27 04 Fi oo D | \
Inger closing po -
Close 03" 2075
Open L1 A-A
4-M5x0.8x5.5 depth H

99

+0.025
(Mounting thread) 2-03H9'o " 3 depth

|
T

K|l

|
202

43

4x2-M4x0.7x4 depth Q [K||Kl Q
(Mounting thread) 2-M5x0.8x5.5 depth
(Mounting thread)
[ 3"
. 4 =
B

(Finger closing port)

(Finger opening port)

Unit: mm
Code
D A B (o3 D G H K L |[NA| Q S
PCHD-16(R) 72 52 |25.4| 57.5| 38 36|52 | 16 2 15 54
PCHD-16(R)-1 94 74 129.4| 79.5| 60 58 | 5.7 | 32 2 18 76
PCHD-16(R)-2 | 142 | 122 | 37.4|127.5| 36 | 106 | 5.7 | 64 4 26 | 124

PISCO



PCHD Dimensions @20

PARALLEL GRIPPER (2-Finger)

Sensor switch

mounting groove

M5x0.8
(Finger opening port)

5H9 *0% x4 depth
2 °
]
N
= £
NA-M6x1.0x15 depth g 18 @
(Mounting thread) k) | ° L
E ol o |
- — 24 (NA-1)xG z RS I~
I Axial piping - > o ® A
62 A —_
2.3 . 3 _ B XA
5 | | A ./
o ———— 1 ~NH ‘
- : VPR
o) o)~ e K @ies
04.3 3 3 m&_ﬂj A
i L1
r o L o
L e e 2-M6x1.0x6 depth
329, \ M5%0.8 A= (Mounting thread) 2-¢5.2 thru
(Finger closing port) c 1 1 H c 2-510
Close 0 ') s
Open L1 A-A
4-M6x1.0x6 depth ‘ H ‘
(Mounting thread) | |
N T o)
D |+ | B x| S
4x2-M4x0.7x5 depth ’é iﬁ— —&i
(Mounting thread) é é
Q K|kl a 2-g3H9 3% x3 depth
2-M6x1.0x6 depth
% ||| I " (Mounting thread)
- o | =
N
B
PIPING
Side view of side piping type S 10
[ % @
N
M5x%0.8
(Finger closing port) (Finger opening port)
Unit: mm
Cod
o A|lB|C|D|G|H|K|L|NA|Q|S
odel
PCHD-20(R) 86| 56 (314| 71| 38 40177 | 20 16 66
PCHD-20(R)-1 | 114 | 84 |36.4( 99 | 66 68 | 8.2 | 40 20 94
PCHD-20(R)-2 | 174 | 144 | 46.4 | 159 | 42 | 128 | 8.2 | 80 30 | 154
100

PISCO



PCHX Series

WIDE TYPE PARALLEL GRIPPER (2-Finger)

Features

e Rack and pinion construction enable synchronisation of both
jaws enabling smooth and consistent gripping force.

e Wide range of strokes available.

e Dust seals protect all internal parts from ingress of dirt.

e Proximity and reed switches can be used with this unit.

e Magnetic as standard.

Specification
Acting type Double acting
TuelD.mm) | 10 | 16 | 20 | 25 [ 32 [ 40
Medium Air
Operating pressure range 0.2~0.6 MPa

Order examp|e Ambient temperature -5~+60°C (No freezing)
Lubrication Not required

PCHX - ] 6 - 30 M Repeatability +0.1 mm

T T —r—‘ Sensor 2 Wire RDFE(V): Non-contact

switch 3 yire RNFE(V): NPN, RPFE(V): PNP

MODEL TUBE I.D.| STROKE M: Magnet

10 20, 40, 60 * Magnetic as standard.
16 30, 60, 80
20 40, 80, 100
25 50, 100, 120
32 70, 120, 160

40 100, 160, 200

Weight

Model PCHX-10 PCHX-16 PCHX-20 PCHX-25 PCHX-32 PCHX-40
Stroke (mm) 20 | 40 | 60 | 30 | 60 | 80 | 40 | 80 [ 100 | 50 | 100 [ 120 | 70 | 120 | 160 | 100 | 160 | 200
Max. operating frequency (c.p.m) | 60 [ 40 | 40 | 60 | 40 | 40 | 60 | 40 [ 40 | 60 | 40 | 40 | 30 | 20 | 20 | 30 | 20 | 20
Weight (kg) 0.280.35|0.44 | 056 | 0.8 {0.94| 1.0 | 1.5 |1.68|1.69| 2.8 | 3.0 |3.15(4.36|5.02| 53 | 6.8 | 8.6
Mounting
Axial mounting Axial mounting Lateral mounting

2-TTxTA depth
(Mounting thread)

35

4-SSxSA depth
(Mounting thread)

{2

* Only for 10~@25.

Tubel.D. | SA| sS “’{i’r‘qug?ﬁr:]’;g Tube I.D. [MM | Bolt “’{f}’r‘qjggﬁf:\’;g Tube ID. | TA| TT "’:f‘)’r‘qjg?ﬁfr‘;’;g
10 8 | M4x0.7 2.1 10 4.5 [M4x0.7 2.1 10 5 | M4x0.7 1.4
16 10 [ M5x0.8 4.3 16 5.5 | M5x0.8 4.3 16 7 | M5x0.8 2.8
20 12 [M6x1.0 7.3 20 6.6 [ M6x1.0 7.3 20 7 | M6%x1.0 4.8
25 16 [ M8x1.25 17.7 25 9 M8x1.25 17.7 25 7 | M8x1.25 12
32 16 | M8x1.25 18 32 - - - 32 11 [ M8x1.25 12
40 20 [ M10%x1.5 36 40 - - = 40 12 | M10%x1.5 24

101 PISCO



PCHX Model selection / Mounting precautions

WIDE TYPE PARALLEL GRIPPER (2-Finger)

Model selection example
* Finger selection please contact us.

In the motion process did not produce high acceleration,

deceleration or impact forces, Workpiece mass: 0.3kg , PCHX-20-40 P=Pressure

120
Gripping method: External gripping, Operating pressure: 0.5 EggN [ ]
MPa, Coefficient of friction (u): 0.1, Holding position: L=20mm =2mm = S =————] P=0.6MPa
(no overhang) 9 80 0.5MPa
bt Il
0.3x9.8 K] €0 0.4MPa
1. Based on the above formula, > 2Py 4 @ 40 0.3MPa
the required gripping force can 2x0.1 5 20 A.ZMPa
be derived: > 60(N) ) |
2. From Effective Gripping Force Fig, 0 20 40 60 80 100 120 140
Operating pressure: 0.5 MPa; Holding position: 20 mm Holding position L(mm)

Effective gripping force is greater than 60 (N)
So selected PCHX-20-40 grippers.

Model selection suggestions
1. For normal gripping and carrying usage, the recommended
safe factor (a) is 4.

2. The value of gripping force of single finger can be found at the
gripping force table.

3. The safe factor (a) have to be higher if the gripper is using with
a great accelerated velocity or impaction condition.

Mounting precautions
1. To prevent bending the piston rod, please mount the
attachment when finger is closing.

2. Do not scratch or dent the sliding portion of the piston rod, or it
may cause air leaks or faulty operation.

3. Refer to the table below for the proper tightening torque on the
bolt used for securing the attachment to the finger.

Bolt Finger

Attachment

< ©

Tube I.D. |  Boit "’if)’r‘q;'g'ztﬁ’;"r;g
10 M4x0.7 1.4
16 M5x0.8 2.8
20 M6x%1.0 4.8
25 M8x1.25 12
32 M10x1.5 24
40 M12x1.75 42.2

PISCO 102



PCHX Capacity 10~g40

WIDE TYPE PARALLEL GRIPPER (2-Finger)

Effective gripping force

PCHX-10-20 P=Pressure
Indication of effective force. R
The effective gripping force shown in the Z 25
graphs to the right is expressed as F, which 8 90 l= P=0.6MPa
is the thrust of one finger, when both fingers § 15 L —— I r‘sMPaa
and attachments are in full contact with the =2 ~———_ 1 1 0.4MPa
workpiece as shown in the figure below. 5 10 T f———] 1 0.3MPa
S 5 =
0 0.2MPa
0 10 20 30 40 50 60 70
* Holding position L(mm)
]
:
! PCHX-16-30 P=Pressure
' 0 —
S " [T P=0.6MPa
F - ————|0.5MPa
= o 40 }
—
Ke] 30 T e 0.4MP?
o _ 0.3MPa
£ 20 f
1N=0.102 kgf i) 0.2MPa
1MPa=10.2 kgf/cm? £ 10 ‘
0
0 20 40 60 80 100 120 140
Holding position L(mm)
L J PCHX-20-40 P=Pressure
(] B = 120 ‘ ‘
< 100 —|
a > 8 g —~——P=0.6MPa
ot !
~ £ 0.5MPa
\ vI|le e gy
o) 0.4MPa
*Bf::_:" £ 40 0.3MPa
L2 2 0.2MPa
i 0
L: Holder position (mm) 0 20 40 60 80 100 120 140
Holding position L(mm)
PCHX-40-100 P=Pressure PCHX-25-50 P=Pressure
220
] —
= 500 ——
Z ——— P=0.6MPa Z 200
1
g 400 ——F—— 05MPa 8 160 P=0.6MPa
= —_— [ ’5 |
S 300 0.4MPa £ 120 0.5MPa
g’ 200 B E— q.3MPa g’ 80 T———0.4MPa
i} 0.2MP. o 0.3MPa
S 100 pevra S 40 it
I 0.1MPa T 0.2MPa
0
0 50 100 150 200 0 40 80 120 160 200
Holding position L(mm) Holding position L(mm)
PCHX-40-160
PCHX-40-200 P=Pressure PCHX-32-70 P=Pressure
= 500 =
— = 300
é 400 P=0.6MPa é 250 — P=0.§MPa
8 5MPa 8 200 ‘\\N 0.5MPa
ug300 0.4MPa7| | ».g’ 150 — 0.4MEa
£ 200 ———0.3MPa, £ 100 ————]—0.3MPa
e} o !
2 oo 0.2MPa 3 & 0.2MPa
T 0.1Mﬂa T 0 0.1‘MPa
0 50 100 150 200 0 40 80 120 160 200
Holding position L(mm) Holding position L(mm)

103

Holding force (N) Holding force (N) Holding force (N)

Holding force (N)

Holding force (N)

25
20
15
10

60
50
40
30
20
10

PCHX-10-40

PCHX-10-60 P=Pressure

P=0.6MPa
0.5MPa
0.4MPa
0.3MPa
O.ZN{IPa

—
—
—_—

—

0 10 20 30 40 50 60 70
Holding position L(mm)

PCHX-16-60
PCHX-16-80

~—f-P=0.6MPa
— T |o.5MPa
AMPa
0.3MPa
0.2MPa

l

P=Pressure

—_—l— 1 0

0
0 20 40 60 80 100 120 140

120
100
80
60
40
20

Holding position L(mm)

PCHX-20-80
PCHX-20-100

P=Pressure

P=01.6MF1’a
o.'5MPIa
0.4MPa

0.3MPa’|
0.2MPa]

0
0 20 40 60 80 100 120 140

220
200
160
120
80
40

300
250
200
150
100

o

Holding position L(mm)

PCHX-25-100
PCHX-25-120

]

T T
P=0.6MPa

P=Pressure

—1— | oswpa
T ——— 0.4mPa

0.3MPa
0.2WPa

——

0 40 80 120 160 200

Holding position L(mm)

PCHX-32-120
PCHX-32-160

P=Pressure

l

[ P=0.6MPa
5MPa
| T 0.4MPa

—— 0.3MPa
0.2MPa
0.1MPa
160 200

— 0

0 40 80 120

Holding position L(mm)

PISCO



PCHX Dimensions

WIDE TYPE PARALLEL GRIPPER (2-Finger)

Code
Tube I.D.

Strokel A | B ([DA|DB| E | F [ G | M | P1 | P2

20| 76| 56|100| 80| 26| 36| 51| 38|11.5[11.5
i L 10 40 | 118 | 78| 142|108 | 42| 52| 67| 54[19.5[195
60 |156| 96 |180|146| 60| 70| 85| 72|28.5 (285

30 | 98| 68128 | 98| 28| 45| 60| 40|13 [13
f} {BE 16 60 | 170|110 | 200 | 152 58 75| 90| 70|25 |25
80 (210|130 | 240 (192 78| 95|110 | 90(35 |35

2-TTxTA depth E
(mounting thread) 40 [122| 82160 |120| 38| 58| 71| 54|16 |16
G 20 80 | 222|142 (260|194 | 80100113 | 96|34 |34
100 | 262 | 162|300 | 234 | 100 | 120 | 133 | 116 |44 |44
. 2eMM F oRS H9xRA depth 50 | 150 | 100 | 196 | 146 | 48| 70| 88| 66|19 |19
(body mounting hole)
Eg 25 100 | 282 | 182|328 | 244 | 102 | 124 | 142 | 120 (43 |43
] 120 | 320 | 200 | 366 | 282 | 120 | 142 | 160 | 138 (52 |52
70 | 220|150 | 272|202 | 60| 86| 110 | — |28 |28
w
] 32 120 318|198 [ 370 | 282|108 | 134 | 158 | — |52 |52
< 160 | 402|242 (454|366 152|178 202 | — |74 |74
- >
® 100 [ 288|188 [348|252| 80| 116|148 | — |36 |36
RR H9%RA depth 4-SSxSA depth
rREETACe (mounting thread) 40 | 160 | 406 | 246 | 466 [370 | 138 | 174 [ 206 | — |65 |65
PP H9xPA depth
oPP H9xPA dept 200 | 486 | 286 | 546 | 450 | 178 | 214 [ 246 | — |85 |85
) DA(open) / DB(close) )
\ H
uu uu ‘ KA
Finger closing port P2 i P1 Finger opening port KB
| 1
A T o — T
! >4 ) % © @
x — M 7 g
Q ) = Cf N A
= <Y Y
L - & D)
A=Y E R o)
! | | %( i
N B(close) N‘ K
w 2x2-QQ
z A(open) z L

_Code_ |H|K|KA|KB|KC|KD|L| N [MM[PA|PP|P3| QQ |R|RARR|RS|S [SA| sS
10 4412020 (18.2(125( 8 (34| 7 |45|1.5[18| 9|M4x0.7 15 (3 33|34 8|M4x0.7
16 55|25|25|22.6|/16.5| 9 |43| 9 |55 (1.5(23(10|M5%0.8 193 3| 3 |42]|10|M5x%0.8
20 65|30|30(28.2| 20 |10 |54 (125(6.6 |1.5|24| 11 [ M6x1.0 24 |14 4 | 4 |52(12[M6%1.0
25 76|40 |38 (33.2|123.5|11.5 (64 (14 |9 1513216 [ M8x1.25 |29 |45( 4 | 4 |62 | 16 [ M8%x1.25
32 82| 50|40 (32.2| 30 |14.5(70 |15 - |125|35|16 | M10x1.5 |32 |8 6| 6 |6416|M8x1.25
40 98 | 60 | 48 [40.2| 37 |16 |86 |18 - |25|40|18 [ M12x1.75( 38 |8 6 | 6 |76]|20[M10x1.5

e | T|T1|TA| TT UU [V |W]| X |X1|YA|YB|Z
10 311 9 5| M4x0.7 |M5x0.8| 46| 7 |305|05| 6| 6|10
16 39 (10 7 | M5%x0.8 [M5x0.8| 58| 8 |385(05| 8| 8 (13

20 46 (11 7 |M6x1.0 |M5x0.8| 70| 10 |45 |1 10|10 (17

25 52 112.5| 7 | M8x1.25 | M5x0.8 [ 81| 12 |51 1 12112 | 21
32 68122 | 11| M8x1.25 |Rc1/8 (100 15 |67 |1 14|16 | 24
40 79128 |12 |M10%1.5 |Rc1/8 (117 | 18 |78 |1 1620 | 28

PISCO 104



PVHR Series

ON-OFF VALE
Specification — Manual type
(Lock is not attached) Bore No. 8A 104 157
Port size 1/4 3/8 Rc1/2
No. of port 3
Sym bol No. of position 2
A Medium Air
! H Operating pressure range 0.1~1 MPa
ﬁ_—:—gﬂj Proof pressure 1.5 MPa
PR Effective IN-OUT 39 56 66
orifice
(mm?) OUT—EXH 39 45 58
Ambient temperature -5~+60°C (No freezing)
Weight 304g/311g
Specification — Solenoid type
Bore No. 8A 10A 15A
Port size 1/4 3/8 Rc1/2
No. of port 3
No. of position 2
SymbOI Medium Air
A Operating pressure range 0.15~1 MPa
2 Proof pressure 1.5 MPa
’WND@ Effective  INmOUT 39 56 66
13 orifice
PR (mm?) OUT—EXH 39 45 58
Ambient temperature -5~+60°C (No freezing)
Voltage AC110V, 220V (50/60)Hz, DC24V
Power consumption AC=4.8/4.4VA, 6/4.9VA, DC=2W
Available voltage range +10%
Insulation class F class
Order example Weight 3789/ 3859

PVHR —302[]—3H—-8A—1[]-DC24—-[1—-B—-G

MODEL CONTROL MODEL PORT SIZE FLOW VOLTAGE BRACKET PORT THREAD
Blank: Manual type 8A: 1/4 DIRECTION *Only for solenoid type | Blank: Without ~ Blank: Re thread
S: Solenoid type 10A: 3/8 Blank: Left to right  AC220V/(50/60)Hz B: With bracket G: G thread
15A:1/2 R: Right o left AC110V/(50/60)Hz NPT: NPT thread
DC24V .
*Only for solenoid type
MODEL for F.R.L
y ] Apply to PVHR-400 Blank: DIN connector
302: for PA*302 series 1: Silver (For air unit 401 series) L: DIN connector with LED indicator
400: for PA**401, 403 series 3: Cool gray (For air unit 401-W, 403 series) E: Explosion protection (Table 1)
3H: 3way(3port) (E type use black coil)
(Residual pressure release) Table 1
Property for explosion-proof type
Order example of bracket
Anti-explosion class EExm Il T4
PVH R - 3 02 - B Voltage AC110V. 220V.(50/60)Hz. DC24V.
—|_ Power consumption AC=4.4VA DC=5W
Available voltage range +10%
BRACKET Insulation class F class
* 302 and 400 use the same bracket. Wire length 3m

105 PISCO



PAKF302 Series

AIR UNIT (FILTER / WATER SEPARATOR)

Symbol

Filter

Water

Order example
PAF302G —-8A - ND - [ - [ - [
T 7 T

()

FILTER
MODEL PORT SIZE BOWL ELEMENT PORT THREAD
8A: 1/4  Blank: PC bowl Blank: 5ym Blank: Rc thread
10A: 3/8 M: Metal bow! 40u: 40pm G: G thread
15A: 1/2  N: Nylon bowl NPT: NPT thread
Blank: Filter Blank: Semi-auto drain Blank: Without bracket

G: Water separator
(Removal ratio 99%=1)

D: Auto drain valve (PMRF300)

* There is not filter element in PAF302G series.

Flow feature

PAF302 (Filter)

8A 8A

o
[e2)

0.8

-

B: C type bracket

Specification
Bore No. 8A 10A 15A
Port size 1/4 3/8 1/2
Medium Air
Operating perssure range (*1) 0.05~1 MPa
Proof pressure 1.5 MPa
Ambient temperature — 5~+60°C (No freezing)
Drain capacity 35cm’
Filter PAF302
Filter element Standard: 5um, Option: 40um
Weight 335¢g
Water separator PAF302G
Water droplet removal ratio (*2) 99+1%
Rated flow I/min(ANR) (*3) 550 1280
Weight 3459

*1. Standard unit contains semi-auto-drain function when operating
pressure below 0.05 MPa.
Choose auto-drain PMRF300, the pressure range is 0.15~1 MPa.
*2. This shows the water droplet removal ratio at the rated flow.
*3. Input pressure: 0.7 MPa. When fluid flows exceeding the rated flow, the
accumulated condensate may be pulled up and may flow out to outlet
side.

Water separator features

1.Water droplets are removed by centrifugal force.

This product can remove water droplets in the
compressed air, but cannot remove moisture
content (water vapor).

2. Filter element is not needed. Water droplet
removal ratio: 99%

PAF302G (Water separator)

MPa

\,
MPa

0.7

(2]

0.6
0.5

[$,]

0.4

0.3

0.2

Secondary pressure

= N W b

\
T~ \

Secondary pressure

0.1
~

© e OO0 o000 O«

0

500 1000 1500

Flow dmin.(ANR)

10A, 15A

2000 1000 2000

10A, 15A

Flow #min.(ANR)

3000 4000 5000

0.8

MPa
MPa

0.7

0.6

]
[
[

0.5

0.4

0.3
1

Water PAR302

0.2

Secondary pressure
= N W bh OO N ®
Secondary pressure

——
™
N

separator Filter PAF302

0.1

~

=~

©cooooooooo

500 1000 1500

Flow ¢min.(ANR)

2000 1000 2000

PISCO

PAF302G

3000
Assembly example

4000 5000

Flow é#min.(ANR)

106



PAF401 Series

AIR UNIT (FILITER)

Order example

MODEL FILTER  Blank: Without bracket
DIRECTION_ ELEMENT B: C type bracket
EXTERIOR Blank: Left to right Blank: 40pm
PORT SIZE COLOR R: Right to left 5u: 5L‘lm
8A:1/4  Blank: Black & silver
10A: 3/8  W: Gray & white PORT THREAD
15A: 1/2 Blank: Rc thread
Blank: Semi-auto drain G: G thread
D: Auto drain valve (PMRF300) NPT: NPT thread
Option accessories
75

65
39
16
) -
> =
o i ‘ =5
HN I
|
2x1/4
2x3/8
5 2x1/2
© Port size
@5-Drain outlet
107

1 1

i < > i Drain capacity

1 1

d d Max. flow rate(*3) ¢ /min(ANR)

Specification
Bore No. 8A 10A 15A
Port size 1/4 3/8 1/2
Medium Air
Operating perssure range (*1.2) 0.05~1.5 MPa
Proof pressure 2 MPa

Ambient temperature

— 5~+60°C (No freezing)

Filter element

Standard: 40um, Option: 5um

70 cm®
1500 | 2000 | 2500
Weight 480 g

*1. Sandard unit contains semi-auto-drain function when operating ressure

below 0.05 MPa.

*2. Choose auto-drain PMRF300, the pressure range is 0.15~1 MPa.
*3. Flow is at pressure P=0.7 MPa with pressure drop A P=0.03 MPa.

PAF401 -8A-[1-DU-0-01-01

T L L L

C type
bracket

PAF401-D |

Auto drain valve

42

50

28-Drain ou{Iet

©
o
=

MPa

Secondary pressure

MPa

Secondary pressure

Secondary pressure

o
N

e 0o
o N ®

0.5
0.4

oo
N W

o

0.8
0.7
0.6
0.5
0.4
0.3
0.2
0.1

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1

Flow feature

Flow #min.(ANR)

—~——_|
— ~—
——] ~
—— N~
] —~
F— ~
~
800 1600 2400 3200 4000
Flow ¢min.(ANR)
10A
—
[ —
E \\
I — ~ N
— N~ \\
800 1600 2400 3200 4000
Flow ¢min.(ANR)
15A
— |
e~ \\
—_— e —
T~ — D
T N \
—
[
800 1600 2400 3200 4000

PISCO



PAR302 Series

PRESSURE REGULATOR

Order example

PAR302K -8A-0O-0O0-E1-0O-0O

MODEL

;

Blank: Standard
K: Backflow function

=

Backflow

Specification
Bore No. 8A 10A 15A
Port size 1/4 3/8 1/2
Medium Air
Max. operating pressure 1 MPa
Proof pressure 1.5 MPa
Regulated pressure range 0.05~0.85 MPa

Ambient temperature

— 5~+60°C (No freezing)

Attachment

Pressure gauge (PG-20),
L type bracket

Weight

400 g

D

EXHAUST ) BRACKET PORT THREAD
MECHANISM FLOW (Option)  gjank: L type Blank: Rc thread
Blank: Relieving type DIRECTION PRESSURE B3:Ztype G:G thread
Q: Non-relieving type Blank: Left to right SWITCH NPT: NPT thread
R:Righttoleft — E1: PP41P-022

PORT SIZE

8A: 1/4
10A: 3/8
15A: 1/2

Blank: Standard type (PG-20)
C: External pressure gauge (PG-40) +
Gauge adapter set (A-PAR302)

A: Gauge adapter set (A-PAR302)

E2: PP41P-022-QD
ES5: PP41P-042
E6: PP41P-042-QD

* Standard type regulator can not release the outlet pressure completely, even if inlet pressure was
cut off, and the backflow function (K) must be applied to completely remove the residual pressure.

* The (Q) non-relieving type regulator is used. When the output pressure is higher than the set
pressure, the output pressure will not flow out through the exhaust hole.

* PG-40 (C), A-PAR302 (A) and PP41 (E*) can not be selected at the same time.
* For the option of digital pressure switch PP41 (E*), please contact us.

Flow feature

©
o
=

PISCO

Flow #min.(ANR)

8A Primary pressure 0.7 MPa
o 07 s o
206 =2
g 05 - g
> 0.4 ~ >
© — ©
- 03 ko]
S 02 s
o o
o] — o]
& o1 - 3
0
500 1000 1500 2000 2500

©cooooooo
= N W A~ OO N

10A, 15A

Primary pressure 0.7 MPa

500

1000 1500
Flow #min.(ANR)

2000

2500

108



PAR401 Series

PRESSURE REGULATOR

—————
—
T~

[ TL

Option: PP41

Symbol

&9
B

Specification
Bore No. 8A 10A 15A
Port size 1/4 3/8 1/2
Medium Air
Max. operating pressure 1.5 MPa
Proof pressure 2 MPa

[ —

Regulated pressure

Standard type: 0.1~0.85 MPa

Standard range High pressure type: 0.1~1.5 MPa
% @ Ambient temperature — 5~+60°C (No freezing)
Tt Attachment Pressure gauge (PG-20)
L.é:'."_| )
Weight 450 g
Backflow
Order example
T ’37 T —I;‘_—I:_ —E‘ T I—l_ I
Option) (Option)
PORT EXTERIOR EXHAUST ( PORT THREAD
S SIZE COLOR MECHANISM PRESSURE ~ BRACKET o thread
8A:1/4 Blank: Black& silver Blank: Relieving type SWITCH Blank: Without g G thread
Blank: Standard 10A:3/8  W: Gray& white Q: Non-relieving type E1: PP41P-022 B2 Screwfixed  NpT: NPT thread
K: Backflow function 15A: 1/2 E2: PP41P-022-QD

(Option)
Type Pressure gauge Pressure switch | Flow direction

Blank: Pressure gauge (PG-20) .

Blank: C: External pressure gauge (PG-40) + :WE(:ES(S;?S

Standard type Gauge adapter set (A-PAR401) series) Blank:
A: Gauge adapter set (A-PAR401) Left to right

R:

C: External pressure gauge (PG-40) + Right to left

H: High

Gauge adapter set (A-PAR401)
pressure type

A: Gauge adapter set (A-PAR401)

* PG-40 (C), A-PAR302 (A) and PP41 (E*) can not be selected at the

same time.
* Specification (W) gauge adapter set (A- PAR302).
* Please contact us for the option of digital pressure switch

PP41 (E*).

* There is no pressure gauge in option (A). Please purchase if necessary.

* Standard type regulator can not release the outlet pressure completely,
even if inlet pressure was cut off, and the backflow function (K) must be

applied to completely remove the residual pressure.

* The (Q) non-relieving type regulator is used. When the output pressure
is higher than the set pressure, the output pressure will not flow out

through the exhaust hole.

109

ES: PP41P-042
E6: PP41P-042-QD

Flow feature

8A Primary pressure 0.7 MPa
FL 06
] [
@05 —
9 4 P—— —
50
g 0.3
T o2 =
§ 0.1 =
[20)) —
800 1600 2400 3200 4000
Flow #min.(ANR)
10A Primary pressure 0.7 MPa
FLo06
=3
205 —
£ 04 —
203
3
8 0.2
o 0.1
o]
L2
800 1600 2400 3200 4000
Flow #min.(ANR)
15A Primary pressure 0.7 MPa
FOO06
=3
@ 05
£ 04
203
3
g 0.2
o 0.1
o] i
99
800 1600 2400 3200 4000

Flow #min.(ANR)

PISCO



PAFR302 Series

AIR UNIT (F.R.UNIT)

Specification
Model PAFR302
] Bore No. 8A 10A 15A
1] Port size 1/4 3/8 1/2
| e Medium Air
= E
3y Operating perssure range (*) 0.05~1 MPa
Option: PP41 Proof pressure 1.5 MPa
Regulated pressure range 0.05~0.85 MPa
Ambient temperature — 5~+60°C (No freezing)
Symbol , ;
Filter element Standard: 5um, Option: 40um
@ %‘ @ Drain capacity 35cm®
I i g i s N
] Attachment Pressure gauge (PG-20),
L type bracket
Weight 490 g

* Standard unit contains semi-auto-drain function when operating
pressure below 0.05 MPa.

* Choose auto-drain PMRF300, the pressure range is 0.15~1 MPa.
Order example

PAFR302 K -8A — [ - NCLIL] - E1 —|:|—HT—|:|—|:|

EXHAUST (Option) FILTER BRACKET
R PORTSIZE  \ECHANISM PRESSURE  ELEMENT Blank: L type
8A: 1;4 Blank: Relieving type SWITCH Blank: 5um B3: Z type
10A:3/8  Q: Non-relieving type E1: PP41P-022 40u: 40pm
15A: 1/2 : (Option)
E2: PP41P-022-QD PORT THREAD
oo ES: PP41P-042 SHUTOFF VALVE 5 k. Re thread
K: Backflow function E6: PP41P-042-QD HT: PVH T-302-3H P t-hread
NPT: NPT thread
(Option)

Bowl Pressure gauge Drain valve Flow direction
Blank: PC bowl | Blank: Pressure gauge (PG-20) . y . . .
M: Metal bowl C: External pressure gauge (PG-40) + Gauge adapter set (A- PAR302) g!agst.osgrr:ilna:;ﬁlgrfI:I’R/IRF300) al_a'g:('hlﬁg Itgﬂrlght
N: Nylon bowl A: Gauge adapter set (A-PAR302) ’ -Rig

* Standard type regulator can not release the outlet pressure completely, even if inlet
pressure was cut off, and the backflow function (K) must be applied to completely
remove the residual pressure.

* The (Q) non-relieving type regulator is used. When the output pressure is higher than
the set pressure, the output pressure will not flow out through the exhaust hole. .
/\ Caution

* PG-40 (C), A-PAR302 (A) and PP41 (E*) can not be selected at the same time.

* Be sure to use above check valves when redirecting the air flow on the inlet side of the
lubricator. Metal bowl

Before assembling or disassembling, push the

lock plate down to the end, and confirm that is

Flow feature detached from the body then rotate the bowl,

otherwise the lock plate will be deformed or the

body will be scratched.

8A Primary pressure 10.15A Primary pressure - 2. Rotating the bowl

) 0.7 MPa ] ’ 0.7 MPa 1.Sliding plate down g
g § 0.6 — d g 0.6 — [I/P:H [I/—\/H

§ 0.5 — | § 05 —

5 04 5 04 o AL o v [ 1 o

>03 >03 =)

% 0.2 % 0.2 g&) 5

T T©T

§ 0.1 g 0.1 O — ( © {)é(}

D 0 D 0 =

2 200 600 1000 1400 2 200 600 1000 1400 e @

Flow ¢min.(ANR) Flow ¢min.(ANR)

PISCO 110



PAFR401 Series

111

AIR UNIT (FR.UNIT)

Specification

— Model PAFR401
n z f Bore No. 8A 10A 15A
- iﬁ l Port size 1/4 3/8 1/2

- Medium Air
Option: PP41 Operating perssure range (*) 0.05~1.5 MPa

Proof pressure 2 MPa
Standard type: 0.1~0.85 MPa
Sym bol Regulated pressure range yP

High pressure type: 0.1~1.5 MPa

Ambient temperature

— 5~+60°C (No freezing)

Filter element

Standard: 40um, Option: 5um

Drain capacity 70 cm®
Attachment Pressure gauge (PG-20)
Weight 800 g

* Standard unit contains semi-auto-drain function when operating pressure
below 0.05 MPa.
* Choose auto-drain PMRF300, the pressure range is 0.15~1 MPa.

Order example

PAFR401 K-8A-[ -0 -HAOPO-E1-0O-0-01

Option) Opti
EXTERIOR ( FILTER  (Option) PORT THREAD
MODEL PORT SIZE COLOR PRESSURE ELEMENT Bracket
8A: 1/4 SWITCH Blank: Rc thread
10A. 3/8 Blank: Black & silver gxHAUST E1. PP41P.022 Blank: 40pm | B2 | Screw fixed G: G thread
Blank: Standard  q5a;12 WG EWNIe  yECHANISM | g2l ppatpozoap P Shutoff valve NPT: NPT thread
K: Backflow function Blank: Relieving type | E5: PP41P-042 T | PVHT-4003H
Q: Non-relieving type | E6: PP41P-042-QD
(Option)
Type Pressure gauge Drain valve Pressure switch | Flow direction
Blank: Blank: Pressure gauge (PG-20) Blank: Semi-auto drain P: Pressure switch

Standard type A: Gauge adapter set (A-PAR401)

C: External pressure gauge (PG-40) + Gauge adapter set (A-PAR401)

D: Auto drain valve (PMRF300)

(PPS series)

H: High

pressure type | A: Gauge adapter set (A-PAR401)

C: External pressure gauge (PG-40) + Gauge adapter set (A-PAR401)

Blank: Semi-auto drain

Blank:

Left to right
R:

Right to left

* Standard type regulator can not release the outlet pressure completely,
even if inlet pressure was cut off, and the backflow function (K) must be

applied to completely remove the residual pressure.

* The (Q) non-relieving type regulator is used. When the output pressure is

* PG-40 (C), A-PAR302 (A) and PP41 (E*) can not be selected at the

same time.

* Specification (W) gauge adapter set (A- PAR302).

higher than the set pressure, the output pressure will not flow out through

the exhaust hole.

Flow feature

* There is no pressure gauge in option (A), please purchase if necessary.

8A Primary pressure 0.7 MPa 10A Primary pressure 0.7 MPa 15A Primary pressure 0.7 MPa
0.6 0.6 0.6
o O e T O —_— < O
£5o0s T~ €505 T S5 05— -
§ 04 o \\ % 04 \§\~ \\ % 04 — [
5 4 N ] ~ s ~N &M ——
>03 - >03 >03 _—
[ ~_| ™~ « B © ] ]
o I~ ° — °
2 0.2 2 0.2 2 0.2 —
5 . 1 S o I e N S o R e
3 0' - s S —
800 1600 2400 3200 4000 800 1600 2400 3200 4000 800 1600 2400 3200 4000

Flow #min.(ANR)

Flow #min.(ANR)

Flow #min.(ANR)

PISCO




PACT302 Series

AIR UNIT (FER.L.UNIT)

Specification
Components PAF302, PAR302, PAL302
Bore No. 8A 10A 15A
— Port size 1/4 3/8 172
m 1 13 Medium Air
1 'ﬁ': .I . Operating perssure range (*) 0.05~1 MPa
i Proof pressure 1.5 MPa
Option: PP41 Effective orifice 32mm’ 34mm?
Regulated pressure range 0.05~0.85 MPa
Ambient temperature — 5~+60°C (No freezing)
Filter element Standard: 5um, Option: 40um
Lubricating oil capacity 65c.c
Min. flow for ol drip 50 Umin | 60 I/min
Symbol Recommended lubricating of Turbine oil 1ISO-VG32
OB e T e
Lol Teignt 1115g

Order example

PACT302 —8A-NCL[]-ET -0 -T8-[1

-7 —~ T T ¢

* Standard unit contains semi-auto-drain function when operating

pressure below 0.05 MPa.

* Choose auto-drain PMRF300, the pressure range is 0.15~1 MPa.

MPa

(Option) FILTER (Option)
MODEL PORT SIZE PRESSURE ELEMENT BY-PASS PORT SIZE PORT THREAD
8A: 1/4 SWITCH . Blank: Rc thread
107: 378 E1. PPatP-022 g0 doum | TP TIg: ;ﬁé N e
. : - u: 40um : NPT: NPT thread
15A: 12 E2: PP41P-022-QD bracket | 145 12
ES5: PP41P-042
E6: PP41P-042-QD Check K8: 1/4
valve K10: 3/8
(Option)

Bowl Pressure gauge Drain valve Flow direction
Blank: PC bowl | Blank: Pressure gauge (PG-20) . o . . .
M: Metal bowl C: External pressure gauge (PG-40) + Gauge adapter set (A-PAR302) gl-a:lljt.osgrr:ilna:;ﬁ/gr(aFI:Iz/IRF?,OO) gl.a;:(.hl_tetgt Itgftrlght
N: Nylon bowl A: Gauge adapter set (A-PAR302) ’ -Rig

*PG-40 (C), A-PAR302 (A) and PP41 (E*) can not be selected at the same time.
* Be sure to use above check valves when redirecting the air flow on the inlet side of the lubricator.

Flow feature

8A Primary pressure
° 0.7 MPa .
::’—; 0.6 [—— %
® 05 —
Q04
S —
> 0.3
g 0.2
Q 0.1
O
Q0
»n 200 600 1000 1400

Flow #min.(ANR)

PISCO

& Caution

Metal bowl

Before assembling or disassembling, push the
lock plate down to the end, and confirm that is

10,15A Primary pressure detached from the body then rotate the bow,
o 0.7 MPa otherwise the lock plate will be deformed or the
‘05) 06 i e M body will be scratched.
g 0° 1.Sliding plate down 2. Rotating the bow!
oo o

— /\/

203 i! I Ij
.g 0.2
S 0.1 v FE] o v | v
3
Q0
n 200 600 1000 1400

Flow #min.(ANR)

=]

l
ol
»@LL

112



PACT401 Series

113

AIR UNIT

(FR.L.UNIT)

Order example

PACT401

—

Specification
Components PAF401, PAR401, PAL401
r Bore No. 8A 10A 15A
e
: Port size 1/4 3/8 1/2
E = ’ Medium Air
I Operating perssure range (*) 0.05~1.5 MPa
Option: PP41 Proof pressure 2 MPa
Regulated pressure range Standard: 0.1~0.85 MPa
High pressure: 0.1~1.5 MPa
Ambient temperature — 5~+60°C (No freezing)
Filter element Standard: 40um, Option: 5um
Lubricating oil capacity 200c.c
Min. flow for ol drip 304min | 65¢min | 80dmin
Recommended lubricating oil Turbine oil ISO-VG32
Symbol : S
. e I . Attachment ressure gauge (PG-20),
' i i ' L-type bracket
| Q h éj i C ! Weight 1812 g

* Standard unit contains semi-auto-drain function when operating
pressure below 0.05 MPa.

* Choose auto-drain PMRF300, the pressure range is 0.15~1 MPa.

I__I_

- 8A-01 -HAOPO -E1 - -T8 -

[]
T

(Option) (Option)
MODEL PORTSIZE FXT-RIOR PRESSURE . o~ BY-PASS PORTSIZE  PORT THREAD
8A: 1/4 ) ) SWITCH . . Blank: Rc thread
10A:3/  Bank Black & silver E1: PP4tp0z2  Blankdoum | Type | TEE | iGN
15A: 172 W Gray & white E2: PP41P-022-QD 54 5Hm bracket | 115 172 NPT: NPT thread
E5: PP41P-042 .
E6: PP41P-042-QD CheCk K8: 1/4
valve K10: 3/8
(Option)
Type Pressure gauge Drain valve Pressure switch [ Flow direction
X Blank: Pressure gauge (PG-20) Blank: Semi-auto drain . )
2';:';'3“1 tvpe C: External pressure gauge (PG-40) + Gauge adapter set (A-PAR401) ) . {’#lfsress:;;t:)swnch Blank:
yp A: Gauge adapter set (A-PAR401) D: Auto drain valve (PMRF300) Left to right
R:
H: High C: External pressure gauge (PG-40) + Gauge adapter set (A-PAR401) Right to left

pressure type

A: Gauge adapter set (A-PAR401)

Blank: Semi-auto drain

*PG-40 (C), A-PAR302 (A) and PP41 (E*) can not be selected at the same time.

* Specification (W) gauge adapter set (A- PAR302).

* Be sure to use above check valves when redirecting the air flow on the inlet side of the lubricator.

Flow feature

Filter element 40um

8A Primary pressure 0.7 MPa
0.6
o O
[a M= [—
= § 05 \\\
Y ~
a
03 \\\ ~J
g 02 ~ \‘ \\
3 01 N I~ \
- N
400 800 1200 1600 2000 2400

Flow #min.(ANR)

MPa

Secondary pressure

0.5
0.4
0.3
0.2
0.1

10A

Filter element 40pum
Primary pressure 0.7 MPa

N
\\\ \

S\

s
i

800 1600 2400

Flow #min.(ANR)

3200 4000

MPa

Secondary pressure

0.5
0.4
0.3
0.2
0.1

Filter element 40um
Primary pressure 0.7 MPa

15A

e~
B
\

\
\\
—
\

—

800 1600 2400

Flow ¢min.(ANR)

3200 4000

PISCO



PACP302 Series

AIR UNIT (ER.L.UNIT)

Specification
Components PAFR302, PAL302
Bore No. 8A 10A 15A
— Port size 1/4 3/8 1/2
| Medium Air
| g | _.I Operating perssure range (*) 0.05~1 MPa
- :.'J : Proof pressure 1.5 MPa

Option: PP41 Regulated pressure range 0.05~0.85 MPa
Ambient temperature — 5~+60°C (No freezing)
Filter element Standard: 5um, Option: 40um
Lubricating oil capacity 65c.c
Min. flow for oil drip 50 ¢/min | 60 ¢/min
Recommended lubricating oil Turbine oil ISO-VG32
Attachment Pressure gauge(PG-20),T-type bracket
Weight 845 ¢

* Standard unit contains semi-auto-drain function when operating
pressure below 0.05 MPa.

* Choose auto-drain PMRF300, the pressure range is 0.15~1 MPa.
Order example

PACP302 — 8A - NCOO -E1 -0 -T8- 0

| | T A |
(Option) ption
MODEL PORT SIZE PRESSURE - LTER  BYPASSPORTSIZE [ ORT THREAD
ELEMENT Blank: Rc thread
8A: 1/4 SWITCH . ; G: G thread
Blank: 5ym Tt T8: 1/4 : rea
10A: 3/8 E1: PP41P-022 ) ype . NPT: NPT thread
40u: 40um T10: 3/8
15A: 1/2 E2: PP41P-022-QD bracket | 145, 1/
E5: PP41P-042
E6: PP41P-042-QD Check K8: 1/4
valve K10: 3/8
(Option)

Bowl Pressure gauge Drain valve Flow direction
Blank: PC bowl | Blank: Pressure gauge (PG-20) . . . . .
M: Metal bowl C: External pressure gauge (PG-40) + Gauge adapter set (A-PAR302) [B)I-aglljt.osggilna:;ﬁ/gr(aFI’RARFsoo) E-aFg:(.thetg Itgﬂr ight
N: Nylon bowl A: Gauge adapter set (A-PAR302) ’ -Rig

*PG-40 (C), A-PAR302 (A) and PP41 (E*) can not be selected at the same time.
* Be sure to use above check valves when redirecting the air flow on the inlet side of the lubricator.

& Caution

Metal bowl

Before assembling or disassembling, push the
lock plate down to the end, and confirm that is
detached from the body then rotate the bowl,

Flow feature

8A Primary %r(;s:/luprz 10,15A Primary %r(;s:/luprz otherwise the lock plate will be deformed or the
T O . T O ; body will be scratched.
o 5 0.6 — ] o 5 0.6 — )
=205 — 5 =205 : 1.Sliding plate down 2. Rotating the bow
[—
g 0.4 g 0.4 T T~
> 0.3 > 0.3 i :ﬂ ﬂ :ﬁ
© 0.2 © 0.2 —
° ° v Z o v I 1 o
8
Q 0.1 Q 0.1
8 3 [<=>] a
0 Q0
€N 200 600 1000 1400 @ 200 600 1000 1400 () %) @
Flow ¢min.(ANR) Flow #min.(ANR) J-E HO&
[ | =

AT

PISCO

114



PACPA401 Series

115

AIR UNIT

(FR.L.UNIT)

Order example

PACP401 - 8A -1 -HALIP] —E1 -1 -T8 - [

I_I

— T

Option: PP41

Specification
Components PAFR401, PAL401
Bore No. 8A 10A 15A
Port size 1/4 3/8 172
Medium Air
Operating perssure range (*) 0.05~1.5 MPa
Proof pressure 2 MPa

Regulated pressure range

Standard type: 0.1~0.85 MPa
High pressure type: 0.1~1.5 MPa

Ambient temperature

— 5~+60°C (No freezing)

Filter element

Standard: 40um, Option: 5um

Lubricating oil capacity

200c.c

Min. flow for oil drip

304min | 654min | 80 dmin

Recommended lubricating oil

Turbine oil ISO-VG32

Attachment

Pressure gauge (PG-20),
L-type bracket

Weight

1518 g

* Standard unit contains semi-auto-drain function when operating

pressure below 0.05 MPa.

* Choose auto-drain PMRF300, the pressure range is 0.15~1 MPa.

— T

T

(Option) (Option
MODEL PORT SIZE ESERER PRESSURE AE BY-PASS PORT SIZE PORT THREAD
8A: 1/4 COLOR SWITCH ELEMENT
: Blank: Black & silver Blank: 40pm T8: 1/4 Blank: Rc thread
10A:38 . Gray & white E1: PP41P-022 g5 m T type 10 3/8 G: G thread
15A: 1/2 : E2: PP41P-022-QD = bracket T15 1/2 NPT: NPT thread
E5: PP41P-042
E6: PP41P-042-QD Check K8: 1/4
valve K10: 3/8
(Option)
Type Pressure gauge Drain valve Pressure switch | Flow direction
. Blank: Pressure gauge (PG-20) . . . . .
Blank: Blank: Semi-auto drain P: Pressure switch
C: External pressure gauge (PG-40) + Gauge adapter set (A-PAR401) | 1. ] - Blank:
Standard type A: Gauge adapter set (A-PAR401) D: Auto drain valve (PMRF300)| ( PPS series) Left to right
R:
H: High C: External pressure gauge (PG-40) + Gauge adapter set (A-PAR401) Right to left

pressure type

A: Gauge adapter set (A-PAR401)

Blank: Semi-auto drain

*PG-40 (C), A-PAR302 (A) and PP41 (E*) can not be selected at the same time.

* Specification (W) gauge adapter set (A- PAR302).

* Be sure to use above check valves when redirecting the air flow on the inlet side of the lubricator.

Flow feature

Filter element 40um

8A Primary pressure 0.7 MPa
0.6
s 2 0.5 —~
9]
a 04 \\
> 03 ~
) ™~
2 o2 ~ P
§ 0.1 ™~
n ~N
400 800 1200 1600 2000 2400

Flow #min.(ANR)

MPa

Secondary pressure

0.5
0.4
0.3
0.2
0.1

Filter element 40um

Filter element 40um

10A Primary pressure 0.7 MPa 15A Primary pressure 0.7 MPa
— £2 o=
— — ~ g_ 0.4 \\:\
\\\ \\\ 203 —
] \\ 2 02 ——
] S 04 ————

n
800 1600 2400 3200 4000 800 1600 2400 3200 4000

Flow #min.(ANR)

Flow ¢min.(ANR)

PISCO



PAIR100 Series

AIR UNIT (PRECISION REGULATOR)

Specification
Bore No. 6A
Port size 1/8
Medium Air
Max. operating pressure 1 MPa
Min. operating pressure Setting pressure+0.05 MPa
Proof pressure 1.5 MPa
Symbol 2K: 0.005~0.2 MPa
Regulated pressure range 4K: 0.01~0.4 MPa
%IJ\Q 8K: 0.01~0.8 MPa
. Sensitivity 0.2% F.S.
Repeatability +0.5% F.S.
Air consumption (*) 4.4 ¢/min(ANR)
Ambient temperature — 5~+60°C (No freezing)
Attachment Bracket
Option Pressure gauge (PG-33S)
Order example Weight 150 g

PAI R.I 00 - 6A - 2 K - C |:| - I:l :fxﬁr.:i%%gﬁ:r:z Lizﬂciz.rged to the atmosphere from a bleed hole or

‘ ’_‘ J T —|: —l— an exhaust port. |

PORT ADJUSTABLE

MODEL SIZE PRESS. RANGE Blank: Without FLOW PORT THREAD
. pressure gauge DIRECTION Blank: Rc thread
6A:1/8 2K:0.005~0.2 MPa C: Pressure gauge : ! G: G thread
4K: 0.01~0.4 MPa (PG-33S) Blan!(. Left to right NpT- NPT thread
8K: 0.01~0.8 MPa R: Right to left
210.5
N .
9 Panel mounting hole
T M
3
=
g A
Panel ~ r 1
(43) 25
\
M5x0.5
24.5 )
— 2
]
© f
© nis
U N
28.5 ° © 8
Bleed | e
EEREN | 5 =
sve_ iy (\Iﬁl out 2 1 € [ _
IIRASESY)) =iy :
KN J
VEXH N\2x1/8 35 2x1/8
Pressure Port size
35 gauge
port size

PISCO 116



PAIR100 Capacity

AIR UNIT (PRECISION REGULATOR)

Flow feature

rimary pressure 0. a rimary pressure 0. a rimary pressure a
2K Pri 0.5 MP 4K Pri 0.7 MP 8K Pri 1MP
0.9
6_“ 0.20 E 0.4 & 0.8
= W = s 5 N
o o \ e - BN
5 0.15 5 0.3 > 0.6
2 2 A 2 N\
o o \ g 05 \
;0.10 g 02 N ; 04 ~\
3 ] S 03
5 g || \
8 0.05 g 0.1 8 02
[0} [0 [0}
(%] %] » 041
0 50 100 150 200 250 300 350 0 50 100 150 200 250 300 350 400 0 100 200 300 400 500 600
Flow ¢min.(ANR) Flow ¢min.(ANR) Flow ¢min.(ANR)
Relief characteristics
Back pressure Back pressure Back pressure
2K 0.5 MPa 4K 0.7 MPa 8K 1 MPa
0.9
0.5 0.7
© © o 08
o o o
= = 06 = 07
p 04 ) ) N
[} [} [}
2 . a 3 05
s s 04 \ s
> > N > 04 \
® 02 h s 0.3 @
S5 0. o T 03
5 S 02 5 AN
o o v N O 02
(0] [0 Q
8§ o1 @» N (%} \
0.1 0.1
140 120 100 80 60 40 20 O 200 160 120 80 40 0 300 250 200 150 100 50 0
Flow ¢min.(ANR) Flow ¢min.(ANR) Flow ¢min.(ANR)
Pressure characteristics
2K Supply pressure: 0.7 MPa 4K Supply pressure: 0.7 MPa 8K Supply pressure: 0.7 MPa
Secondary pressure: 0.2 MPa Secondary pressure: 0.2 MPa Secondary pressure: 0.2 MPa
Flow: 0 ¢min.(ANR) Flow: 0 ¢min.(ANR) Flow: 0 ¢/min.(ANR)
& 0.204 & 0204 & 0.204
s = =
0.202 0.202 — 0.202
o — < LT o —
2 0.200 2 0.200 2 0200 /
7] = 7] // %]
Q2 0.198 © 0.198 O 0198
o o o
2 0.196 2 0.196 > 0.196
© (0] (]
© © ©
c c c
8 0 03 0.4 05060708 0910 8 0 0.3 04 0506 0.7 0.8 09 1.0 8 0 0.3 0.4 05 0.6 0.7 0.8 09 1.0
[0} [0 [0
n Supply pressure MPa n Supply pressure MPa n Supply pressure MPa

117 PISCO



PAIR200 Series

AIR UNIT (PRECISION REGULATOR)

Specification
Bore No. 8A
Port size 1/4
Medium Air
Max. operating pressure 1 MPa
Min. operating pressure Setting pressure+0.05 MPa
Proof pressure 1.5 MPa

Regulated pressure range

2K: 0.005~0.2 MPa

4K: 0.01~0.4 MPa

8K: 0.01~0.8 MPa

Sensitivity

0.2% F.S.

Order example

Repeatability

+0.5% F.S.

Air consumption(*)

4.4 gmin(ANR)

Ambient temperature

—5~+60°C (No freezing)

Attachment Bracket
Option Pressure gauge (PG-40S)
Weight 300 g

* For supply pressure 1 MPa.

* Air is normally being discharged to the atmosphere from a bleed hole or
an exhaust port.

PAIR200 —8A —2K—C[] — [

| — — T !
PORT  ADJUSTABLE FLOW
GRS SIZE  PRESS.RANGE | DIRECTION ORT THREAD
BA'1/4 2K 0.005~02MPa |Blank: Lefttoright GG haad
4K: 0.01~0.4 MPa R: nght to left NPT NPT thread

8K: 0.01~0.8 MPa
Blank: Without pressure gauge

C: Pressure gauge (PG-40S)

212.5

Panel mounting hole

N
x
©
=
C A
Panel ~ r 1
(55) 30
[l
5.5 ™
[S— —e i:ﬂ ? A
S 7
\ 1 Ll s
s i N
29.5 N
ol ~|
Bleed | _ ©
~— E——= —EXH |
N B
Sl [ Pan i | o — |
(R \ / :'] s L L
\ ©
R S P N I O |
59.2 ‘ Pressure gauge 50 2x1/4
port size Port size

118

PISCO



PAIR200 cCapacity

AIR UNIT (PRECISION REGULATOR)

Flow feature

Primary pressure Primary pressure Primary pressure
2K 0.5 MPa 4K 0.7 MPa 8K 1MPa
0.9
go.zo § 0.4 § 0.8
o ) o 0.7
> 0.15 > 03 3> 06
2 2 ~ | 3 A
o 2 g 05 ~
o o o
2‘0'10 \ > 0.2 > 0.4
() ® A ®
E 2 | g°° N
8 0.05 8 o.1 8 02
[0} [0} [0}
(] (%2] » 041
0 100 200 300 400 500 600 700 0 100 200 300 400 500 600 700 800 900 0 200 400 600 800 1000 1200
Flow ¢min.(ANR) Flow ¢min.(ANR) Flow ¢/min.(ANR)

Relief characteristics

Back pressure Back pressure Back pressure
2K 0.5 MPa 4K 0.7 MPa 0.9 8K 1 MPa
0.5 0.7
© © o 08 \
o o o
= \ = 06 = 07 N
p 04 \ e ® 6 N
? \ a 05 N ?
[%2] [%2] [%2]
o 03 (0] o 05
a s 04 \ a
2 2 > 04 N
8 02 g 03 @ N
2 N o \ T 03
3 g 02 8 02
o) o) o N
o 01 B o4 I N
500 400 300 200 100 0 600 500 400 300 200 100 0 600 500 400 300 200 100 0
Flow ¢min.(ANR) Flow ¢min.(ANR) Flow ¢min.(ANR)
Pressure characteristics
2K Supply pressure: 0.7 MPa 4K Supply pressure: 0.7 MPa 8K Supply pressure: 0.7 MPa
Secondary pressure: 0.2 MPa Secondary pressure: 0.2 MPa Secondary pressure: 0.2 MPa
Flow: 0 #min.(ANR) Flow: 0 #min.(ANR) Flow: 0 ¢/min.(ANR)
o 0.204 © 0.204 ©  0.204
s s s
P 0.202 o 0.202 o 0.202
= g1 = ] = ——
2 0.200 ;—/ 2 0.200 - 2 0.200 — =
173 | =1 ®? =T | 173 |1
P 0.198 2 0.198 2 0.198
o o o
Z 0.19% 2 0.19% 2 0.19
© © ©
c c c
8 0 0.3 0.4 05060708 09 1.0 8 0 03 04 05 06 0.7 0.8 09 1.0 <] 0 0.3 0.4 05 06 0.7 0.8 0.9 1.0
o} @ o}
n Supply pressure MPa n Supply pressure MPa n Supply pressure MPa

119 PISCO



PAIR300 Series

AIR UNIT (PRECISION REGULATOR)

Order example

PAIR300 —8A—2K—-C[]—[]

| —

PORT
SIZE

8A: 1/4
10A: 3/8
15A: 1/2

MODEL

Specification
Bore No. 8A 10A 15A
Port size 1/4 3/8 1/2
Medium Air
Max. operating pressure 1 MPa
Min. operating pressure Setting pressure +0.1 MPa
Proof pressure 1.5 MPa

2K: 0.005~0.2 MPa
4K:0.01~0.4 MPa
8K: 0.01~0.8 MPa
0.2h% F.S.
+0.5% F.S.
11.5 ¢min(ANR)
—5~+60°C (No freezing)

Regulated pressure range

Sensitivity

Repeatability

Air consumption (*)

Ambient temperature

Attachment Bracket
Option Pressure gauge (PG-40S)
Weight 875¢g

* For supply pressure 1 MPa.
* Air is normally being discharged to the atmosphere from a bleed hole or
an exhaust port.

PORT THREAD

Blank: Rc thread

—|_ T | T |
ADJUSTABLE FLOW
PRESS. RANGE DIRECTION
2K: 0.005~0.2 MPa Blank: Left to right .
4K: 0.01~0.4 MPa R Righttoleft  Coo tread

8K: 0.01~0.8 MPa

NPT: NPT thread

Blank: Without pressure gauge
C: Pressure gauge (PG-40S)

_ SN
1
0 o/ 212.5
; &
N
e}
Panel mounting hole
N
x
©
=
—
Panel f
68 524
©
26 =
29 o)
G =
I ~ ! | |
£ == |~ T I == =
Bleed L2 7/ [ A 1) N I = L b
h ) o === S| 0
- 0155 3 ﬂ — o § B
Noof- 2 2x1/8 Ll \ ~ 2 ‘
Pressure gauge <
port size
SuP DI $ out € ﬂ CM
; L N < ] 12
T C il S — oy
68 68 2x1/4
2x3/8
2x112
Port size

PISCO

120



PAIR300 Capacity

AIR UNIT (PRECISION REGULATOR)

Flow feature

Primary pressure Primary pressure
2K 0.5 MPa 4K 0.7 MPa
© 0.2 o 0.4
o o
= = \
o o
> > 03
[} [}
[%2] [%2]
o o
o o
> 0.1 > 0.2 ~
3 8 N
5 5
8 8 o1
o) 9]
(%} n
0 1000 2000 3000 4000 0 1000 2000 3000 4000 5000
Flow ¢min.(ANR) Flow ¢min.(ANR)
Relief characteristics
Back pressure Back pressure
2K 0.5 MPa 4K 0.7 MPa
0.5 0.7
g ) g
s N\ S 06 [N
o 04 N o \
=] \ 2 05 N
[} [}
[%2] [%2] \
®© 03 N o 0.4
o o
> \ >
3 02 g 03
5 5
5 o 5’ N
n 9D 01
3500 3000 2500 2000 1500 1000 500 O 0 4000 3000 2000 1000 0
Flow ¢min.(ANR) Flow ¢min.(ANR)
Pressure characteristics
2K Supply pressure: 0.7 MPa 4K Supply pressure: 0.7 MPa
Secondary pressure: 0.2 MPa Secondary pressure: 0.2 MPa
Flow: 0 ¢/min.(ANR) Flow: 0 ¢min.(ANR)
© 0.202 © 0.202
o o
= 0.201 = 0201 —
o o
2 0.200 —= - S 0200 o
@ 0.199 @ 0.199 —
— —
o 0.198 a 0.198
> >
g 0.197 8 0.197
§ 0.196 g 0196
g 0 03 04 05 06 0.7 08 09 1.0 8 0 03 04 05 06 0.7 0.8 09 1.0
N Supply pressure MPa 2 Supply pressure MPa
121

Secondary pressure MPa

Secondary pressure MPa

0.9
0.8
0.7
0.6
0.5
0.4
0.3
0.2
0.1

1.0
0.9
0.8
0.7
0.6
0.5
0.4
0.3
0.2
0.1

Secondary pressure MPa

Primary pressure
8K 1 MPa
\
N
0 1000 2000 3000 4000 5000 6000 7000
Flow ¢min.(ANR)
Back pressure
8K 1 MPa
\\
N
N
N
N_
6000 5000 4000 3000 2000 1000 O
Flow ¢min.(ANR)
8K Supply pressure: 0.7 MPa
Secondary pressure: 0.2 MPa
Flow: 0 ¢min.(ANR)
0.202
0.201 —
0.200
0.199
0.198 | L
0.197
0.196
0 03 04 05 06 07 08 09 1.0

Supply pressure MPa

PISCO



PAIR A Precautions Read before installing

AIR UNIT (PRECISION REGULATOR)

Air Supply
/\ Caution

© If the air supply line contains drain or particlate, etc., the
primary pressure fixed throttle can become clogged leading to
malfunction, and therefore, be sure to use an air filter (PAF or
PAM*) & mist separator.

@ Never use a lubricator on the primary side of the regulator, as
this will positively cause the fixed throttle to become clogged
and result in a malfunction. If lubrication is required for
terminal devices, connect a lubricator on the secondary side.

Maintenance

/N Warning

@ When to be during maintenance, first reduce the precision
regulatorset pressure to zero, and completely shut off the
supply pressure.

@ When a pressure gauge is to be mounted, remove the plug
after reducing the regulator pressure set pressure to zero.
(Step a—b—c)

a. Release pressure
setting to 0

(@ b. Remove
the plug

¢. Mounting the
pressure gauge

PAIR300 Product Precautions

& Caution

@ The primary pressure is relatively high (approx. 0.5 MPa or
more), the set pressure is low (approx. 0.1 MPa or less),
and when operated with the secondary side released to the
atmosphere, there may be pulsations in the setting pressure.
In this kind of situation, operate with the primary pressure
reduced as much as possible, or increase the set pressure
somewhat and restrict the secondary side line (add and adjust
a stop valve, etc.)

@ When used for the purpose of a relief function, and capacity
of the precision regulator is large, the exhaust sound will be
loud when being relieved. the operation with a silencer (PSR*)
mounted on the exhaust port (EXH port). (Silencer refer to
Other Auxiliary Equipment)

PISCO

Operation

& Caution

© Do not use a precision regulator outside the range of
its specifications as this can cause failure. (Refer to
specifications.)

@ When mounting is performed, make connections while
confirming port direction (indications).

© Screw a panel nut with the proper torque when mounting onto
a panel. (be listed as follows)

Model
Torque (kgf)

PAIR100
12,5

PAIR200 PAIR300
21 21

Looseness or faulty sealing will occur if tightening torque is
insufficient, while thread damage will result if the torque is
excessive.

& Warning

@ If a directional switching valve (solenoid valve, mechanical
valve, etc.) is mounted on the primary side of the the
precision regulator and repeatedly switched ON and OFF,
wear of the nozzle/diaphragm section will be accelerated and
a discrepancy in the setting value may occur. Therefore, avoid
using a directional switching valve on the primary side. In the
event a directional switching valve will be used, install it on
the secondary side of the precision regulator.

© Air is normally released from the bleed hole (the hole on
the side of the body's mid-section). This is a necessary
consumption of air based on the construction of the precision
regulator, and is not an abnormality.

@ In order to avoid operation mistakes, make sure to tighten the
lock nut after pressure adjustment.

Regulator
pressure set

Panel nut Lock nut

Bleed hole

122



PVBA-2100 Series

123

BOOSTER REGULATOR

Order example

PVBA —2100—S —[1

o

MODEL SILENCER PORT THREAD
Blank: Rc thread
G: G thread
NPT: NPT thread
Caution

e If the outlet capacity is undersized, pulsation may occur.
o Make sure to install a mist separator at the inlet side of the
booster regulator.

e The booster regulator has a sliding part inside, and it
generates dust. Also, install a cleaning device such as an air
filter or a mist separator on the outlet side as necessary.

e Provide a dedicated pipe to release the exhaust air from each
booster regulator. If exhaust air is converged into a pipe, the

back pressure that is created could cause improper operation.

e Depending on the necessity, install a silencer on the exhaust
port of the booster regulator to reduce the exhaustion sound.

o Allow the sufficient space for maintenance and inspection.

Features

e Increase factory air pressure by up to twice as much.
e Air-only operation requires no power supply, reduces heat
generation, and allows easy installation.

Specification

Port size Rc3/8
Medium Air
Pressure increase rate Twice
Operating pressure range 0.2~1 MPa
Supply pressure range 0.1~1 MPa
Proof pressure 1.5 MPa

Max. flow rate (*) 1000 ¢min
Ambient temperature +2~+50°C
Installation Horizontal
Lubrication Not required
Attachment Pressure gauge (PG-25)
Option Silencer (PSLT-03)
Weight 3900 g

* Max. flow rate at In=Out=0.5 MPa.

Working Principle

Adjustment pressure mechanism

Drive Booster
chamber A chamber A
IN(Inlet) Booster
e e el chamber B
‘ Drive
: A chamber B
| T Piston
|
|
|
‘ LJ C I_J
|
fffffffffffff - Check valve  Piston rod

Switching valve \4
(Exhaust)EXH OUT(Outlet)

e The IN(Inlet) air passes through the check valve to booster
chamber A and B. Meanwhile, air is supplied to drive chamber
B via the governor and the switching valve. Then, the air
pressure from drive chamber B and booster chamber A are
applied to the piston, boosting the air in booster chamber B. As
the piston travels, the boosted air is pushed via the check valve
to the OUT(Outlet) side. When the piston reaches the switching
valve to touch, so that drive chamber B is in the exhaust state
and drive chamber A is in the supply state respectively. Then,
the piston reverses its movement, this time, the pressures
from booster chamber B and drive chamber A boosts the air in
booster chamber A and sends it to the OUT side.

The process described above is repeated to continuously
supply highly pressurized air from the IN to the OUT side. The
governor establishes the outlet pressure by handle operation
and pressure adjustment in the drive chamber by feeding back
the outlet pressure.

PISCO



PVBA-2100 Capacity & Dimensions

BOOSTER REGULATOR

Flow features

Pressure characteristics

Supply pressure 0.7 MPa
Primary pressure 1 MPa
Flow rate: 20L/min

Charge characteristics

o 10 —~ o 108 \j, 12
= \\ = 1.04—Set point e 3 10
g o T~ \‘P1=05MPa £ 102 A g ¢ /
2 N 2 -
@ \\ N, oo ap 2 1.00 7 o 6 7
g 04 . ‘_ fiCh S 098 A < £ . ,/
B o2 P1=0.3 MPa 3, &
=] ‘ ,,5 0.96 % 2 —
O o O 094 £ 0
0 200 400 600 800 1000 1200 0 05 06 07 08 09 1 O 12 14 16 18 20 22
Outlet air flow ¢min.(ANR) Inlet pressure MPa Pressure increase ratio
* When filling tank with air, where
Primary side air pressure P, air
pressure in tank before filling Py, air
pressure after filling P,, boosting ratio
Dimensions before filling K,=P,/P, and after filling
K,=P,/P,. Find K, and K, at first, then
read filling time t; and t, according
to graph where boosting ratio K;, K,,
[T 3T Al Finally filling time for tank capacity Q is
obtained with
Q
T= 710 (t-1).
A1t e s [ — (Each characteristics are just
reference, but not assured conditions)
NPANY,
[P <]
297 Pressure gauge 235
(Rc1/16) \
. 1
| \
ig %J Il
T TT1 © }
@ N = INport
@ E o 1)
oUT Silencer
@ I | outport (Option)
Ll | T T : -+— —~ !
! 1 ©
| } | | } | | | »\:{ ,,,,,,,,, J j
4-912 o . 9% || | 98 | EXH port f
73 - 118

PISCO

124



Memo







USEUN UTUABUIADSINSA DINA
NANDEE INTER-TRADE CO.,LTD.

314,316,318,320,322 wasdunt32 auudunt w2999 Iana% LIAEINT NN, 10120
Tel : 0-2675-8239  Fax : 0-2212-1448, 0-2213-0360

@ :@nandeeintertrade
f :nandeeintertrade
@ :www.nandee.co.th

¥ : marketing@nandee.co.th,
sales@nandee.co.th

011023500



